Transportation Planning Board National Capital Region

Proposed Communities of Concern: Data by Tract for National Capital Region U.S. Census, American Community Survey, 2010 - 2014 5-Year Estimates

DRAFT - 9/15/2016

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	86.42%	9.86%	13.16%	7.00%
2.01	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	6.26	0.38	1.28	0.46
	(times Regional Average)				
	Index Score	6.00	0.00	0.00	0.00
	Total Index:	6.00			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	22.02%	3.78%	4.50%	5.08%
2.02	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.60	0.14	0.44	0.33
	(times Regional Average)				
	Index Score	3.19	0.00	0.00	0.00
	Total Index:	3.19			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	30.07%	5.01%	11.23%	13.20%
10.02	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.18	0.19	1.10	0.87
	(times Regional Average)				
	Index Score	4.36	0.00	0.00	0.00
	Total Index:	4.36			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	30.23%	69.01%	0.76%	17.02%
Tract: 18.03	Regional Average				
	Regional Average Ratio of Concentration	30.23%	69.01%	0.76%	17.02%
	Regional Average Ratio of Concentration (times Regional Average)	30.23% 13.80% 2.19	69.01% 26.20% 2.63	0.76% 10.26% 0.07	17.02% 15.24% 1.12
	Regional Average Ratio of Concentration (times Regional Average) Index Score	30.23% 13.80% 2.19 4.38	69.01% 26.20%	0.76% 10.26%	17.02% 15.24%
	Regional Average Ratio of Concentration (times Regional Average)	30.23% 13.80% 2.19	69.01% 26.20% 2.63	0.76% 10.26% 0.07	17.02% 15.24% 1.12
	Regional Average Ratio of Concentration (times Regional Average) Index Score	30.23% 13.80% 2.19 4.38 7.01	69.01% 26.20% 2.63 2.63	0.76% 10.26% 0.07	17.02% 15.24% 1.12 0.00
18.03	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	30.23% 13.80% 2.19 4.38 7.01 Low-Income	69.01% 26.20% 2.63 2.63 African American	0.76% 10.26% 0.07 0.00	17.02% 15.24% 1.12 0.00
18.03	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	30.23% 13.80% 2.19 4.38 7.01 Low-Income 31.37%	69.01% 26.20% 2.63 2.63 African American 57.19%	0.76% 10.26% 0.07 0.00 Asian 0.65%	17.02% 15.24% 1.12 0.00 Hispanic or Latino 37.66%
18.03	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	30.23% 13.80% 2.19 4.38 7.01 Low-Income 31.37% 13.80%	69.01% 26.20% 2.63 2.63 African American 57.19% 26.20%	0.76% 10.26% 0.07 0.00 Asian 0.65% 10.26%	17.02% 15.24% 1.12 0.00 Hispanic or Latino 37.66% 15.24%
18.03	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	30.23% 13.80% 2.19 4.38 7.01 Low-Income 31.37%	69.01% 26.20% 2.63 2.63 African American 57.19%	0.76% 10.26% 0.07 0.00 Asian 0.65%	17.02% 15.24% 1.12 0.00 Hispanic or Latino 37.66%
18.03	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	30.23% 13.80% 2.19 4.38 7.01 Low-Income 31.37% 13.80% 2.27	69.01% 26.20% 2.63 2.63 African American 57.19% 26.20% 2.18	0.76% 10.26% 0.07 0.00 Asian 0.65% 10.26% 0.06	17.02% 15.24% 1.12 0.00 Hispanic or Latino 37.66% 15.24% 2.47
18.03	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	30.23% 13.80% 2.19 4.38 7.01 Low-Income 31.37% 13.80% 2.27	69.01% 26.20% 2.63 2.63 African American 57.19% 26.20%	0.76% 10.26% 0.07 0.00 Asian 0.65% 10.26%	17.02% 15.24% 1.12 0.00 Hispanic or Latino 37.66% 15.24%
18.03	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	30.23% 13.80% 2.19 4.38 7.01 Low-Income 31.37% 13.80% 2.27	69.01% 26.20% 2.63 2.63 African American 57.19% 26.20% 2.18	0.76% 10.26% 0.07 0.00 Asian 0.65% 10.26% 0.06	17.02% 15.24% 1.12 0.00 Hispanic or Latino 37.66% 15.24% 2.47
18.03	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	30.23% 13.80% 2.19 4.38 7.01 Low-Income 31.37% 13.80% 2.27 4.55 9.20	69.01% 26.20% 2.63 2.63 African American 57.19% 26.20% 2.18 2.18	0.76% 10.26% 0.07 0.00 Asian 0.65% 10.26% 0.06	17.02% 15.24% 1.12 0.00 Hispanic or Latino 37.66% 15.24% 2.47
Tract: 18.04	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	30.23% 13.80% 2.19 4.38 7.01 Low-Income 31.37% 13.80% 2.27 4.55 9.20 Low-Income	69.01% 26.20% 2.63 2.63 African American 57.19% 26.20% 2.18 African American	0.76% 10.26% 0.07 0.00 Asian 0.65% 10.26% 0.06 0.00 Asian	17.02% 15.24% 1.12 0.00 Hispanic or Latino 37.66% 15.24% 2.47 2.47 Hispanic or Latino
Tract: 18.04	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	30.23% 13.80% 2.19 4.38 7.01 Low-Income 31.37% 13.80% 2.27 4.55 9.20 Low-Income 23.10%	69.01% 26.20% 2.63 2.63 African American 57.19% 26.20% 2.18 African American 76.22%	0.76% 10.26% 0.07 0.00 Asian 0.65% 10.26% 0.06 0.00 Asian 2.32%	17.02% 15.24% 1.12 0.00 Hispanic or Latino 37.66% 15.24% 2.47 2.47 Hispanic or Latino 11.94%
Tract: 18.04	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	30.23% 13.80% 2.19 4.38 7.01 Low-Income 31.37% 13.80% 2.27 4.55 9.20 Low-Income 23.10% 13.80%	69.01% 26.20% 2.63 2.63 African American 57.19% 26.20% 2.18 African American 76.22% 26.20%	0.76% 10.26% 0.07 0.00 Asian 0.65% 10.26% 0.06 Asian 2.32% 10.26%	17.02% 15.24% 1.12 0.00 Hispanic or Latino 37.66% 15.24% 2.47 Hispanic or Latino 11.94% 15.24%
Tract: 18.04	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	30.23% 13.80% 2.19 4.38 7.01 Low-Income 31.37% 13.80% 2.27 4.55 9.20 Low-Income 23.10%	69.01% 26.20% 2.63 2.63 African American 57.19% 26.20% 2.18 African American 76.22%	0.76% 10.26% 0.07 0.00 Asian 0.65% 10.26% 0.06 0.00 Asian 2.32%	17.02% 15.24% 1.12 0.00 Hispanic or Latino 37.66% 15.24% 2.47 2.47 Hispanic or Latino 11.94%
Tract: 18.04	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	30.23% 13.80% 2.19 4.38 7.01 Low-Income 31.37% 13.80% 2.27 4.55 9.20 Low-Income 23.10% 13.80% 1.67	69.01% 26.20% 2.63 2.63 African American 57.19% 26.20% 2.18 African American 76.22% 26.20% 2.91	0.76% 10.26% 0.07 0.00 Asian 0.65% 10.26% 0.06 0.00 Asian 2.32% 10.26% 0.23	17.02% 15.24% 1.12 0.00 Hispanic or Latino 37.66% 15.24% 2.47 2.47 Hispanic or Latino 11.94% 15.24% 0.78
Tract: 18.04	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Regional Average Ratio of Concentration (times Regional Average) Index Score	30.23% 13.80% 2.19 4.38 7.01 Low-Income 31.37% 13.80% 2.27 4.55 9.20 Low-Income 23.10% 13.80% 1.67	69.01% 26.20% 2.63 2.63 African American 57.19% 26.20% 2.18 African American 76.22% 26.20%	0.76% 10.26% 0.07 0.00 Asian 0.65% 10.26% 0.06 Asian 2.32% 10.26%	17.02% 15.24% 1.12 0.00 Hispanic or Latino 37.66% 15.24% 2.47 4.47 Hispanic or Latino 11.94% 15.24%
Tract: 18.04	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	30.23% 13.80% 2.19 4.38 7.01 Low-Income 31.37% 13.80% 2.27 4.55 9.20 Low-Income 23.10% 13.80% 1.67	69.01% 26.20% 2.63 2.63 African American 57.19% 26.20% 2.18 African American 76.22% 26.20% 2.91	0.76% 10.26% 0.07 0.00 Asian 0.65% 10.26% 0.06 0.00 Asian 2.32% 10.26% 0.23	17.02% 15.24% 1.12 0.00 Hispanic or Latino 37.66% 15.24% 2.47 2.47 Hispanic or Latino 11.94% 15.24% 0.78

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	14.55%	42.46%	3.56%	27.16%
20.01	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration (times Regional Average)	1.05	1.62	0.35	1.78
	Index Score	0.00	1.62	0.00	1.78
	Total Index:	3.40	-		_
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	22.10%	57.28%	0.67%	21.58%
20.02	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.60	2.19	0.07	1.42
	(times Regional Average)				
	Index Score	3.20	2.19	0.00	0.00
	Total Index:	5.39			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	30.18%	60.60%	3.62%	31.03%
21.01	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.19	2.31	0.35	2.04
	(times Regional Average)				
	Index Score	4.37	2.31	0.00	2.04
	Total Index:	8.72			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	30.95%	65.14%	0.00%	26.47%
21.02	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.24	2.49	0.00	1.74
	(times Regional Average)	4.40	2.49	0.00	4 7 4
	Index Score	4.49	2.49	0.00	1.74
	Index Score Total Index:	8.71	2.49	0.00	1.74
		8.71			
Troots	Total Index:	8.71 Low-Income	African American	Asian	Hispanic or Latino
Tract:	Total Index: Tract Percent	8.71 Low-Income 36.70%	African American 66.56%	Asian 1.59%	Hispanic or Latino 27.31%
Tract: 22.02	Tract Percent Regional Average	8.71 Low-Income 36.70% 13.80%	African American 66.56% 26.20%	Asian 1.59% 10.26%	Hispanic or Latino 27.31% 15.24%
	Tract Percent Regional Average Ratio of Concentration	8.71 Low-Income 36.70%	African American 66.56%	Asian 1.59%	Hispanic or Latino 27.31%
	Tract Percent Regional Average Ratio of Concentration (times Regional Average)	8.71 Low-Income 36.70% 13.80% 2.66	African American 66.56% 26.20% 2.54	Asian 1.59% 10.26% 0.15	Hispanic or Latino 27.31% 15.24% 1.79
	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	8.71 Low-Income 36.70% 13.80% 2.66 5.32	African American 66.56% 26.20%	Asian 1.59% 10.26%	Hispanic or Latino 27.31% 15.24%
	Tract Percent Regional Average Ratio of Concentration (times Regional Average)	8.71 Low-Income 36.70% 13.80% 2.66	African American 66.56% 26.20% 2.54	Asian 1.59% 10.26% 0.15	Hispanic or Latino 27.31% 15.24% 1.79
	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	8.71 Low-Income 36.70% 13.80% 2.66 5.32 9.65	African American 66.56% 26.20% 2.54	Asian 1.59% 10.26% 0.15	Hispanic or Latino 27.31% 15.24% 1.79
22.02	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	8.71 Low-Income	African American 66.56% 26.20% 2.54 2.54 African American	Asian 1.59% 10.26% 0.15 0.00	Hispanic or Latino 27.31% 15.24% 1.79 1.79 Hispanic or Latino
22.02 Tract:	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	8.71 Low-Income 36.70% 13.80% 2.66 5.32 9.65 Low-Income 36.51%	African American 66.56% 26.20% 2.54 2.54 African American 56.00%	Asian 1.59% 10.26% 0.15 0.00 Asian 3.31%	Hispanic or Latino 27.31% 15.24% 1.79 1.79 Hispanic or Latino 0.87%
22.02	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	8.71 Low-Income 36.70% 13.80% 2.66 5.32 9.65 Low-Income 36.51% 13.80%	African American 66.56% 26.20% 2.54 2.54 African American 56.00% 26.20%	Asian 1.59% 10.26% 0.15 0.00 Asian 3.31% 10.26%	Hispanic or Latino 27.31% 15.24% 1.79 1.79 Hispanic or Latino 0.87% 15.24%
22.02 Tract:	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	8.71 Low-Income 36.70% 13.80% 2.66 5.32 9.65 Low-Income 36.51%	African American 66.56% 26.20% 2.54 2.54 African American 56.00%	Asian 1.59% 10.26% 0.15 0.00 Asian 3.31%	Hispanic or Latino 27.31% 15.24% 1.79 1.79 Hispanic or Latino 0.87%
22.02 Tract:	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	8.71 Low-Income 36.70% 13.80% 2.66 5.32 9.65 Low-Income 36.51% 13.80%	African American 66.56% 26.20% 2.54 2.54 African American 56.00% 26.20%	Asian 1.59% 10.26% 0.15 0.00 Asian 3.31% 10.26%	Hispanic or Latino 27.31% 15.24% 1.79 1.79 Hispanic or Latino 0.87% 15.24%
22.02 Tract:	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	8.71 Low-Income	African American 66.56% 26.20% 2.54 2.54 African American 56.00% 26.20% 2.14	Asian 1.59% 10.26% 0.15 0.00 Asian 3.31% 10.26% 0.32	Hispanic or Latino 27.31% 15.24% 1.79 1.79 Hispanic or Latino 0.87% 15.24% 0.06
22.02 Tract:	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	8.71 Low-Income	African American 66.56% 26.20% 2.54 2.54 African American 56.00% 26.20% 2.14	Asian 1.59% 10.26% 0.15 0.00 Asian 3.31% 10.26% 0.32	Hispanic or Latino 27.31% 15.24% 1.79 1.79 Hispanic or Latino 0.87% 15.24% 0.06

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	21.12%	55.32%	1.87%	21.65%
24	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.53	2.11	0.18	1.42
	(times Regional Average)				
	Index Score	3.06	2.11	0.00	0.00
	Total Index:	5.17			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	31.74%	55.79%	0.47%	20.05%
25.01	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.30	2.13	0.05	1.32
	(times Regional Average)				
	Index Score	4.60	2.13	0.00	0.00
	Total Index:	6.73			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	22.34%	43.35%	2.22%	34.33%
25.02	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.62	1.65	0.22	2.25
	(times Regional Average)				
	Index Score	3.24	1.65	0.00	2.25
	Total Index:	7.14			
		Low-Income	African American	Asian	Hispanic or Latino
					-
Tract:	Tract Percent	30.88%	37.51%	3.64%	40.02%
Tract: 28.01	Regional Average	30.88% 13.80%	37.51% 26.20%	3.64% 10.26%	40.02% 15.24%
	Regional Average Ratio of Concentration	30.88%	37.51%	3.64%	40.02%
	Regional Average Ratio of Concentration (times Regional Average)	30.88% 13.80% 2.24	37.51% 26.20% 1.43	3.64% 10.26% 0.36	40.02% 15.24% 2.63
	Regional Average Ratio of Concentration (times Regional Average) Index Score	30.88% 13.80% 2.24 4.48	37.51% 26.20%	3.64% 10.26%	40.02% 15.24%
	Regional Average Ratio of Concentration (times Regional Average)	30.88% 13.80% 2.24	37.51% 26.20% 1.43	3.64% 10.26% 0.36	40.02% 15.24% 2.63
	Regional Average Ratio of Concentration (times Regional Average) Index Score	30.88% 13.80% 2.24 4.48 7.10	37.51% 26.20% 1.43 0.00	3.64% 10.26% 0.36	40.02% 15.24% 2.63 2.63
28.01	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	30.88% 13.80% 2.24 4.48 7.10 Low-Income	37.51% 26.20% 1.43 0.00	3.64% 10.26% 0.36 0.00	40.02% 15.24% 2.63 2.63 Hispanic or Latino
28.01 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	30.88% 13.80% 2.24 4.48 7.10 Low-Income 28.51%	37.51% 26.20% 1.43 0.00 African American 23.95%	3.64% 10.26% 0.36 0.00 Asian 4.40%	40.02% 15.24% 2.63 2.63 Hispanic or Latino 45.43%
28.01	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	30.88% 13.80% 2.24 4.48 7.10 Low-Income 28.51% 13.80%	37.51% 26.20% 1.43 0.00 African American 23.95% 26.20%	3.64% 10.26% 0.36 0.00 Asian 4.40% 10.26%	40.02% 15.24% 2.63 2.63 Hispanic or Latino 45.43% 15.24%
28.01 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	30.88% 13.80% 2.24 4.48 7.10 Low-Income 28.51%	37.51% 26.20% 1.43 0.00 African American 23.95%	3.64% 10.26% 0.36 0.00 Asian 4.40%	40.02% 15.24% 2.63 2.63 Hispanic or Latino 45.43%
28.01 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	30.88% 13.80% 2.24 4.48 7.10 Low-Income 28.51% 13.80% 2.07	37.51% 26.20% 1.43 0.00 African American 23.95% 26.20% 0.91	3.64% 10.26% 0.36 0.00 Asian 4.40% 10.26% 0.43	40.02% 15.24% 2.63 2.63 Hispanic or Latino 45.43% 15.24% 2.98
28.01 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	30.88% 13.80% 2.24 4.48 7.10 Low-Income 28.51% 13.80% 2.07	37.51% 26.20% 1.43 0.00 African American 23.95% 26.20%	3.64% 10.26% 0.36 0.00 Asian 4.40% 10.26%	40.02% 15.24% 2.63 2.63 Hispanic or Latino 45.43% 15.24%
28.01 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	30.88% 13.80% 2.24 4.48 7.10 Low-Income 28.51% 13.80% 2.07	37.51% 26.20% 1.43 0.00 African American 23.95% 26.20% 0.91	3.64% 10.26% 0.36 0.00 Asian 4.40% 10.26% 0.43	40.02% 15.24% 2.63 2.63 Hispanic or Latino 45.43% 15.24% 2.98
28.01 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	30.88% 13.80% 2.24 4.48 7.10 Low-Income 28.51% 13.80% 2.07 4.13 7.11	37.51% 26.20% 1.43 0.00 African American 23.95% 26.20% 0.91 0.00	3.64% 10.26% 0.36 0.00 Asian 4.40% 10.26% 0.43	40.02% 15.24% 2.63 2.63 Hispanic or Latino 45.43% 15.24% 2.98
28.01 Tract: 28.02	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	30.88% 13.80% 2.24 4.48 7.10 Low-Income 28.51% 13.80% 2.07 4.13 7.11 Low-Income	37.51% 26.20% 1.43 0.00 African American 23.95% 26.20% 0.91 0.00 African American	3.64% 10.26% 0.36 0.00 Asian 4.40% 10.26% 0.43	40.02% 15.24% 2.63 2.63 Hispanic or Latino 45.43% 15.24% 2.98 2.98 Hispanic or Latino
28.01 Tract: 28.02 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	30.88% 13.80% 2.24 4.48 7.10 Low-Income 28.51% 13.80% 2.07 4.13 7.11 Low-Income 35.59%	37.51% 26.20% 1.43 0.00 African American 23.95% 26.20% 0.91 0.00 African American 48.55%	3.64% 10.26% 0.36 0.00 Asian 4.40% 10.26% 0.43 0.00 Asian 4.70%	40.02% 15.24% 2.63 2.63 Hispanic or Latino 45.43% 15.24% 2.98 2.98 Hispanic or Latino 7.40%
28.01 Tract: 28.02	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	30.88% 13.80% 2.24 4.48 7.10 Low-Income 28.51% 13.80% 2.07 4.13 7.11 Low-Income 35.59% 13.80%	37.51% 26.20% 1.43 0.00 African American 23.95% 26.20% 0.91 0.00 African American 48.55% 26.20%	3.64% 10.26% 0.36 0.00 Asian 4.40% 10.26% 0.43 0.00 Asian 4.70% 10.26%	40.02% 15.24% 2.63 2.63 Hispanic or Latino 45.43% 15.24% 2.98 Hispanic or Latino 7.40% 15.24%
28.01 Tract: 28.02 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	30.88% 13.80% 2.24 4.48 7.10 Low-Income 28.51% 13.80% 2.07 4.13 7.11 Low-Income 35.59%	37.51% 26.20% 1.43 0.00 African American 23.95% 26.20% 0.91 0.00 African American 48.55%	3.64% 10.26% 0.36 0.00 Asian 4.40% 10.26% 0.43 0.00 Asian 4.70%	40.02% 15.24% 2.63 2.63 Hispanic or Latino 45.43% 15.24% 2.98 2.98 Hispanic or Latino 7.40%
28.01 Tract: 28.02 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	30.88% 13.80% 2.24 4.48 7.10 Low-Income 28.51% 13.80% 2.07 4.13 7.11 Low-Income 35.59% 13.80% 2.58	37.51% 26.20% 1.43 0.00 African American 23.95% 26.20% 0.91 0.00 African American 48.55% 26.20% 1.85	3.64% 10.26% 0.36 0.00 Asian 4.40% 10.26% 0.43 0.00 Asian 4.70% 10.26% 0.46	40.02% 15.24% 2.63 2.63 Hispanic or Latino 45.43% 15.24% 2.98 Hispanic or Latino 7.40% 15.24% 0.49
28.01 Tract: 28.02 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	30.88% 13.80% 2.24 4.48 7.10 Low-Income 28.51% 13.80% 2.07 4.13 7.11 Low-Income 35.59% 13.80% 2.58	37.51% 26.20% 1.43 0.00 African American 23.95% 26.20% 0.91 0.00 African American 48.55% 26.20%	3.64% 10.26% 0.36 0.00 Asian 4.40% 10.26% 0.43 0.00 Asian 4.70% 10.26%	40.02% 15.24% 2.63 2.63 Hispanic or Latino 45.43% 15.24% 2.98 Hispanic or Latino 7.40% 15.24%
28.01 Tract: 28.02 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	30.88% 13.80% 2.24 4.48 7.10 Low-Income 28.51% 13.80% 2.07 4.13 7.11 Low-Income 35.59% 13.80% 2.58	37.51% 26.20% 1.43 0.00 African American 23.95% 26.20% 0.91 0.00 African American 48.55% 26.20% 1.85	3.64% 10.26% 0.36 0.00 Asian 4.40% 10.26% 0.43 0.00 Asian 4.70% 10.26% 0.46	40.02% 15.24% 2.63 2.63 Hispanic or Latino 45.43% 15.24% 2.98 Hispanic or Latino 7.40% 15.24% 0.49

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	33.41%	28.58%	2.95%	41.49%
31	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.42	1.09	0.29	2.72
	(times Regional Average)				
	Index Score	4.84	0.00	0.00	2.72
	Total Index:	7.56			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	25.13%	53.13%	3.30%	27.84%
32	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.82	2.03	0.32	1.83
	(times Regional Average)	_			
	Index Score	3.64	2.03	0.00	1.83
	Total Index:	7.50			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	24.79%	61.35%	2.12%	10.88%
34	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.80	2.34	0.21	0.71
	(times Regional Average)				
	Index Score	3.59	2.34	0.00	0.00
	Total Index:	5.93			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	28.85%	66.75%	4.36%	11.41%
35	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.09	2.55	0.42	0.75
	(times Regional Average)				
	Index Score	4.18	2.55	0.00	0.00
	Total Index:	6.73			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	24.28%	34.88%	4.39%	12.22%
36	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.76	1.33	0.43	0.80
	(times Regional Average)				
	Index Score	3.52	0.00	0.00	0.00
	Total Index:	3.52			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	30.05%	37.54%	3.86%	23.43%
			00.000/	10.060/	15.24%
37	Regional Average	13.80%	26.20%	10.26%	10.2-70
	Regional Average Ratio of Concentration	13.80% 2.18	26.20%	0.38	1.54
	Ratio of Concentration				
	Ratio of Concentration (times Regional Average)	2.18	1.43	0.38	1.54

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	49.26%	65.35%	10.95%	5.72%
47.01	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration (times Regional Average)	3.57	2.49	1.07	0.38
	Index Score	6.00	2.49	0.00	0.00
	Total Index:	8.49	_		
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	29.78%	41.62%	7.66%	3.54%
47.02	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration (times Regional Average)	2.16	1.59	0.75	0.23
	Index Score	4.32	1.59	0.00	0.00
	Total Index:	5.90			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	32.05%	48.66%	13.95%	13.16%
48.02	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration (times Regional Average)	2.32	1.86	1.36	0.86
	Index Score	4.65	1.86	0.00	0.00
	Total Index:	6.50			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	37.78%	40.27%	7.00%	18.86%
49.01	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.74	1.54	0.68	1.24
	(times Regional Average)	E 47	4.54	0.00	0.00
	Index Score Total Index:	5.47 7.01	1.54	0.00	0.00
	Total index:	7.01			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	23.66%	26.28%	8.63%	16.31%
49.02	Regional Average	13.80%	26.20%	10.26%	15.24%
43.02	Ratio of Concentration	1.71	1.00	0.84	1.07
	(times Regional Average)	1.71	1.00	0.04	1.07
	Index Score	3.43	0.00	0.00	0.00
	Total Index:	3.43	5.55	0.00	0.00
	Total III dox				
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	28.54%	20.47%	4.94%	29.00%
50.02	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.07	0.78	0.48	1.90
	(times Regional Average)				
	Index Score	4.14	0.00	0.00	1.90
	Total Index:	6.04			

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	22.03%	6.01%	13.85%	9.99%
56	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.60	0.23	1.35	0.66
	(times Regional Average)				
	Index Score	3.19	0.00	0.00	0.00
	Total Index:	3.19			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	69.13%	89.73%	2.72%	2.97%
64	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	5.01	3.42	0.27	0.19
	(times Regional Average)				
	Index Score	6.00	3.00	0.00	0.00
	Total Index:	9.00			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	100.00%	91.76%	0.00%	4.45%
68.04	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	7.25	3.50	0.00	0.29
	(times Regional Average)				
	Index Score	6.00	3.00	0.00	0.00
	Total Index:	9.00			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	44.74%	59.04%	2.16%	5.49%
71	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	3.24	2.25	0.21	0.36
	(times Regional Average)				
	Index Score	6.00	2.25	0.00	0.00
	Total Index:	8.25			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	50.35%	93.87%	0.00%	1.70%
73.04	Regional Average	13.80%	26.20%	10.26%	15.24%
73.04	Regional Average Ratio of Concentration				
73.04	Ratio of Concentration (times Regional Average)	13.80% 3.65	26.20% 3.58	10.26% 0.00	15.24% 0.11
73.04	Ratio of Concentration	13.80%	26.20%	10.26%	15.24%
73.04	Ratio of Concentration (times Regional Average)	13.80% 3.65	26.20% 3.58	10.26% 0.00	15.24% 0.11
73.04	Ratio of Concentration (times Regional Average) Index Score	13.80% 3.65 6.00	26.20% 3.58	10.26% 0.00	15.24% 0.11 0.00
73.04	Ratio of Concentration (times Regional Average) Index Score Total Index:	13.80% 3.65 6.00 9.00 Low-Income	26.20% 3.58 3.00 African American	10.26% 0.00 0.00 Asian	15.24% 0.11 0.00 Hispanic or Latino
Tract:	Ratio of Concentration (times Regional Average) Index Score	13.80% 3.65 6.00 9.00 Low-Income 79.61%	26.20% 3.58 3.00 African American 97.59%	10.26% 0.00 0.00 Asian 0.45%	15.24% 0.11 0.00 Hispanic or Latino 1.80%
	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	13.80% 3.65 6.00 9.00 Low-Income	26.20% 3.58 3.00 African American	10.26% 0.00 0.00 Asian	15.24% 0.11 0.00 Hispanic or Latino
Tract:	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	13.80% 3.65 6.00 9.00 Low-Income 79.61%	26.20% 3.58 3.00 African American 97.59%	10.26% 0.00 0.00 Asian 0.45%	15.24% 0.11 0.00 Hispanic or Latino 1.80%
Tract:	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	13.80% 3.65 6.00 9.00 Low-Income 79.61% 13.80%	26.20% 3.58 3.00 African American 97.59% 26.20%	10.26% 0.00 0.00 Asian 0.45% 10.26%	15.24% 0.11 0.00 Hispanic or Latino 1.80% 15.24%
Tract:	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	13.80% 3.65 6.00 9.00 Low-Income 79.61% 13.80%	26.20% 3.58 3.00 African American 97.59% 26.20%	10.26% 0.00 0.00 Asian 0.45% 10.26%	15.24% 0.11 0.00 Hispanic or Latino 1.80% 15.24%
Tract:	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	13.80% 3.65 6.00 9.00 Low-Income 79.61% 13.80% 5.77	26.20% 3.58 3.00 African American 97.59% 26.20% 3.72	10.26% 0.00 0.00 Asian 0.45% 10.26% 0.04	15.24% 0.11 0.00 Hispanic or Latino 1.80% 15.24% 0.12

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	53.05%	96.09%	0.00%	3.46%
74.03	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	3.84	3.67	0.00	0.23
	(times Regional Average)				
	Index Score	6.00	3.00	0.00	0.00
	Total Index:	9.00			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	57.27%	98.19%	0.00%	0.35%
74.04	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	4.15	3.75	0.00	0.02
	(times Regional Average)				
	Index Score	6.00	3.00	0.00	0.00
	Total Index:	9.00			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	50.97%	96.42%	0.00%	1.66%
74.06	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	3.69	3.68	0.00	0.11
	(times Regional Average)				
	Index Score	6.00	3.00	0.00	0.00
	Total Index:	9.00			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	41.60%	96.17%	0.00%	0.00%
74.07	Regional Average	13.80%	26.20%	10.26%	15.24%
74.07	Ratio of Concentration	13.80% 3.01	26.20% 3.67	10.26%	15.24% 0.00
74.07	Ratio of Concentration (times Regional Average)	3.01	3.67	0.00	0.00
74.07	Ratio of Concentration (times Regional Average) Index Score	3.01 6.00			
74.07	Ratio of Concentration (times Regional Average)	3.01	3.67	0.00	0.00
74.07	Ratio of Concentration (times Regional Average) Index Score	3.01 6.00 9.00	3.67	0.00	0.00
	Ratio of Concentration (times Regional Average) Index Score Total Index:	3.01 6.00 9.00 Low-Income	3.67 3.00 African American	0.00 0.00 Asian	0.00 0.00 Hispanic or Latino
Tract:	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	3.01 6.00 9.00 Low-Income 62.62%	3.67 3.00 African American 98.48%	0.00 0.00 Asian 0.00%	0.00 0.00 Hispanic or Latino 1.04%
	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	3.01 6.00 9.00 Low-Income 62.62% 13.80%	3.67 3.00 African American 98.48% 26.20%	0.00 0.00 Asian 0.00% 10.26%	0.00 0.00 Hispanic or Latino 1.04% 15.24%
Tract:	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	3.01 6.00 9.00 Low-Income 62.62%	3.67 3.00 African American 98.48%	0.00 0.00 Asian 0.00%	0.00 0.00 Hispanic or Latino 1.04%
Tract:	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	3.01 6.00 9.00 Low-Income 62.62% 13.80% 4.54	3.67 3.00 African American 98.48% 26.20% 3.76	0.00 0.00 Asian 0.00% 10.26% 0.00	0.00 0.00 Hispanic or Latino 1.04% 15.24% 0.07
Tract:	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	3.01 6.00 9.00 Low-Income 62.62% 13.80% 4.54	3.67 3.00 African American 98.48% 26.20%	0.00 0.00 Asian 0.00% 10.26%	0.00 0.00 Hispanic or Latino 1.04% 15.24%
Tract:	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	3.01 6.00 9.00 Low-Income 62.62% 13.80% 4.54	3.67 3.00 African American 98.48% 26.20% 3.76	0.00 0.00 Asian 0.00% 10.26% 0.00	0.00 0.00 Hispanic or Latino 1.04% 15.24% 0.07
Tract:	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	3.01 6.00 9.00 Low-Income 62.62% 13.80% 4.54 6.00	3.67 3.00 African American 98.48% 26.20% 3.76	0.00 0.00 Asian 0.00% 10.26% 0.00 0.00	0.00 0.00 Hispanic or Latino 1.04% 15.24% 0.07 0.00
Tract: 74.08	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	3.01 6.00 9.00 Low-Income 62.62% 13.80% 4.54 6.00 9.00 Low-Income	3.67 3.00 African American 98.48% 26.20% 3.76 3.00 African American	0.00 Asian 0.00% 10.26% 0.00 0.00	0.00 Hispanic or Latino 1.04% 15.24% 0.07 0.00 Hispanic or Latino
Tract: 74.08	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	3.01 6.00 9.00 Low-Income 62.62% 13.80% 4.54 6.00 9.00 Low-Income 45.11%	3.67 3.00 African American 98.48% 26.20% 3.76 3.00 African American 97.87%	0.00 Asian 0.00% 10.26% 0.00 0.00 Asian 1.17%	0.00 0.00 Hispanic or Latino 1.04% 15.24% 0.07 0.00 Hispanic or Latino 0.31%
Tract: 74.08	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	3.01 6.00 9.00 Low-Income 62.62% 13.80% 4.54 6.00 9.00 Low-Income 45.11% 13.80%	3.67 3.00 African American 98.48% 26.20% 3.76 3.00 African American 97.87% 26.20%	0.00 Asian 0.00% 10.26% 0.00 Asian 1.17% 10.26%	0.00 0.00 Hispanic or Latino 1.04% 15.24% 0.07 0.00 Hispanic or Latino 0.31% 15.24%
Tract: 74.08	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	3.01 6.00 9.00 Low-Income 62.62% 13.80% 4.54 6.00 9.00 Low-Income 45.11%	3.67 3.00 African American 98.48% 26.20% 3.76 3.00 African American 97.87%	0.00 Asian 0.00% 10.26% 0.00 0.00 Asian 1.17%	0.00 0.00 Hispanic or Latino 1.04% 15.24% 0.07 0.00 Hispanic or Latino 0.31%
Tract: 74.08	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Ratio of Concentration (times Regional Average)	3.01 6.00 9.00 Low-Income 62.62% 13.80% 4.54 6.00 9.00 Low-Income 45.11% 13.80% 3.27	3.67 3.00 African American 98.48% 26.20% 3.76 3.00 African American 97.87% 26.20% 3.74	0.00 Asian 0.00% 10.26% 0.00 Asian 1.17% 10.26% 0.11	0.00 Hispanic or Latino 1.04% 15.24% 0.07 0.00 Hispanic or Latino 0.31% 15.24% 0.02
Tract: 74.08	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	3.01 6.00 9.00 Low-Income 62.62% 13.80% 4.54 6.00 9.00 Low-Income 45.11% 13.80% 3.27	3.67 3.00 African American 98.48% 26.20% 3.76 3.00 African American 97.87% 26.20%	0.00 Asian 0.00% 10.26% 0.00 Asian 1.17% 10.26%	0.00 0.00 Hispanic or Latino 1.04% 15.24% 0.07 0.00 Hispanic or Latino 0.31% 15.24%
Tract: 74.08	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Ratio of Concentration (times Regional Average)	3.01 6.00 9.00 Low-Income 62.62% 13.80% 4.54 6.00 9.00 Low-Income 45.11% 13.80% 3.27	3.67 3.00 African American 98.48% 26.20% 3.76 3.00 African American 97.87% 26.20% 3.74	0.00 Asian 0.00% 10.26% 0.00 Asian 1.17% 10.26% 0.11	0.00 Hispanic or Latino 1.04% 15.24% 0.07 0.00 Hispanic or Latino 0.31% 15.24% 0.02

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	66.48%	98.99%	0.00%	0.17%
75.02	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	4.82	3.78	0.00	0.01
	(times Regional Average)				
	Index Score	6.00	3.00	0.00	0.00
	Total Index:	9.00			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	52.76%	97.89%	0.15%	0.57%
75.03	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	3.82	3.74	0.01	0.04
	(times Regional Average)				
	Index Score	6.00	3.00	0.00	0.00
	Total Index:	9.00			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	61.18%	97.83%	0.00%	0.00%
75.04	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	4.43	3.73	0.00	0.00
	(times Regional Average)				
	Index Score	6.00	3.00	0.00	0.00
	Total Index:	9.00			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	36.68%	95.10%	0.00%	1.75%
Tract: 76.01	Regional Average	36.68% 13.80%	95.10% 26.20%	0.00% 10.26%	1.75% 15.24%
	Regional Average Ratio of Concentration	36.68%	95.10%	0.00%	1.75%
	Regional Average Ratio of Concentration (times Regional Average)	36.68% 13.80% 2.66	95.10% 26.20% 3.63	0.00% 10.26% 0.00	1.75% 15.24% 0.12
	Regional Average Ratio of Concentration (times Regional Average) Index Score	36.68% 13.80% 2.66 5.32	95.10% 26.20%	0.00% 10.26%	1.75% 15.24%
	Regional Average Ratio of Concentration (times Regional Average)	36.68% 13.80% 2.66	95.10% 26.20% 3.63	0.00% 10.26% 0.00	1.75% 15.24% 0.12
	Regional Average Ratio of Concentration (times Regional Average) Index Score	36.68% 13.80% 2.66 5.32 8.32	95.10% 26.20% 3.63 3.00	0.00% 10.26% 0.00	1.75% 15.24% 0.12 0.00
76.01	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	36.68% 13.80% 2.66 5.32 8.32 Low-Income	95.10% 26.20% 3.63 3.00	0.00% 10.26% 0.00 0.00	1.75% 15.24% 0.12 0.00 Hispanic or Latino
76.01 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	36.68% 13.80% 2.66 5.32 8.32 Low-Income 30.13%	95.10% 26.20% 3.63 3.00 African American 90.44%	0.00% 10.26% 0.00 0.00 Asian 3.68%	1.75% 15.24% 0.12 0.00 Hispanic or Latino 0.68%
76.01	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	36.68% 13.80% 2.66 5.32 8.32 Low-Income 30.13% 13.80%	95.10% 26.20% 3.63 3.00 African American 90.44% 26.20%	0.00% 10.26% 0.00 0.00 Asian 3.68% 10.26%	1.75% 15.24% 0.12 0.00 Hispanic or Latino 0.68% 15.24%
76.01 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	36.68% 13.80% 2.66 5.32 8.32 Low-Income 30.13%	95.10% 26.20% 3.63 3.00 African American 90.44%	0.00% 10.26% 0.00 0.00 Asian 3.68%	1.75% 15.24% 0.12 0.00 Hispanic or Latino 0.68%
76.01 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	36.68% 13.80% 2.66 5.32 8.32 Low-Income 30.13% 13.80% 2.18	95.10% 26.20% 3.63 3.00 African American 90.44% 26.20% 3.45	0.00% 10.26% 0.00 0.00 Asian 3.68% 10.26% 0.36	1.75% 15.24% 0.12 0.00 Hispanic or Latino 0.68% 15.24% 0.04
76.01 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	36.68% 13.80% 2.66 5.32 8.32 Low-Income 30.13% 13.80% 2.18	95.10% 26.20% 3.63 3.00 African American 90.44% 26.20%	0.00% 10.26% 0.00 0.00 Asian 3.68% 10.26%	1.75% 15.24% 0.12 0.00 Hispanic or Latino 0.68% 15.24%
76.01 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	36.68% 13.80% 2.66 5.32 8.32 Low-Income 30.13% 13.80% 2.18	95.10% 26.20% 3.63 3.00 African American 90.44% 26.20% 3.45	0.00% 10.26% 0.00 0.00 Asian 3.68% 10.26% 0.36	1.75% 15.24% 0.12 0.00 Hispanic or Latino 0.68% 15.24% 0.04
76.01 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	36.68% 13.80% 2.66 5.32 8.32 Low-Income 30.13% 13.80% 2.18 4.37 7.37	95.10% 26.20% 3.63 3.00 African American 90.44% 26.20% 3.45	0.00% 10.26% 0.00 0.00 Asian 3.68% 10.26% 0.36	1.75% 15.24% 0.12 0.00 Hispanic or Latino 0.68% 15.24% 0.04
76.01 Tract: 76.05	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	36.68% 13.80% 2.66 5.32 8.32 Low-Income 30.13% 13.80% 2.18 4.37 7.37 Low-Income	95.10% 26.20% 3.63 3.00 African American 90.44% 26.20% 3.45 3.00	0.00% 10.26% 0.00 0.00 Asian 3.68% 10.26% 0.36	1.75% 15.24% 0.12 0.00 Hispanic or Latino 0.68% 15.24% 0.04 0.00 Hispanic or Latino
76.01 Tract: 76.05 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	36.68% 13.80% 2.66 5.32 8.32 Low-Income 30.13% 13.80% 2.18 4.37 7.37 Low-Income 57.87%	95.10% 26.20% 3.63 3.00 African American 90.44% 26.20% 3.45 3.00 African American 98.53%	0.00% 10.26% 0.00 0.00 Asian 3.68% 10.26% 0.36 0.00 Asian 0.00%	1.75% 15.24% 0.12 0.00 Hispanic or Latino 0.68% 15.24% 0.04 0.00 Hispanic or Latino 1.47%
76.01 Tract: 76.05	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	36.68% 13.80% 2.66 5.32 8.32 Low-Income 30.13% 13.80% 2.18 4.37 7.37 Low-Income 57.87% 13.80%	95.10% 26.20% 3.63 3.00 African American 90.44% 26.20% 3.45 3.00 African American 98.53% 26.20%	0.00% 10.26% 0.00 0.00 Asian 3.68% 10.26% 0.36 0.00 Asian 0.00% 10.26%	1.75% 15.24% 0.12 0.00 Hispanic or Latino 0.68% 15.24% 0.04 0.00 Hispanic or Latino 1.47% 15.24%
76.01 Tract: 76.05 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	36.68% 13.80% 2.66 5.32 8.32 Low-Income 30.13% 13.80% 2.18 4.37 7.37 Low-Income 57.87%	95.10% 26.20% 3.63 3.00 African American 90.44% 26.20% 3.45 3.00 African American 98.53%	0.00% 10.26% 0.00 0.00 Asian 3.68% 10.26% 0.36 0.00 Asian 0.00%	1.75% 15.24% 0.12 0.00 Hispanic or Latino 0.68% 15.24% 0.04 0.00 Hispanic or Latino 1.47%
76.01 Tract: 76.05 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	36.68% 13.80% 2.66 5.32 8.32 Low-Income 30.13% 13.80% 2.18 4.37 7.37 Low-Income 57.87% 13.80% 4.19	95.10% 26.20% 3.63 3.00 African American 90.44% 26.20% 3.45 3.00 African American 98.53% 26.20% 3.76	0.00% 10.26% 0.00 0.00 Asian 3.68% 10.26% 0.36 0.00 Asian 0.00% 10.26% 0.00	1.75% 15.24% 0.12 0.00 Hispanic or Latino 0.68% 15.24% 0.04 0.00 Hispanic or Latino 1.47% 15.24% 0.10
76.01 Tract: 76.05 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	36.68% 13.80% 2.66 5.32 8.32 Low-Income 30.13% 13.80% 2.18 4.37 7.37 Low-Income 57.87% 13.80% 4.19	95.10% 26.20% 3.63 3.00 African American 90.44% 26.20% 3.45 3.00 African American 98.53% 26.20%	0.00% 10.26% 0.00 0.00 Asian 3.68% 10.26% 0.36 0.00 Asian 0.00% 10.26%	1.75% 15.24% 0.12 0.00 Hispanic or Latino 0.68% 15.24% 0.04 0.00 Hispanic or Latino 1.47% 15.24%
76.01 Tract: 76.05 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	36.68% 13.80% 2.66 5.32 8.32 Low-Income 30.13% 13.80% 2.18 4.37 7.37 Low-Income 57.87% 13.80% 4.19	95.10% 26.20% 3.63 3.00 African American 90.44% 26.20% 3.45 3.00 African American 98.53% 26.20% 3.76	0.00% 10.26% 0.00 0.00 Asian 3.68% 10.26% 0.36 0.00 Asian 0.00% 10.26% 0.00	1.75% 15.24% 0.12 0.00 Hispanic or Latino 0.68% 15.24% 0.04 0.00 Hispanic or Latino 1.47% 15.24% 0.10

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	40.89%	95.33%	0.00%	0.00%
77.07	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.96	3.64	0.00	0.00
	(times Regional Average)				
	Index Score	5.93	3.00	0.00	0.00
	Total Index:	8.93			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	47.05%	100.00%	0.00%	0.00%
77.08	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	3.41	3.82	0.00	0.00
	(times Regional Average)	_			
	Index Score	6.00	3.00	0.00	0.00
	Total Index:	9.00			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	37.44%	90.85%	0.00%	4.75%
77.09	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.71	3.47	0.00	0.31
	(times Regional Average)				
	Index Score	5.43	3.00	0.00	0.00
	Total Index:	8.43			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	31.07%	92.52%	0.17%	4.03%
78.03	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.25	3.53	0.02	0.26
	(times Regional Average)				
	Index Score	4.50	3.00	0.00	0.00
	Total Index:	7.50			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	40.52%	93.99%	0.58%	4.22%
78.04	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.94	3.59	0.06	0.28
	(times Regional Average)				
	Index Score	5.87	3.00	0.00	0.00
	Total Index:	8.87			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	37.06%	95.37%	0.00%	0.28%
78.06	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.69	3.64	0.00	0.02
	(times Regional Average)				
l .		F 27	3.00	0.00	0.00
	Index Score	5.37	3.00	0.00	0.00
	Total Index:	8.37	3.00	0.00	0.00

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	44.00%	97.84%	0.27%	1.17%
78.07	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	3.19	3.73	0.03	0.08
	(times Regional Average)				
	Index Score	6.00	3.00	0.00	0.00
	Total Index:	9.00			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	39.81%	97.50%	0.16%	1.62%
78.08	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.88	3.72	0.02	0.11
	(times Regional Average)				
	Index Score	5.77	3.00	0.00	0.00
	Total Index:	8.77			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	37.32%	93.66%	0.56%	2.03%
78.09	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.70	3.57	0.05	0.13
	(times Regional Average)				
	Index Score	5.41	3.00	0.00	0.00
	Total Index:	8.41			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	42.92%	77.57%	0.45%	2.64%
79.01	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	3.11	2.96	0.04	0.17
	(times Regional Average)				
	Index Score	6.00	2.96	0.00	0.00
	Total Index:	8.96			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	29.93%	80.32%	1.30%	0.95%
Tract: 79.03	Regional Average	29.93% 13.80%	80.32% 26.20%	1.30% 10.26%	0.95% 15.24%
	Regional Average Ratio of Concentration	29.93%	80.32%	1.30%	0.95%
	Regional Average Ratio of Concentration (times Regional Average)	29.93% 13.80% 2.17	80.32% 26.20% 3.07	1.30% 10.26% 0.13	0.95% 15.24% 0.06
	Regional Average Ratio of Concentration (times Regional Average) Index Score	29.93% 13.80% 2.17	80.32% 26.20%	1.30% 10.26%	0.95% 15.24%
	Regional Average Ratio of Concentration (times Regional Average)	29.93% 13.80% 2.17	80.32% 26.20% 3.07	1.30% 10.26% 0.13	0.95% 15.24% 0.06
	Regional Average Ratio of Concentration (times Regional Average) Index Score	29.93% 13.80% 2.17 4.34 7.34	80.32% 26.20% 3.07	1.30% 10.26% 0.13	0.95% 15.24% 0.06
79.03	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	29.93% 13.80% 2.17 4.34 7.34 Low-Income	80.32% 26.20% 3.07 3.00	1.30% 10.26% 0.13 0.00	0.95% 15.24% 0.06 0.00 Hispanic or Latino
79.03	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	29.93% 13.80% 2.17 4.34 7.34 Low-Income 21.37%	80.32% 26.20% 3.07 3.00 African American 69.14%	1.30% 10.26% 0.13 0.00 Asian 0.00%	0.95% 15.24% 0.06 0.00 Hispanic or Latino 4.07%
79.03	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	29.93% 13.80% 2.17 4.34 7.34 Low-Income 21.37% 13.80%	80.32% 26.20% 3.07 3.00 African American 69.14% 26.20%	1.30% 10.26% 0.13 0.00 Asian 0.00% 10.26%	0.95% 15.24% 0.06 0.00 Hispanic or Latino 4.07% 15.24%
79.03	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	29.93% 13.80% 2.17 4.34 7.34 Low-Income 21.37%	80.32% 26.20% 3.07 3.00 African American 69.14%	1.30% 10.26% 0.13 0.00 Asian 0.00%	0.95% 15.24% 0.06 0.00 Hispanic or Latino 4.07%
79.03	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	29.93% 13.80% 2.17 4.34 7.34 Low-Income 21.37% 13.80% 1.55	80.32% 26.20% 3.07 3.00 African American 69.14% 26.20% 2.64	1.30% 10.26% 0.13 0.00 Asian 0.00% 10.26% 0.00	0.95% 15.24% 0.06 0.00 Hispanic or Latino 4.07% 15.24% 0.27
79.03	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	29.93% 13.80% 2.17 4.34 7.34 Low-Income 21.37% 13.80% 1.55	80.32% 26.20% 3.07 3.00 African American 69.14% 26.20%	1.30% 10.26% 0.13 0.00 Asian 0.00% 10.26%	0.95% 15.24% 0.06 0.00 Hispanic or Latino 4.07% 15.24%
79.03	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	29.93% 13.80% 2.17 4.34 7.34 Low-Income 21.37% 13.80% 1.55	80.32% 26.20% 3.07 3.00 African American 69.14% 26.20% 2.64	1.30% 10.26% 0.13 0.00 Asian 0.00% 10.26% 0.00	0.95% 15.24% 0.06 0.00 Hispanic or Latino 4.07% 15.24% 0.27

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	31.86%	78.88%	0.40%	6.81%
87.02	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.31	3.01	0.04	0.45
	(times Regional Average)				
	Index Score	4.62	3.00	0.00	0.00
	Total Index:	7.62			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	38.27%	79.65%	2.26%	0.40%
88.02	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.77	3.04	0.22	0.03
	(times Regional Average)				
	Index Score	5.55	3.00	0.00	0.00
	Total Index:	8.55			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	62.82%	59.76%	3.16%	7.61%
88.03	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	4.55	2.28	0.31	0.50
	(times Regional Average)				
	Index Score	6.00	2.28	0.00	0.00
	Total Index:	8.28			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	37.51%	80.68%	6.35%	5.16%
88.04	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.72	3.08	0.62	0.34
	(times Regional Average)	- 44			
	Index Score	5.44	3.00	0.00	
					0.00
	Total Index:	8.44			0.00
_	Total Index:	Low-Income	African American	Asian	Hispanic or Latino
Tract:	Total Index: Tract Percent	Low-Income 47.68%	85.44%	Asian 2.14%	Hispanic or Latino 5.94%
Tract: 89.03	Tract Percent Regional Average	Low-Income 47.68% 13.80%	85.44% 26.20%	Asian 2.14% 10.26%	Hispanic or Latino 5.94% 15.24%
	Tract Percent Regional Average Ratio of Concentration	Low-Income 47.68%	85.44%	Asian 2.14%	Hispanic or Latino 5.94%
	Tract Percent Regional Average Ratio of Concentration (times Regional Average)	Low-Income 47.68% 13.80% 3.45	85.44% 26.20% 3.26	Asian 2.14% 10.26% 0.21	Hispanic or Latino 5.94% 15.24% 0.39
	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	Low-Income 47.68% 13.80% 3.45	85.44% 26.20%	Asian 2.14% 10.26%	Hispanic or Latino 5.94% 15.24%
	Tract Percent Regional Average Ratio of Concentration (times Regional Average)	Low-Income 47.68% 13.80% 3.45	85.44% 26.20% 3.26	Asian 2.14% 10.26% 0.21	Hispanic or Latino 5.94% 15.24% 0.39
	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	Low-Income 47.68% 13.80% 3.45 6.00	85.44% 26.20% 3.26 3.00	Asian 2.14% 10.26% 0.21	Hispanic or Latino 5.94% 15.24% 0.39
89.03	Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	Low-Income 47.68% 13.80% 3.45 6.00 9.00 Low-Income	85.44% 26.20% 3.26 3.00	Asian 2.14% 10.26% 0.21 0.00 Asian	Hispanic or Latino 5.94% 15.24% 0.39 0.00 Hispanic or Latino
89.03 Tract:	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	Low-Income 47.68% 13.80% 3.45 6.00 9.00 Low-Income 35.01%	85.44% 26.20% 3.26 3.00 African American 81.90%	Asian 2.14% 10.26% 0.21 0.00 Asian 0.38%	Hispanic or Latino 5.94% 15.24% 0.39 0.00 Hispanic or Latino 10.63%
89.03	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	Low-Income 47.68% 13.80% 3.45 6.00 9.00 Low-Income 35.01% 13.80%	85.44% 26.20% 3.26 3.00 African American 81.90% 26.20%	Asian 2.14% 10.26% 0.21 0.00 Asian 0.38% 10.26%	Hispanic or Latino 5.94% 15.24% 0.39 0.00 Hispanic or Latino 10.63% 15.24%
89.03 Tract:	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	Low-Income 47.68% 13.80% 3.45 6.00 9.00 Low-Income 35.01%	85.44% 26.20% 3.26 3.00 African American 81.90%	Asian 2.14% 10.26% 0.21 0.00 Asian 0.38%	Hispanic or Latino 5.94% 15.24% 0.39 0.00 Hispanic or Latino 10.63%
89.03 Tract:	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	Low-Income 47.68% 13.80% 3.45 6.00 9.00 Low-Income 35.01% 13.80% 2.54	85.44% 26.20% 3.26 3.00 African American 81.90% 26.20% 3.13	Asian 2.14% 10.26% 0.21 0.00 Asian 0.38% 10.26% 0.04	Hispanic or Latino 5.94% 15.24% 0.39 0.00 Hispanic or Latino 10.63% 15.24% 0.70
89.03 Tract:	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	Low-Income 47.68% 13.80% 3.45 6.00 9.00 Low-Income 35.01% 13.80% 2.54	85.44% 26.20% 3.26 3.00 African American 81.90% 26.20%	Asian 2.14% 10.26% 0.21 0.00 Asian 0.38% 10.26%	Hispanic or Latino 5.94% 15.24% 0.39 0.00 Hispanic or Latino 10.63% 15.24%
89.03 Tract:	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	Low-Income 47.68% 13.80% 3.45 6.00 9.00 Low-Income 35.01% 13.80% 2.54	85.44% 26.20% 3.26 3.00 African American 81.90% 26.20% 3.13	Asian 2.14% 10.26% 0.21 0.00 Asian 0.38% 10.26% 0.04	Hispanic or Latino 5.94% 15.24% 0.39 0.00 Hispanic or Latino 10.63% 15.24% 0.70

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	27.56%	95.50%	0.00%	1.85%
90	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.00	3.64	0.00	0.12
	(times Regional Average)				
	Index Score	3.99	3.00	0.00	0.00
	Total Index:	6.99			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	37.13%	81.92%	0.82%	10.15%
91.02	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.69	3.13	0.08	0.67
	(times Regional Average)				
	Index Score	5.38	3.00	0.00	0.00
	Total Index:	8.38			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	29.45%	57.86%	1.39%	6.98%
92.01	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.13	2.21	0.14	0.46
	(times Regional Average)				
	Index Score	4.27	2.21	0.00	0.00
	Total Index:	6.48			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	29.44%	75.25%	0.00%	8.51%
92.03	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.13	2.87	0.00	0.56
	(times Regional Average)				
	Index Score	4.27	2.87	0.00	0.00
	Total Index:	7.14			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	51.87%	69.29%	1.05%	18.87%
92.04	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	3.76	2.64	0.10	1.24
	(times Regional Average)				
	Index Score	6.00	2.64	0.00	0.00
	Total Index:	8.64			
	Total Index:				
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	Low-Income 26.40%	76.55%	0.71%	6.79%
Tract: 94	Tract Percent Regional Average	Low-Income 26.40% 13.80%	76.55% 26.20%	0.71% 10.26%	6.79% 15.24%
	Tract Percent	Low-Income 26.40%	76.55%	0.71%	6.79%
	Tract Percent Regional Average Ratio of Concentration (times Regional Average)	Low-Income 26.40% 13.80% 1.91	76.55% 26.20% 2.92	0.71% 10.26% 0.07	6.79% 15.24% 0.45
	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	Low-Income 26.40% 13.80% 1.91	76.55% 26.20%	0.71% 10.26%	6.79% 15.24%
	Tract Percent Regional Average Ratio of Concentration (times Regional Average)	Low-Income 26.40% 13.80% 1.91	76.55% 26.20% 2.92	0.71% 10.26% 0.07	6.79% 15.24% 0.45

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	48.62%	53.80%	2.31%	20.01%
95.01	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	3.52	2.05	0.22	1.31
	(times Regional Average)				
	Index Score	6.00	2.05	0.00	0.00
	Total Index:	8.05			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	27.86%	67.62%	0.20%	13.52%
95.04	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.02	2.58	0.02	0.89
	(times Regional Average)				
	Index Score	4.04	2.58	0.00	0.00
	Total Index:	6.62			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	49.93%	97.16%	0.00%	0.46%
96.01	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	3.62	3.71	0.00	0.03
	(times Regional Average)				
	Index Score	6.00	3.00	0.00	0.00
	Total Index:	9.00			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	60.97%	95.59%	0.00%	4.41%
96.02	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	4.42	3.65	0.00	0.29
	(times Regional Average)				
	Index Score	6.00	3.00	0.00	0.00
	Total Index:	9.00			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	26.34%	92.31%	0.00%	4.45%
96.03	Regional Average	12 900/	00.000/	10.060/	15.24%
	ricgional Average	13.80%	26.20%	10.26%	10.2470
	Ratio of Concentration	1.91	3.52	0.00	0.29
	Ratio of Concentration (times Regional Average)	1.91	3.52	0.00	0.29
	Ratio of Concentration (times Regional Average) Index Score				
	Ratio of Concentration (times Regional Average)	1.91	3.52	0.00	0.29
	Ratio of Concentration (times Regional Average) Index Score	1.91 3.82	3.52	0.00	0.29
	Ratio of Concentration (times Regional Average) Index Score Total Index:	1.91 3.82 6.82 Low-Income	3.52 3.00 African American	0.00 0.00 Asian	0.29 0.00 Hispanic or Latino
Tract:	Ratio of Concentration (times Regional Average) Index Score	1.91 3.82 6.82 Low-Income 42.73%	3.52 3.00 African American 98.09%	0.00 0.00 Asian 0.00%	0.29 0.00 Hispanic or Latino 0.46%
	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	1.91 3.82 6.82 Low-Income	3.52 3.00 African American	0.00 0.00 Asian	0.29 0.00 Hispanic or Latino
Tract:	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	1.91 3.82 6.82 Low-Income 42.73%	3.52 3.00 African American 98.09%	0.00 0.00 Asian 0.00%	0.29 0.00 Hispanic or Latino 0.46%
Tract:	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	3.82 6.82 Low-Income 42.73% 13.80%	3.52 3.00 African American 98.09% 26.20%	0.00 0.00 Asian 0.00% 10.26%	0.29 0.00 Hispanic or Latino 0.46% 15.24%
Tract:	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	3.82 6.82 Low-Income 42.73% 13.80%	3.52 3.00 African American 98.09% 26.20%	0.00 0.00 Asian 0.00% 10.26%	0.29 0.00 Hispanic or Latino 0.46% 15.24%
Tract:	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	1.91 3.82 6.82 Low-Income 42.73% 13.80% 3.10	3.52 3.00 African American 98.09% 26.20% 3.74	0.00 0.00 Asian 0.00% 10.26% 0.00	0.29 0.00 Hispanic or Latino 0.46% 15.24% 0.03

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	49.25%	93.82%	0.00%	0.73%
98.01	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	3.57	3.58	0.00	0.05
	(times Regional Average)				
	Index Score	6.00	3.00	0.00	0.00
	Total Index:	9.00			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	54.23%	100.00%	0.00%	0.00%
98.02	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	3.93	3.82	0.00	0.00
	(times Regional Average)				
	Index Score	6.00	3.00	0.00	0.00
	Total Index:	9.00			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	55.01%	99.82%	0.00%	0.00%
98.03	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	3.99	3.81	0.00	0.00
	(times Regional Average)				
	Index Score	6.00	3.00	0.00	0.00
	Total Index:	9.00			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	36.26%	93.84%	0.00%	5.48%
98.04	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.63	3.58	0.00	0.36
	(times Regional Average)				
	Index Score	5.25	3.00	0.00	0.00
	Total Index:	8.25			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	38.57%	96.87%	0.00%	0.68%
98.07	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.80	3.70	0.00	0.04
	(times Regional Average)				
					0.00
	Index Score	5.59	3.00	0.00	0.00
		5.59 8.59	3.00	0.00	0.00
	Index Score		3.00	0.00	0.00
	Index Score Total Index:	8.59 Low-Income	African American	Asian	Hispanic or Latino
Tract:	Index Score Total Index: Tract Percent	8.59 Low-Income 46.37%	African American 96.15%	Asian 0.00%	Hispanic or Latino 0.36%
Tract: 98.1	Index Score Total Index: Tract Percent Regional Average	8.59 Low-Income	African American 96.15% 26.20%	Asian	Hispanic or Latino
	Index Score Total Index: Tract Percent	8.59 Low-Income 46.37%	African American 96.15%	Asian 0.00%	Hispanic or Latino 0.36%
	Tract Percent Regional Average Ratio of Concentration (times Regional Average)	8.59 Low-Income 46.37% 13.80% 3.36	African American 96.15% 26.20% 3.67	Asian 0.00% 10.26% 0.00	Hispanic or Latino 0.36% 15.24% 0.02
	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	8.59 Low-Income 46.37% 13.80% 3.36 6.00	African American 96.15% 26.20%	Asian 0.00% 10.26%	Hispanic or Latino 0.36% 15.24%
	Tract Percent Regional Average Ratio of Concentration (times Regional Average)	8.59 Low-Income 46.37% 13.80% 3.36	African American 96.15% 26.20% 3.67	Asian 0.00% 10.26% 0.00	Hispanic or Latino 0.36% 15.24% 0.02

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	47.67%	99.56%	0.00%	0.00%
98.11	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	3.45	3.80	0.00	0.00
	(times Regional Average)				
	Index Score	6.00	3.00	0.00	0.00
	Total Index:	9.00			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	30.78%	95.90%	0.42%	1.10%
99.02	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.23	3.66	0.04	0.07
	(times Regional Average)				
	Index Score	4.46	3.00	0.00	0.00
	Total Index:	7.46			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	30.60%	92.08%	0.00%	1.30%
99.03	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.22	3.51	0.00	0.09
	(times Regional Average)				
	Index Score	4.43	3.00	0.00	0.00
	Total Index:	7.43			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	48.79%	91.80%	0.05%	4.74%
99.04	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	3.54	3.50	0.00	0.31
	(times Regional Average)				
	Index Score	6.00	3.00	0.00	0.00
	Total Index:	9.00			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	36.06%	96.24%	0.00%	3.00%
99.05	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.61	3.67	0.00	0.20
	(times Regional Average)				
	Index Score	5.23	3.00	0.00	0.00
	Total Index:	8.23			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	38.78%	94.67%	0.00%	2.24%
99.06	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.81	3.61	0.00	0.15
	(times Regional Average)				
	Index Score	5.62	3.00	0.00	0.00
	Total Index:	8.62			
1					

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	52.43%	96.41%	0.00%	3.27%
99.07	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	3.80	3.68	0.00	0.21
	(times Regional Average)				
	Index Score	6.00	3.00	0.00	0.00
	Total Index:	9.00			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	30.96%	54.45%	2.18%	19.81%
103	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.24	2.08	0.21	1.30
	(times Regional Average)				
	Index Score	4.49	2.08	0.00	0.00
	Total Index:	6.57			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	38.06%	90.95%	0.23%	2.01%
104	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.76	3.47	0.02	0.13
	(times Regional Average)				
	Index Score	5.52	3.00	0.00	0.00
	Total Index:	8.52			
		Low-Income	African American	Asian	Highania ar Latina
					Hispanic or Latino
Tract:	Tract Percent	27.68%	33.64%	5.12%	8.09%
Tract: 106	Regional Average	27.68% 13.80%	33.64% 26.20%	5.12% 10.26%	8.09% 15.24%
	Regional Average Ratio of Concentration	27.68%	33.64%	5.12%	8.09%
	Regional Average Ratio of Concentration (times Regional Average)	27.68% 13.80% 2.01	33.64% 26.20% 1.28	5.12% 10.26% 0.50	8.09% 15.24% 0.53
	Regional Average Ratio of Concentration (times Regional Average) Index Score	27.68% 13.80% 2.01 4.01	33.64% 26.20%	5.12% 10.26%	8.09% 15.24%
	Regional Average Ratio of Concentration (times Regional Average)	27.68% 13.80% 2.01	33.64% 26.20% 1.28	5.12% 10.26% 0.50	8.09% 15.24% 0.53
	Regional Average Ratio of Concentration (times Regional Average) Index Score	27.68% 13.80% 2.01 4.01 4.01	33.64% 26.20% 1.28 0.00	5.12% 10.26% 0.50	8.09% 15.24% 0.53
106	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	27.68% 13.80% 2.01 4.01 4.01 Low-Income	33.64% 26.20% 1.28 0.00	5.12% 10.26% 0.50 0.00	8.09% 15.24% 0.53 0.00
106 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	27.68% 13.80% 2.01 4.01 4.01 Low-Income 24.78%	33.64% 26.20% 1.28 0.00 African American 6.84%	5.12% 10.26% 0.50 0.00 Asian 16.20%	8.09% 15.24% 0.53 0.00 Hispanic or Latino 3.98%
106	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	27.68% 13.80% 2.01 4.01 4.01 Low-Income 24.78% 13.80%	33.64% 26.20% 1.28 0.00 African American 6.84% 26.20%	5.12% 10.26% 0.50 0.00 Asian 16.20% 10.26%	8.09% 15.24% 0.53 0.00 Hispanic or Latino 3.98% 15.24%
106 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	27.68% 13.80% 2.01 4.01 4.01 Low-Income 24.78%	33.64% 26.20% 1.28 0.00 African American 6.84%	5.12% 10.26% 0.50 0.00 Asian 16.20%	8.09% 15.24% 0.53 0.00 Hispanic or Latino 3.98%
106 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	27.68% 13.80% 2.01 4.01 4.01 Low-Income 24.78% 13.80% 1.80	33.64% 26.20% 1.28 0.00 African American 6.84% 26.20% 0.26	5.12% 10.26% 0.50 0.00 Asian 16.20% 10.26% 1.58	8.09% 15.24% 0.53 0.00 Hispanic or Latino 3.98% 15.24% 0.26
106 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	27.68% 13.80% 2.01 4.01 4.01 Low-Income 24.78% 13.80% 1.80 3.59	33.64% 26.20% 1.28 0.00 African American 6.84% 26.20%	5.12% 10.26% 0.50 0.00 Asian 16.20% 10.26%	8.09% 15.24% 0.53 0.00 Hispanic or Latino 3.98% 15.24%
106 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	27.68% 13.80% 2.01 4.01 4.01 Low-Income 24.78% 13.80% 1.80	33.64% 26.20% 1.28 0.00 African American 6.84% 26.20% 0.26	5.12% 10.26% 0.50 0.00 Asian 16.20% 10.26% 1.58	8.09% 15.24% 0.53 0.00 Hispanic or Latino 3.98% 15.24% 0.26
106 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	27.68% 13.80% 2.01 4.01 4.01 Low-Income 24.78% 13.80% 1.80 3.59 5.17	33.64% 26.20% 1.28 0.00 African American 6.84% 26.20% 0.26 0.00	5.12% 10.26% 0.50 0.00 Asian 16.20% 10.26% 1.58	8.09% 15.24% 0.53 0.00 Hispanic or Latino 3.98% 15.24% 0.26
Tract: 107	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	27.68% 13.80% 2.01 4.01 4.01 Low-Income 24.78% 13.80% 1.80 3.59 5.17 Low-Income	33.64% 26.20% 1.28 0.00 African American 6.84% 26.20% 0.26 0.00 African American	5.12% 10.26% 0.50 0.00 Asian 16.20% 10.26% 1.58	8.09% 15.24% 0.53 0.00 Hispanic or Latino 3.98% 15.24% 0.26 0.00 Hispanic or Latino
Tract: 107	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	27.68% 13.80% 2.01 4.01 4.01 Low-Income 24.78% 13.80% 1.80 3.59 5.17 Low-Income 45.54%	33.64% 26.20% 1.28 0.00 African American 6.84% 26.20% 0.26 0.00 African American 12.64%	5.12% 10.26% 0.50 0.00 Asian 16.20% 10.26% 1.58 Asian 11.23%	8.09% 15.24% 0.53 0.00 Hispanic or Latino 3.98% 15.24% 0.26 0.00 Hispanic or Latino 6.04%
Tract: 107	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	27.68% 13.80% 2.01 4.01 4.01 Low-Income 24.78% 13.80% 1.80 3.59 5.17 Low-Income 45.54% 13.80%	33.64% 26.20% 1.28 0.00 African American 6.84% 26.20% 0.26 0.00 African American 12.64% 26.20%	5.12% 10.26% 0.50 0.00 Asian 16.20% 10.26% 1.58 Asian 11.23% 10.26%	8.09% 15.24% 0.53 0.00 Hispanic or Latino 3.98% 15.24% 0.26 0.00 Hispanic or Latino 6.04% 15.24%
Tract: 107	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	27.68% 13.80% 2.01 4.01 4.01 Low-Income 24.78% 13.80% 1.80 3.59 5.17 Low-Income 45.54%	33.64% 26.20% 1.28 0.00 African American 6.84% 26.20% 0.26 0.00 African American 12.64%	5.12% 10.26% 0.50 0.00 Asian 16.20% 10.26% 1.58 Asian 11.23%	8.09% 15.24% 0.53 0.00 Hispanic or Latino 3.98% 15.24% 0.26 0.00 Hispanic or Latino 6.04%
Tract: 107	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	27.68% 13.80% 2.01 4.01 4.01 Low-Income 24.78% 13.80% 1.80 3.59 5.17 Low-Income 45.54% 13.80% 3.30	33.64% 26.20% 1.28 0.00 African American 6.84% 26.20% 0.26 0.00 African American 12.64% 26.20% 0.48	5.12% 10.26% 0.50 0.00 Asian 16.20% 10.26% 1.58 Asian 11.23% 10.26% 1.09	8.09% 15.24% 0.53 0.00 Hispanic or Latino 3.98% 15.24% 0.26 0.00 Hispanic or Latino 6.04% 15.24% 0.40
Tract: 107	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	27.68% 13.80% 2.01 4.01 4.01 Low-Income 24.78% 13.80% 1.80 3.59 5.17 Low-Income 45.54% 13.80% 3.30 6.00	33.64% 26.20% 1.28 0.00 African American 6.84% 26.20% 0.26 0.00 African American 12.64% 26.20%	5.12% 10.26% 0.50 0.00 Asian 16.20% 10.26% 1.58 Asian 11.23% 10.26%	8.09% 15.24% 0.53 0.00 Hispanic or Latino 3.98% 15.24% 0.26 0.00 Hispanic or Latino 6.04% 15.24%
Tract: 107	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	27.68% 13.80% 2.01 4.01 4.01 Low-Income 24.78% 13.80% 1.80 3.59 5.17 Low-Income 45.54% 13.80% 3.30	33.64% 26.20% 1.28 0.00 African American 6.84% 26.20% 0.26 0.00 African American 12.64% 26.20% 0.48	5.12% 10.26% 0.50 0.00 Asian 16.20% 10.26% 1.58 Asian 11.23% 10.26% 1.09	8.09% 15.24% 0.53 0.00 Hispanic or Latino 3.98% 15.24% 0.26 0.00 Hispanic or Latino 6.04% 15.24% 0.40

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	69.51%	97.12%	0.00%	1.26%
109	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	5.04	3.71	0.00	0.08
	(times Regional Average)				
	Index Score	6.00	3.00	0.00	0.00
	Total Index:	9.00			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	27.82%	83.59%	0.08%	4.96%
111	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.02	3.19	0.01	0.33
	(times Regional Average)				
	Index Score	4.03	3.00	0.00	0.00
	Total Index:	7.03			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	21.23%	8.55%	8.99%	20.58%
1017.01	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.54	0.33	0.88	1.35
	(times Regional Average)				
	Index Score	3.08	0.00	0.00	0.00
	Total Index:	3.08			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	23.02%	2.47%	3.26%	54.88%
Tract: 1020.01	Regional Average	23.02% 13.80%	2.47% 26.20%	3.26% 10.26%	54.88% 15.24%
	Regional Average Ratio of Concentration	23.02%	2.47%	3.26%	54.88%
	Regional Average Ratio of Concentration (times Regional Average)	23.02% 13.80% 1.67	2.47% 26.20% 0.09	3.26% 10.26% 0.32	54.88% 15.24% 3.60
	Regional Average Ratio of Concentration (times Regional Average) Index Score	23.02% 13.80% 1.67	2.47% 26.20%	3.26% 10.26%	54.88% 15.24%
	Regional Average Ratio of Concentration (times Regional Average)	23.02% 13.80% 1.67	2.47% 26.20% 0.09	3.26% 10.26% 0.32	54.88% 15.24% 3.60
	Regional Average Ratio of Concentration (times Regional Average) Index Score	23.02% 13.80% 1.67 3.34 6.34	2.47% 26.20% 0.09	3.26% 10.26% 0.32	54.88% 15.24% 3.60 3.00
1020.01	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	23.02% 13.80% 1.67 3.34 6.34 Low-Income	2.47% 26.20% 0.09 0.00	3.26% 10.26% 0.32 0.00	54.88% 15.24% 3.60 3.00 Hispanic or Latino
1020.01 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	23.02% 13.80% 1.67 3.34 6.34 Low-Income 33.12%	2.47% 26.20% 0.09 0.00 African American 7.99%	3.26% 10.26% 0.32 0.00 Asian 13.63%	54.88% 15.24% 3.60 3.00 Hispanic or Latino 26.47%
1020.01	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	23.02% 13.80% 1.67 3.34 6.34 Low-Income 33.12% 13.80%	2.47% 26.20% 0.09 0.00 African American 7.99% 26.20%	3.26% 10.26% 0.32 0.00 Asian 13.63% 10.26%	54.88% 15.24% 3.60 3.00 Hispanic or Latino 26.47% 15.24%
1020.01 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	23.02% 13.80% 1.67 3.34 6.34 Low-Income 33.12%	2.47% 26.20% 0.09 0.00 African American 7.99%	3.26% 10.26% 0.32 0.00 Asian 13.63%	54.88% 15.24% 3.60 3.00 Hispanic or Latino 26.47%
1020.01 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	23.02% 13.80% 1.67 3.34 6.34 Low-Income 33.12% 13.80% 2.40	2.47% 26.20% 0.09 0.00 African American 7.99% 26.20% 0.30	3.26% 10.26% 0.32 0.00 Asian 13.63% 10.26% 1.33	54.88% 15.24% 3.60 3.00 Hispanic or Latino 26.47% 15.24% 1.74
1020.01 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	23.02% 13.80% 1.67 3.34 6.34 Low-Income 33.12% 13.80% 2.40	2.47% 26.20% 0.09 0.00 African American 7.99% 26.20%	3.26% 10.26% 0.32 0.00 Asian 13.63% 10.26%	54.88% 15.24% 3.60 3.00 Hispanic or Latino 26.47% 15.24%
1020.01 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	23.02% 13.80% 1.67 3.34 6.34 Low-Income 33.12% 13.80% 2.40	2.47% 26.20% 0.09 0.00 African American 7.99% 26.20% 0.30	3.26% 10.26% 0.32 0.00 Asian 13.63% 10.26% 1.33	54.88% 15.24% 3.60 3.00 Hispanic or Latino 26.47% 15.24% 1.74
1020.01 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	23.02% 13.80% 1.67 3.34 6.34 Low-Income 33.12% 13.80% 2.40 4.80 6.54	2.47% 26.20% 0.09 0.00 African American 7.99% 26.20% 0.30 0.00	3.26% 10.26% 0.32 0.00 Asian 13.63% 10.26% 1.33	54.88% 15.24% 3.60 3.00 Hispanic or Latino 26.47% 15.24% 1.74
1020.01 Tract: 1020.02	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	23.02% 13.80% 1.67 3.34 6.34 Low-Income 33.12% 13.80% 2.40 4.80 6.54 Low-Income	2.47% 26.20% 0.09 0.00 African American 7.99% 26.20% 0.30 African American	3.26% 10.26% 0.32 0.00 Asian 13.63% 10.26% 1.33 0.00	54.88% 15.24% 3.60 3.00 Hispanic or Latino 26.47% 15.24% 1.74 1.74 Hispanic or Latino
Tract: 1020.02	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	23.02% 13.80% 1.67 3.34 6.34 Low-Income 33.12% 13.80% 2.40 4.80 6.54 Low-Income 22.81%	2.47% 26.20% 0.09 0.00 African American 7.99% 26.20% 0.30 0.00 African American 12.39%	3.26% 10.26% 0.32 0.00 Asian 13.63% 10.26% 1.33 0.00 Asian 11.96%	54.88% 15.24% 3.60 3.00 Hispanic or Latino 26.47% 15.24% 1.74 1.74 Hispanic or Latino 21.28%
1020.01 Tract: 1020.02	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	23.02% 13.80% 1.67 3.34 6.34 Low-Income 33.12% 13.80% 2.40 4.80 6.54 Low-Income 22.81% 13.80%	2.47% 26.20% 0.09 0.00 African American 7.99% 26.20% 0.30 African American 12.39% 26.20%	3.26% 10.26% 0.32 0.00 Asian 13.63% 10.26% 1.33 0.00 Asian 11.96% 10.26%	54.88% 15.24% 3.60 3.00 Hispanic or Latino 26.47% 15.24% 1.74 Hispanic or Latino 21.28% 15.24%
Tract: 1020.02	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	23.02% 13.80% 1.67 3.34 6.34 Low-Income 33.12% 13.80% 2.40 4.80 6.54 Low-Income 22.81%	2.47% 26.20% 0.09 0.00 African American 7.99% 26.20% 0.30 0.00 African American 12.39%	3.26% 10.26% 0.32 0.00 Asian 13.63% 10.26% 1.33 0.00 Asian 11.96%	54.88% 15.24% 3.60 3.00 Hispanic or Latino 26.47% 15.24% 1.74 1.74 Hispanic or Latino 21.28%
Tract: 1020.02	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Ratio of Concentration (times Regional Average)	23.02% 13.80% 1.67 3.34 6.34 Low-Income 33.12% 13.80% 2.40 4.80 6.54 Low-Income 22.81% 13.80% 1.65	2.47% 26.20% 0.09 0.00 African American 7.99% 26.20% 0.30 0.00 African American 12.39% 26.20% 0.47	3.26% 10.26% 0.32 0.00 Asian 13.63% 10.26% 1.33 0.00 Asian 11.96% 10.26% 1.17	54.88% 15.24% 3.60 3.00 Hispanic or Latino 26.47% 15.24% 1.74 Hispanic or Latino 21.28% 15.24% 1.40
Tract: 1020.02	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	23.02% 13.80% 1.67 3.34 6.34 Low-Income 33.12% 13.80% 2.40 4.80 6.54 Low-Income 22.81% 13.80% 1.65 3.31	2.47% 26.20% 0.09 0.00 African American 7.99% 26.20% 0.30 African American 12.39% 26.20%	3.26% 10.26% 0.32 0.00 Asian 13.63% 10.26% 1.33 0.00 Asian 11.96% 10.26%	54.88% 15.24% 3.60 3.00 Hispanic or Latino 26.47% 15.24% 1.74 Hispanic or Latino 21.28% 15.24%
Tract: 1020.02	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Ratio of Concentration (times Regional Average)	23.02% 13.80% 1.67 3.34 6.34 Low-Income 33.12% 13.80% 2.40 4.80 6.54 Low-Income 22.81% 13.80% 1.65	2.47% 26.20% 0.09 0.00 African American 7.99% 26.20% 0.30 0.00 African American 12.39% 26.20% 0.47	3.26% 10.26% 0.32 0.00 Asian 13.63% 10.26% 1.33 0.00 Asian 11.96% 10.26% 1.17	54.88% 15.24% 3.60 3.00 Hispanic or Latino 26.47% 15.24% 1.74 Hispanic or Latino 21.28% 15.24% 1.40

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	36.32%	20.78%	7.87%	55.30%
1022	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.63	0.79	0.77	3.63
	(times Regional Average)				
	Index Score	5.26	0.00	0.00	3.00
	Total Index:	8.26			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	24.13%	3.18%	6.55%	38.74%
1023.02	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.75	0.12	0.64	2.54
	(times Regional Average)				
	Index Score	3.50	0.00	0.00	2.54
	Total Index:	6.04			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	33.77%	23.06%	12.92%	43.43%
1027.01	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.45	0.88	1.26	2.85
	(times Regional Average)				
	Index Score	4.89	0.00	0.00	2.85
	Total Index:	7.74			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	23.42%	18.59%	10.58%	32.69%
1028.01	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.70	0.71	1.03	2.14
	(times Regional Average)				
	Index Score	3.39	0.00	0.00	2.14
	Total Index:	5.54			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	29.30%	39.32%	6.60%	23.96%
1031	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.12	1.50	0.64	1.57
	(times Regional Average)				
	Index Score	4.25	1.50	0.00	1.57
	Total Index:	7.32			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	23.20%	9.54%	5.36%	14.12%
1034.01	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.68	0.36	0.52	0.93
	(times Regional Average)				
	Index Score	3.36	0.00	0.00	0.00
	Total Index:	3.36			

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	33.73%	16.02%	10.40%	31.73%
2001.02	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.44	0.61	1.01	2.08
	(times Regional Average)				
	Index Score	4.89	0.00	0.00	2.08
	Total Index:	6.97			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	23.60%	39.66%	8.61%	26.09%
2001.03	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.71	1.51	0.84	1.71
	(times Regional Average)				
	Index Score	3.42	1.51	0.00	1.71
	Total Index:	6.65			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	21.20%	27.34%	14.83%	29.53%
2001.04	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.54	1.04	1.45	1.94
	(times Regional Average)				
	Index Score	3.07	0.00	0.00	1.94
	Total Index:	5.01			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	28.03%	66.80%	4.78%	5.75%
2001.05	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.03	2.55	0.47	0.38
	(times Regional Average)				
	Index Score	4.06	2.55	0.00	0.00
	Total Index:	6.61			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	23.40%	28.80%	6.28%	16.82%
2003.03	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.70	1.10	0.61	1.10
	(times Regional Average)				
	Index Score	3.39	0.00	0.00	0.00
	Total Index:	3.39			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	22.73%	37.53%	8.46%	24.83%
2004.06	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.65	1.43	0.83	1.63
	(times Regional Average)				
	Index Score	3.29	0.00	0.00	1.63
	Total Index:	4.92			

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	21.93%	36.05%	5.62%	21.03%
2005	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.59	1.38	0.55	1.38
	(times Regional Average)				
	Index Score	3.18	0.00	0.00	0.00
	Total Index:	3.18			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	22.80%	31.93%	3.66%	3.33%
2007.03	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.65	1.22	0.36	0.22
	(times Regional Average)				
	Index Score	3.30	0.00	0.00	0.00
	Total Index:	3.30			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	35.84%	12.52%	4.39%	57.66%
2012.03	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.60	0.48	0.43	3.78
	(times Regional Average)				
	Index Score	5.19	0.00	0.00	3.00
	Total Index:	8.19			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	20.76%	28.56%	2.30%	1.97%
2016	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.50	1.09	0.22	0.13
	(times Regional Average)				
		2 04	0.00	0.00	0.00
	Index Score	3.01	0.00	0.00	0.00
	Index Score Total Index:	3.01	0.00	0.00	0.00
		3.01			
	Total Index:	3.01 Low-Income	African American	Asian	Hispanic or Latino
Tract:	Total Index: Tract Percent	3.01 Low-Income 21.27%	African American 24.20%	Asian 1.82%	Hispanic or Latino 4.75%
Tract: 2018.02	Tract Percent Regional Average	3.01 Low-Income 21.27% 13.80%	African American 24.20% 26.20%	Asian 1.82% 10.26%	Hispanic or Latino 4.75% 15.24%
	Tract Percent Regional Average Ratio of Concentration	3.01 Low-Income 21.27%	African American 24.20%	Asian 1.82%	Hispanic or Latino 4.75%
	Tract Percent Regional Average Ratio of Concentration (times Regional Average)	3.01 Low-Income 21.27% 13.80% 1.54	African American 24.20% 26.20% 0.92	Asian 1.82% 10.26% 0.18	Hispanic or Latino 4.75% 15.24% 0.31
	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	3.01 Low-Income 21.27% 13.80% 1.54 3.08	African American 24.20% 26.20%	Asian 1.82% 10.26%	Hispanic or Latino 4.75% 15.24%
	Tract Percent Regional Average Ratio of Concentration (times Regional Average)	3.01 Low-Income 21.27% 13.80% 1.54	African American 24.20% 26.20% 0.92	Asian 1.82% 10.26% 0.18	Hispanic or Latino 4.75% 15.24% 0.31
	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	3.01 Low-Income 21.27% 13.80% 1.54 3.08 3.08	African American 24.20% 26.20% 0.92	Asian 1.82% 10.26% 0.18	Hispanic or Latino 4.75% 15.24% 0.31
2018.02	Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	3.01 Low-Income 21.27% 13.80% 1.54 3.08 3.08 Low-Income	African American 24.20% 26.20% 0.92 0.00 African American	Asian 1.82% 10.26% 0.18 0.00	Hispanic or Latino 4.75% 15.24% 0.31 0.00 Hispanic or Latino
2018.02 Tract:	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	3.01 Low-Income 21.27% 13.80% 1.54 3.08 3.08 Low-Income 23.97%	African American 24.20% 26.20% 0.92 0.00 African American 5.30%	Asian 1.82% 10.26% 0.18 0.00 Asian 19.34%	Hispanic or Latino 4.75% 15.24% 0.31 0.00 Hispanic or Latino 8.52%
2018.02	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	3.01 Low-Income 21.27% 13.80% 1.54 3.08 3.08 Low-Income 23.97% 13.80%	African American 24.20% 26.20% 0.92 0.00 African American 5.30% 26.20%	Asian 1.82% 10.26% 0.18 0.00 Asian 19.34% 10.26%	Hispanic or Latino 4.75% 15.24% 0.31 0.00 Hispanic or Latino 8.52% 15.24%
2018.02 Tract:	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	3.01 Low-Income 21.27% 13.80% 1.54 3.08 3.08 Low-Income 23.97%	African American 24.20% 26.20% 0.92 0.00 African American 5.30%	Asian 1.82% 10.26% 0.18 0.00 Asian 19.34%	Hispanic or Latino 4.75% 15.24% 0.31 0.00 Hispanic or Latino 8.52%
2018.02 Tract:	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	3.01 Low-Income 21.27% 13.80% 1.54 3.08 3.08 Low-Income 23.97% 13.80% 1.74	African American 24.20% 26.20% 0.92 0.00 African American 5.30% 26.20% 0.20	Asian 1.82% 10.26% 0.18 0.00 Asian 19.34% 10.26% 1.89	Hispanic or Latino 4.75% 15.24% 0.31 0.00 Hispanic or Latino 8.52% 15.24% 0.56
2018.02 Tract:	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	3.01 Low-Income 21.27% 13.80% 1.54 3.08 Low-Income 23.97% 13.80% 1.74 3.47	African American 24.20% 26.20% 0.92 0.00 African American 5.30% 26.20%	Asian 1.82% 10.26% 0.18 0.00 Asian 19.34% 10.26%	Hispanic or Latino 4.75% 15.24% 0.31 0.00 Hispanic or Latino 8.52% 15.24%
2018.02 Tract:	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	3.01 Low-Income 21.27% 13.80% 1.54 3.08 3.08 Low-Income 23.97% 13.80% 1.74	African American 24.20% 26.20% 0.92 0.00 African American 5.30% 26.20% 0.20	Asian 1.82% 10.26% 0.18 0.00 Asian 19.34% 10.26% 1.89	Hispanic or Latino 4.75% 15.24% 0.31 0.00 Hispanic or Latino 8.52% 15.24% 0.56

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	24.32%	17.51%	10.28%	20.53%
4160	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.76	0.67	1.00	1.35
	(times Regional Average)				
	Index Score	3.52	0.00	0.00	0.00
	Total Index:	3.52			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	19.69%	14.12%	17.16%	34.09%
4201	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.43	0.54	1.67	2.24
	(times Regional Average)			-	
	Index Score	0.00	0.00	1.67	2.24
	Total Index:	3.91			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	15.57%	13.79%	15.71%	23.83%
4210.01	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.13	0.53	1.53	1.56
	(times Regional Average)				
	Index Score	0.00	0.00	1.53	1.56
	Total Index:	3.09			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	38.74%	20.27%	15.98%	33.55%
4214	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.81	0.77	1.56	2.20
	(times Regional Average)				
	Index Score	5.61	0.00	1.56	2.20
	Total Index:	9.37			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	27.82%	25.93%	11.04%	41.38%
4215	Regional Average	13.80%	26.20%	10.26%	15.24%
					0.70
	Ratio of Concentration	2.02	0.99	1.08	2.72
	Ratio of Concentration (times Regional Average)	2.02	0.99	1.08	2.72
		2.02	0.99	0.00	2.72
	(times Regional Average)				
	(times Regional Average) Index Score	4.03			
	(times Regional Average) Index Score Total Index:	4.03 6.75 Low-Income	0.00 African American	0.00 Asian	2.72 Hispanic or Latino
Tract:	(times Regional Average) Index Score	4.03 6.75	0.00	0.00	2.72
Tract: 4216	(times Regional Average) Index Score Total Index: Tract Percent Regional Average	4.03 6.75 Low-Income	0.00 African American	0.00 Asian	2.72 Hispanic or Latino
	(times Regional Average) Index Score Total Index: Tract Percent	4.03 6.75 Low-Income 27.45%	O.00 African American 33.10%	0.00 Asian 6.81%	2.72 Hispanic or Latino 45.03%
	(times Regional Average) Index Score Total Index: Tract Percent Regional Average	4.03 6.75 Low-Income 27.45% 13.80%	0.00 African American 33.10% 26.20%	0.00 Asian 6.81% 10.26%	2.72 Hispanic or Latino 45.03% 15.24%
	(times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	4.03 6.75 Low-Income 27.45% 13.80%	0.00 African American 33.10% 26.20%	0.00 Asian 6.81% 10.26%	2.72 Hispanic or Latino 45.03% 15.24%
	Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	4.03 6.75 Low-Income 27.45% 13.80% 1.99	0.00 African American 33.10% 26.20% 1.26	0.00 Asian 6.81% 10.26% 0.66	2.72 Hispanic or Latino 45.03% 15.24% 2.95

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	24.18%	31.34%	13.26%	36.38%
4217.01	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration (times Regional Average)	1.75	1.20	1.29	2.39
	Index Score	3.50	0.00	0.00	2.39
	Total Index:	5.89	0.00	0.00	2.55
	Total Index.	3.03			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	20.19%	4.19%	25.63%	46.26%
4306	Regional Average	13.80%	26.20%	10.26%	15.24%
.000	Ratio of Concentration	1.46	0.16	2.50	3.04
	(times Regional Average)	1.40	0.10	2.50	3.04
	Index Score	0.00	0.00	2.50	3.00
	Total Index:	5.50	0.00	2.50	3.00
	Total Illacki	3.30			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	9.02%	7.66%	20.89%	25.18%
4402.01	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	0.65	0.29	2.04	1.65
	(times Regional Average)	0.00	0.20		
	Index Score	0.00	0.00	2.04	1.65
	Total Index:	3.69			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	15.28%	2.13%	20.46%	29.05%
4406	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.11	0.08	2.00	1.91
	(times Regional Average)				
	Index Score	0.00	0.00	2.00	1.91
	Total Index:	3.90			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	13.34%	11.04%	19.27%	24.74%
4501	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	0.97	0.42	1.88	1.62
	(times Regional Average)				
	Index Score	0.00	0.00	1.88	1.62
	Total Index:	3.50			
	Total Index:	3.50 Low-Income	African American	Asian	Hispanic or Latino
Tract:	Total Index: Tract Percent	3.50 Low-Income 27.01%	African American 8.38%	17.20%	38.79%
Tract: 4502	Tract Percent Regional Average	3.50 Low-Income 27.01% 13.80%	African American 8.38% 26.20%	17.20% 10.26%	38.79% 15.24%
	Tract Percent Regional Average Ratio of Concentration	3.50 Low-Income 27.01%	African American 8.38%	17.20%	38.79%
	Tract Percent Regional Average Ratio of Concentration (times Regional Average)	3.50 Low-Income 27.01% 13.80% 1.96	African American 8.38% 26.20% 0.32	17.20% 10.26% 1.68	38.79% 15.24% 2.55
	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	3.50 Low-Income 27.01% 13.80% 1.96 3.91	African American 8.38% 26.20%	17.20% 10.26%	38.79% 15.24%
	Tract Percent Regional Average Ratio of Concentration (times Regional Average)	3.50 Low-Income 27.01% 13.80% 1.96	African American 8.38% 26.20% 0.32	17.20% 10.26% 1.68	38.79% 15.24% 2.55

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	11.44%	4.12%	16.39%	31.99%
4503	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	0.83	0.16	1.60	2.10
	(times Regional Average)				
	Index Score	0.00	0.00	1.60	2.10
	Total Index:	3.70			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	7.98%	2.27%	21.30%	42.09%
4505	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	0.58	0.09	2.08	2.76
	(times Regional Average)				
	Index Score	0.00	0.00	2.08	2.76
	Total Index:	4.84			l .
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	13.48%	5.06%	29.16%	31.13%
4506.02	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	0.98	0.19	2.84	2.04
	(times Regional Average)				
	Index Score	0.00	0.00	2.84	2.04
	Total Index:	4.89			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	35.27%	8.57%	14.76%	56.40%
4507.02	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.56	0.33	1.44	3.70
	(times Regional Average)				
	Index Score	5.11	0.00	0.00	3.00
	Total Index:	8.11			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	8.48%	5.43%	23.07%	24.28%
4508	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	0.61	0.21	2.25	1.59
	(times Regional Average)				
	Index Score	0.00	0.00	2.25	1.59
	Total Index:	3.84			
		Low-Income	African American	Asian	Hispanic or Latino
			C 220/	17.96%	53.25%
Tract:	Tract Percent	44.63%	6.32%	11.50%	
Tract: 4514	Tract Percent Regional Average	44.63% 13.80%	26.20%	10.26%	15.24%
	Regional Average	13.80%	26.20%	10.26%	15.24%
	Regional Average Ratio of Concentration	13.80%	26.20%	10.26%	15.24%
	Regional Average Ratio of Concentration (times Regional Average)	13.80% 3.23	26.20% 0.24	10.26% 1.75	15.24% 3.49

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	26.43%	16.09%	15.38%	27.36%
4515.01	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.92	0.61	1.50	1.79
	(times Regional Average)	2.22	2.22		4 = 0
	Index Score	3.83	0.00	0.00	1.79
	Total Index:	5.63			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	44.40%	1.45%	3.99%	82.85%
4516.01	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	3.22	0.06	0.39	5.44
	(times Regional Average)				
	Index Score	6.00	0.00	0.00	3.00
	Total Index:	9.00			
<u> </u>		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	10.84%	1.25%	17.51%	30.14%
4518	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	0.79	0.05	1.71	1.98
	(times Regional Average)				
	Index Score	0.00	0.00	1.71	1.98
	Total Index:	3.69			
		Low-Income	African American	Asian	Hispanic or Latino
_					
Tract:	Tract Percent	11.56%	15.09%	19.56%	29.81%
Tract: 4519	Regional Average	13.80%	26.20%	10.26%	29.81% 15.24%
	Regional Average Ratio of Concentration				29.81%
	Regional Average Ratio of Concentration (times Regional Average)	13.80% 0.84	26.20% 0.58	10.26% 1.91	29.81% 15.24% 1.96
	Regional Average Ratio of Concentration (times Regional Average) Index Score	13.80% 0.84 0.00	26.20%	10.26%	29.81% 15.24%
	Regional Average Ratio of Concentration (times Regional Average)	13.80% 0.84	26.20% 0.58	10.26% 1.91	29.81% 15.24% 1.96
	Regional Average Ratio of Concentration (times Regional Average) Index Score	13.80% 0.84 0.00 3.86	26.20% 0.58 0.00	10.26% 1.91 1.91	29.81% 15.24% 1.96
4519	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	13.80% 0.84 0.00 3.86	26.20% 0.58 0.00 African American	10.26% 1.91 1.91 Asian	29.81% 15.24% 1.96 1.96 Hispanic or Latino
4519 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	13.80% 0.84 0.00 3.86 Low-Income 17.96%	26.20% 0.58 0.00 African American 4.51%	10.26% 1.91 1.91 Asian 28.64%	29.81% 15.24% 1.96 1.96 Hispanic or Latino 28.36%
4519	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	13.80% 0.84 0.00 3.86 Low-Income 17.96% 13.80%	26.20% 0.58 0.00 African American 4.51% 26.20%	10.26% 1.91 1.91 Asian 28.64% 10.26%	29.81% 15.24% 1.96 1.96 Hispanic or Latino 28.36% 15.24%
4519 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	13.80% 0.84 0.00 3.86 Low-Income 17.96%	26.20% 0.58 0.00 African American 4.51%	10.26% 1.91 1.91 Asian 28.64%	29.81% 15.24% 1.96 1.96 Hispanic or Latino 28.36%
4519 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	13.80% 0.84 0.00 3.86 Low-Income 17.96% 13.80% 1.30	26.20% 0.58 0.00 African American 4.51% 26.20% 0.17	10.26% 1.91 1.91 Asian 28.64% 10.26% 2.79	29.81% 15.24% 1.96 1.96 Hispanic or Latino 28.36% 15.24% 1.86
4519 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	13.80% 0.84 0.00 3.86 Low-Income 17.96% 13.80% 1.30 0.00	26.20% 0.58 0.00 African American 4.51% 26.20%	10.26% 1.91 1.91 Asian 28.64% 10.26%	29.81% 15.24% 1.96 1.96 Hispanic or Latino 28.36% 15.24%
4519 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	13.80% 0.84 0.00 3.86 Low-Income 17.96% 13.80% 1.30	26.20% 0.58 0.00 African American 4.51% 26.20% 0.17	10.26% 1.91 1.91 Asian 28.64% 10.26% 2.79	29.81% 15.24% 1.96 1.96 Hispanic or Latino 28.36% 15.24% 1.86
4519 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	13.80%	26.20% 0.58 0.00 African American 4.51% 26.20% 0.17 0.00	10.26% 1.91 1.91 Asian 28.64% 10.26% 2.79	29.81% 15.24% 1.96 1.96 Hispanic or Latino 28.36% 15.24% 1.86
4519 Tract: 4521.02	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	13.80%	26.20% 0.58 0.00 African American 4.51% 26.20% 0.17 0.00 African American	10.26% 1.91 1.91 Asian 28.64% 10.26% 2.79 2.79	29.81% 15.24% 1.96 1.96 Hispanic or Latino 28.36% 15.24% 1.86 1.86 Hispanic or Latino
4519 Tract: 4521.02 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	13.80%	26.20% 0.58 0.00 African American 4.51% 26.20% 0.17 0.00 African American 6.75%	10.26% 1.91 1.91 Asian 28.64% 10.26% 2.79 2.79 Asian 24.77%	29.81% 15.24% 1.96 1.96 Hispanic or Latino 28.36% 15.24% 1.86 1.86 Hispanic or Latino 39.78%
4519 Tract: 4521.02	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	13.80%	26.20% 0.58 0.00 African American 4.51% 26.20% 0.17 0.00 African American 6.75% 26.20%	10.26% 1.91 1.91 Asian 28.64% 10.26% 2.79 2.79 Asian 24.77% 10.26%	29.81% 15.24% 1.96 1.96 Hispanic or Latino 28.36% 15.24% 1.86 Hispanic or Latino 39.78% 15.24%
4519 Tract: 4521.02 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	13.80%	26.20% 0.58 0.00 African American 4.51% 26.20% 0.17 0.00 African American 6.75%	10.26% 1.91 1.91 Asian 28.64% 10.26% 2.79 2.79 Asian 24.77%	29.81% 15.24% 1.96 1.96 Hispanic or Latino 28.36% 15.24% 1.86 Hispanic or Latino 39.78%
4519 Tract: 4521.02 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	13.80%	26.20% 0.58 0.00 African American 4.51% 26.20% 0.17 0.00 African American 6.75% 26.20% 0.26	10.26% 1.91 1.91 Asian 28.64% 10.26% 2.79 2.79 Asian 24.77% 10.26% 2.42	29.81% 15.24% 1.96 1.96 Hispanic or Latino 28.36% 15.24% 1.86 Hispanic or Latino 39.78% 15.24% 2.61
4519 Tract: 4521.02 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Ratio of Concentration (times Regional Average) Index Score	13.80%	26.20% 0.58 0.00 African American 4.51% 26.20% 0.17 0.00 African American 6.75% 26.20%	10.26% 1.91 1.91 Asian 28.64% 10.26% 2.79 2.79 Asian 24.77% 10.26%	29.81% 15.24% 1.96 1.96 Hispanic or Latino 28.36% 15.24% 1.86 Hispanic or Latino 39.78% 15.24%
4519 Tract: 4521.02 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	13.80%	26.20% 0.58 0.00 African American 4.51% 26.20% 0.17 0.00 African American 6.75% 26.20% 0.26	10.26% 1.91 1.91 Asian 28.64% 10.26% 2.79 2.79 Asian 24.77% 10.26% 2.42	29.81% 15.24% 1.96 1.96 Hispanic or Latino 28.36% 15.24% 1.86 Hispanic or Latino 39.78% 15.24% 2.61

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	25.21%	4.93%	27.75%	34.01%
4523.01	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.83	0.19	2.71	2.23
	(times Regional Average)				
	Index Score	3.65	0.00	2.71	2.23
	Total Index:	8.59			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	13.47%	9.82%	20.30%	43.95%
4523.02	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	0.98	0.37	1.98	2.88
	(times Regional Average)				
	Index Score	0.00	0.00	1.98	2.88
	Total Index:	4.86			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	11.92%	8.05%	23.55%	28.01%
4524	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	0.86	0.31	2.30	1.84
	(times Regional Average)				
	Index Score	0.00	0.00	2.30	1.84
	Total Index:	4.13			
		Low-Income	African American	Asian	Hispanic or Latino
					-
Tract:	Tract Percent	24.18%	6.64%	13.00%	29.05%
Tract: 4525.01	Regional Average	24.18% 13.80%	26.20%	10.26%	29.05% 15.24%
	Regional Average Ratio of Concentration				29.05%
	Regional Average Ratio of Concentration (times Regional Average)	13.80% 1.75	26.20% 0.25	10.26% 1.27	29.05% 15.24% 1.91
	Regional Average Ratio of Concentration (times Regional Average) Index Score	13.80% 1.75 3.50	26.20%	10.26%	29.05% 15.24%
	Regional Average Ratio of Concentration (times Regional Average)	13.80% 1.75	26.20% 0.25	10.26% 1.27	29.05% 15.24% 1.91
	Regional Average Ratio of Concentration (times Regional Average) Index Score	13.80% 1.75 3.50 5.41	26.20% 0.25 0.00	10.26% 1.27 0.00	29.05% 15.24% 1.91 1.91
4525.01	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	13.80% 1.75 3.50 5.41 Low-Income	26.20% 0.25 0.00 African American	10.26% 1.27 0.00 Asian	29.05% 15.24% 1.91 1.91 Hispanic or Latino
4525.01 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	13.80% 1.75 3.50 5.41 Low-Income 41.28%	26.20% 0.25 0.00 African American 35.44%	10.26% 1.27 0.00 Asian 19.60%	29.05% 15.24% 1.91 1.91 Hispanic or Latino 30.49%
4525.01	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	13.80% 1.75 3.50 5.41 Low-Income 41.28% 13.80%	26.20% 0.25 0.00 African American 35.44% 26.20%	10.26% 1.27 0.00 Asian 19.60% 10.26%	29.05% 15.24% 1.91 1.91 Hispanic or Latino 30.49% 15.24%
4525.01 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	13.80% 1.75 3.50 5.41 Low-Income 41.28%	26.20% 0.25 0.00 African American 35.44%	10.26% 1.27 0.00 Asian 19.60%	29.05% 15.24% 1.91 1.91 Hispanic or Latino 30.49%
4525.01 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	13.80% 1.75 3.50 5.41 Low-Income 41.28% 13.80% 2.99	26.20% 0.25 0.00 African American 35.44% 26.20% 1.35	10.26% 1.27 0.00 Asian 19.60% 10.26% 1.91	29.05% 15.24% 1.91 1.91 Hispanic or Latino 30.49% 15.24% 2.00
4525.01 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	13.80% 1.75 3.50 5.41 Low-Income 41.28% 13.80% 2.99	26.20% 0.25 0.00 African American 35.44% 26.20%	10.26% 1.27 0.00 Asian 19.60% 10.26%	29.05% 15.24% 1.91 1.91 Hispanic or Latino 30.49% 15.24%
4525.01 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	13.80% 1.75 3.50 5.41 Low-Income 41.28% 13.80% 2.99	26.20% 0.25 0.00 African American 35.44% 26.20% 1.35	10.26% 1.27 0.00 Asian 19.60% 10.26% 1.91	29.05% 15.24% 1.91 1.91 Hispanic or Latino 30.49% 15.24% 2.00
4525.01 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	13.80% 1.75 3.50 5.41 Low-Income 41.28% 13.80% 2.99 5.98	26.20% 0.25 0.00 African American 35.44% 26.20% 1.35 0.00	10.26% 1.27 0.00 Asian 19.60% 10.26% 1.91	29.05% 15.24% 1.91 1.91 Hispanic or Latino 30.49% 15.24% 2.00 2.00
4525.01 Tract: 4525.02	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	13.80% 1.75 3.50 5.41 Low-Income 41.28% 13.80% 2.99 5.98 9.89	26.20% 0.25 0.00 African American 35.44% 26.20% 1.35 0.00 African American	10.26% 1.27 0.00 Asian 19.60% 10.26% 1.91 1.91	29.05% 15.24% 1.91 1.91 Hispanic or Latino 30.49% 15.24% 2.00 2.00 Hispanic or Latino
4525.01 Tract: 4525.02 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	13.80% 1.75 3.50 5.41 Low-Income 41.28% 13.80% 2.99 5.98 9.89 Low-Income 30.26%	26.20% 0.25 0.00 African American 35.44% 26.20% 1.35 0.00 African American 28.37%	10.26% 1.27 0.00 Asian 19.60% 10.26% 1.91 1.91 Asian 12.08%	29.05% 15.24% 1.91 1.91 Hispanic or Latino 30.49% 15.24% 2.00 2.00 Hispanic or Latino 33.34%
4525.01 Tract: 4525.02	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	13.80% 1.75 3.50 5.41 Low-Income 41.28% 13.80% 2.99 5.98 9.89 Low-Income 30.26% 13.80%	26.20% 0.25 0.00 African American 35.44% 26.20% 1.35 0.00 African American 28.37% 26.20%	10.26% 1.27 0.00 Asian 19.60% 10.26% 1.91 Asian 12.08% 10.26%	29.05% 15.24% 1.91 1.91 Hispanic or Latino 30.49% 15.24% 2.00 Hispanic or Latino 33.34% 15.24%
4525.01 Tract: 4525.02 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	13.80% 1.75 3.50 5.41 Low-Income 41.28% 13.80% 2.99 5.98 9.89 Low-Income 30.26%	26.20% 0.25 0.00 African American 35.44% 26.20% 1.35 0.00 African American 28.37%	10.26% 1.27 0.00 Asian 19.60% 10.26% 1.91 1.91 Asian 12.08%	29.05% 15.24% 1.91 1.91 Hispanic or Latino 30.49% 15.24% 2.00 2.00 Hispanic or Latino 33.34%
4525.01 Tract: 4525.02 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	13.80% 1.75 3.50 5.41 Low-Income 41.28% 13.80% 2.99 5.98 Low-Income 30.26% 13.80% 2.19	26.20% 0.25 0.00 African American 35.44% 26.20% 1.35 0.00 African American 28.37% 26.20% 1.08	10.26% 1.27 0.00 Asian 19.60% 10.26% 1.91 1.91 Asian 12.08% 10.26% 1.18	29.05% 15.24% 1.91 1.91 Hispanic or Latino 30.49% 2.00 Hispanic or Latino 33.34% 2.19
4525.01 Tract: 4525.02 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Index Score Total Index:	13.80% 1.75 3.50 5.41 Low-Income 41.28% 13.80% 2.99 5.98 9.89 Low-Income 30.26% 13.80% 2.19 4.39	26.20% 0.25 0.00 African American 35.44% 26.20% 1.35 0.00 African American 28.37% 26.20%	10.26% 1.27 0.00 Asian 19.60% 10.26% 1.91 Asian 12.08% 10.26%	29.05% 15.24% 1.91 1.91 Hispanic or Latino 30.49% 15.24% 2.00 Hispanic or Latino 33.34% 15.24%
4525.01 Tract: 4525.02 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	13.80% 1.75 3.50 5.41 Low-Income 41.28% 13.80% 2.99 5.98 Low-Income 30.26% 13.80% 2.19	26.20% 0.25 0.00 African American 35.44% 26.20% 1.35 0.00 African American 28.37% 26.20% 1.08	10.26% 1.27 0.00 Asian 19.60% 10.26% 1.91 1.91 Asian 12.08% 10.26% 1.18	29.05% 15.24% 1.91 1.91 Hispanic or Latino 30.49% 2.00 Hispanic or Latino 33.34% 15.24% 2.19

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	33.07%	22.98%	14.46%	12.42%
4528.01	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.40	0.88	1.41	0.81
	(times Regional Average)				
	Index Score	4.79	0.00	0.00	0.00
	Total Index:	4.79			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	28.02%	21.25%	4.57%	9.98%
4528.02	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.03	0.81	0.45	0.66
	(times Regional Average)				
	Index Score	4.06	0.00	0.00	0.00
	Total Index:	4.06			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	22.34%	16.77%	23.11%	6.55%
4618.01	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.62	0.64	2.25	0.43
	(times Regional Average)				
	Index Score	3.24	0.00	2.25	0.00
	Total Index:	5.49			
		Low-Income	African American	Asian	Hispanic or Latino
					-
Tract:	Tract Percent	30.77%	13.72%	15.02%	40.85%
Tract: 4619.02	Regional Average	30.77% 13.80%	13.72% 26.20%	15.02% 10.26%	40.85% 15.24%
	Regional Average Ratio of Concentration	30.77%	13.72%	15.02%	40.85%
	Regional Average Ratio of Concentration (times Regional Average)	30.77% 13.80% 2.23	13.72% 26.20% 0.52	15.02% 10.26% 1.46	40.85% 15.24% 2.68
	Regional Average Ratio of Concentration (times Regional Average) Index Score	30.77% 13.80% 2.23 4.46	13.72% 26.20%	15.02% 10.26%	40.85% 15.24%
	Regional Average Ratio of Concentration (times Regional Average)	30.77% 13.80% 2.23	13.72% 26.20% 0.52	15.02% 10.26% 1.46	40.85% 15.24% 2.68
	Regional Average Ratio of Concentration (times Regional Average) Index Score	30.77% 13.80% 2.23 4.46 7.14	13.72% 26.20% 0.52	15.02% 10.26% 1.46 0.00	40.85% 15.24% 2.68 2.68
4619.02	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	30.77% 13.80% 2.23 4.46 7.14 Low-Income	13.72% 26.20% 0.52 0.00	15.02% 10.26% 1.46 0.00	40.85% 15.24% 2.68 2.68 Hispanic or Latino
4619.02 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	30.77% 13.80% 2.23 4.46 7.14 Low-Income 15.04%	13.72% 26.20% 0.52 0.00 African American 2.60%	15.02% 10.26% 1.46 0.00 Asian 18.46%	40.85% 15.24% 2.68 2.68 Hispanic or Latino 24.53%
4619.02	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	30.77% 13.80% 2.23 4.46 7.14 Low-Income 15.04% 13.80%	13.72% 26.20% 0.52 0.00 African American 2.60% 26.20%	15.02% 10.26% 1.46 0.00 Asian 18.46% 10.26%	40.85% 15.24% 2.68 2.68 Hispanic or Latino 24.53% 15.24%
4619.02 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	30.77% 13.80% 2.23 4.46 7.14 Low-Income 15.04%	13.72% 26.20% 0.52 0.00 African American 2.60%	15.02% 10.26% 1.46 0.00 Asian 18.46%	40.85% 15.24% 2.68 2.68 Hispanic or Latino 24.53%
4619.02 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	30.77% 13.80% 2.23 4.46 7.14 Low-Income 15.04% 13.80% 1.09	13.72% 26.20% 0.52 0.00 African American 2.60% 26.20% 0.10	15.02% 10.26% 1.46 0.00 Asian 18.46% 10.26% 1.80	40.85% 15.24% 2.68 2.68 Hispanic or Latino 24.53% 15.24% 1.61
4619.02 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	30.77% 13.80% 2.23 4.46 7.14 Low-Income 15.04% 13.80% 1.09	13.72% 26.20% 0.52 0.00 African American 2.60% 26.20%	15.02% 10.26% 1.46 0.00 Asian 18.46% 10.26%	40.85% 15.24% 2.68 2.68 Hispanic or Latino 24.53% 15.24%
4619.02 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	30.77% 13.80% 2.23 4.46 7.14 Low-Income 15.04% 13.80% 1.09	13.72% 26.20% 0.52 0.00 African American 2.60% 26.20% 0.10	15.02% 10.26% 1.46 0.00 Asian 18.46% 10.26% 1.80	40.85% 15.24% 2.68 2.68 Hispanic or Latino 24.53% 15.24% 1.61
4619.02 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	30.77% 13.80% 2.23 4.46 7.14 Low-Income 15.04% 13.80% 1.09 0.00 3.41	13.72% 26.20% 0.52 0.00 African American 2.60% 26.20% 0.10	15.02% 10.26% 1.46 0.00 Asian 18.46% 10.26% 1.80	40.85% 15.24% 2.68 2.68 Hispanic or Latino 24.53% 15.24% 1.61 1.61
4619.02 Tract: 4712.02	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	30.77% 13.80% 2.23 4.46 7.14 Low-Income 15.04% 13.80% 1.09 0.00 3.41 Low-Income	13.72% 26.20% 0.52 0.00 African American 2.60% 26.20% 0.10 0.00 African American	15.02% 10.26% 1.46 0.00 Asian 18.46% 10.26% 1.80	40.85% 15.24% 2.68 2.68 Hispanic or Latino 24.53% 15.24% 1.61 1.61 Hispanic or Latino
Tract: 4712.02	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	30.77% 13.80% 2.23 4.46 7.14 Low-Income 15.04% 13.80% 1.09 0.00 3.41 Low-Income 24.05%	13.72% 26.20% 0.52 0.00 African American 2.60% 26.20% 0.10 0.00 African American 2.71%	15.02% 10.26% 1.46 0.00 Asian 18.46% 10.26% 1.80 1.80 Asian 34.21%	40.85% 15.24% 2.68 2.68 Hispanic or Latino 24.53% 15.24% 1.61 1.61 Hispanic or Latino 23.37%
4619.02 Tract: 4712.02	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	30.77% 13.80% 2.23 4.46 7.14 Low-Income 15.04% 13.80% 1.09 0.00 3.41 Low-Income 24.05% 13.80%	13.72% 26.20% 0.52 0.00 African American 2.60% 26.20% 0.10 African American 2.71% 26.20%	15.02% 10.26% 1.46 0.00 Asian 18.46% 10.26% 1.80 Asian 34.21% 10.26%	40.85% 15.24% 2.68 2.68 Hispanic or Latino 24.53% 15.24% 1.61 Hispanic or Latino 23.37% 15.24%
Tract: 4712.02	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	30.77% 13.80% 2.23 4.46 7.14 Low-Income 15.04% 13.80% 1.09 0.00 3.41 Low-Income 24.05%	13.72% 26.20% 0.52 0.00 African American 2.60% 26.20% 0.10 0.00 African American 2.71%	15.02% 10.26% 1.46 0.00 Asian 18.46% 10.26% 1.80 1.80 Asian 34.21%	40.85% 15.24% 2.68 2.68 Hispanic or Latino 24.53% 15.24% 1.61 1.61 Hispanic or Latino 23.37%
Tract: 4712.02	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	30.77% 13.80% 2.23 4.46 7.14 Low-Income 15.04% 13.80% 1.09 0.00 3.41 Low-Income 24.05% 13.80% 1.74	13.72% 26.20% 0.52 0.00 African American 2.60% 26.20% 0.10 African American 2.71% 26.20% 0.10	15.02% 10.26% 1.46 0.00 Asian 18.46% 10.26% 1.80 Asian 34.21% 10.26% 3.34	40.85% 15.24% 2.68 2.68 Hispanic or Latino 24.53% 15.24% 1.61 Hispanic or Latino 23.37% 15.24% 1.53
Tract: 4712.02	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	30.77% 13.80% 2.23 4.46 7.14 Low-Income 15.04% 13.80% 1.09 0.00 3.41 Low-Income 24.05% 13.80% 1.74 3.49	13.72% 26.20% 0.52 0.00 African American 2.60% 26.20% 0.10 African American 2.71% 26.20%	15.02% 10.26% 1.46 0.00 Asian 18.46% 10.26% 1.80 Asian 34.21% 10.26%	40.85% 15.24% 2.68 2.68 Hispanic or Latino 24.53% 15.24% 1.61 Hispanic or Latino 23.37% 15.24%
Tract: 4712.02	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	30.77% 13.80% 2.23 4.46 7.14 Low-Income 15.04% 13.80% 1.09 0.00 3.41 Low-Income 24.05% 13.80% 1.74	13.72% 26.20% 0.52 0.00 African American 2.60% 26.20% 0.10 African American 2.71% 26.20% 0.10	15.02% 10.26% 1.46 0.00 Asian 18.46% 10.26% 1.80 Asian 34.21% 10.26% 3.34	40.85% 15.24% 2.68 2.68 Hispanic or Latino 24.53% 15.24% 1.61 Hispanic or Latino 23.37% 15.24% 1.53

Tract: 4809.01 Tract: 4809.01	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	23.80% 13.80% 1.72 3.45 7.97 Low-Income 21.57% 13.80% 1.56	9.50% 26.20% 0.36 0.00 African American 10.19% 26.20% 0.39	21.11% 10.26% 2.06 2.06 Asian 13.97% 10.26%	Hispanic or Latino 37.60% 15.24% 2.47 2.47 Hispanic or Latino 37.22%
Tract: 4809.01 Tract: 4809.01	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	1.72 3.45 7.97 Low-Income 21.57% 13.80% 1.56 3.13	0.36 0.00 African American 10.19% 26.20%	2.06 2.06 Asian 13.97% 10.26%	2.47 2.47 Hispanic or Latino 37.22%
Tract: 4809.01 Tract: 4809.01	(times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	3.45 7.97 Low-Income 21.57% 13.80% 1.56 3.13	0.00 African American 10.19% 26.20%	2.06 Asian 13.97% 10.26%	2.47 Hispanic or Latino 37.22%
Tract: 4809.01 Tract: 4809.01	Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	7.97 Low-Income 21.57% 13.80% 1.56 3.13	African American 10.19% 26.20%	Asian 13.97% 10.26%	Hispanic or Latino 37.22%
Tract: 4809.01 Tract: 4809.01	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	7.97 Low-Income 21.57% 13.80% 1.56 3.13	African American 10.19% 26.20%	Asian 13.97% 10.26%	Hispanic or Latino 37.22%
Tract: 4809.01 Tract: 4809.02	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	Low-Income 21.57% 13.80% 1.56	10.19% 26.20%	13.97% 10.26%	37.22%
Tract: 4809.01 Tract: 4809.02	Regional Average Ratio of Concentration (times Regional Average) Index Score	21.57% 13.80% 1.56	10.19% 26.20%	13.97% 10.26%	37.22%
Tract: 4809.01 Tract: 4809.02	Regional Average Ratio of Concentration (times Regional Average) Index Score	21.57% 13.80% 1.56	10.19% 26.20%	13.97% 10.26%	37.22%
Tract: 4809.01 Tract: 4809.02	Ratio of Concentration (times Regional Average) Index Score	1.56 3.13			45 040/
Tract: 4809.01 Tract: 4809.02	Ratio of Concentration (times Regional Average) Index Score	3.13	0.39	4.00	15.24%
Tract: 4809.01 Tract: 4809.02	Index Score			1.36	2.44
Tract: 4809.02	Total Index:		0.00	0.00	2.44
Tract: 4809.02		5.57		<u> </u>	
Tract: 4809.02					
Tract: 4809.02		Low-Income	African American	Asian	Hispanic or Latino
Tract: 4809.02	Tract Percent	11.16%	14.99%	16.28%	40.74%
Tract: 4809.02	Regional Average	13.80%	26.20%	10.26%	15.24%
Tract: 4809.02	Ratio of Concentration	0.81	0.57	1.59	2.67
Tract: 4809.02	(times Regional Average)				
4809.02	Index Score	0.00	0.00	1.59	2.67
4809.02	Total Index:	4.26			
4809.02					
4809.02		Low-Income	African American	Asian	Hispanic or Latino
	Tract Percent	21.92%	5.20%	16.24%	34.46%
	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.59	0.20	1.58	2.26
	(times Regional Average)	0.40	0.00	4.50	0.00
	Index Score	3.18	0.00	1.58	2.26
	Total Index:	7.02			
		l avvila a ava a	African Ansanican	A = : = :=	
Tuest	Tue et Deve ent	Low-Income	African American	Asian 27.46%	Hispanic or Latino
	Tract Percent	15.64%	6.20%		34.26%
	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration (times Regional Average)	1.13	0.24	2.68	2.25
	Index Score	0.00	0.00	2.68	2.25
	Total Index:	4.93	0.00	2.00	2.25
	Total Illuex.	4.33			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	9.42%	11.38%	20.63%	35.90%
	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	0.68	0.43	2.01	2.36
		0.50	0.10	2.51	2.00
	,	0.00	0.00	2.01	2.36
	Index Score	4.37			
	Index Score Total Index:				
	(times Regional Average)	0.00			

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	37.62%	14.10%	7.25%	28.32%
4822.01	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.73	0.54	0.71	1.86
	(times Regional Average) Index Score	5.45	0.00	0.00	1.86
	Total Index:	7.31	0.00	0.00	1.00
	Total index.	7.31			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	20.82%	17.26%	13.89%	37.59%
4823.02	Regional Average	13.80%	26.20%	10.26%	15.24%
+020.02	Ratio of Concentration	1.51	0.66	1.35	2.47
	(times Regional Average)	1.51	0.00	1.55	2.41
	Index Score	3.02	0.00	0.00	2.47
	Total Index:	5.48	0.00	0.00	۷.٦١
	Total Illacki	0.40			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	21.86%	6.45%	36.02%	15.35%
4912.02	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.58	0.25	3.51	1.01
	(times Regional Average)		5.25	0.0_	
	Index Score	3.17	0.00	3.00	0.00
	Total Index:	6.17			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	11.78%	8.46%	27.61%	23.55%
	Tract Percent	11.70/0	0.4070	21.01/0	23.55/6
4913.01	Regional Average	13.80%	26.20%	10.26%	15.24%
	Regional Average Ratio of Concentration				
	Regional Average Ratio of Concentration (times Regional Average)	13.80% 0.85	26.20% 0.32	10.26% 2.69	15.24% 1.54
	Regional Average Ratio of Concentration (times Regional Average) Index Score	13.80% 0.85 0.00	26.20%	10.26%	15.24%
	Regional Average Ratio of Concentration (times Regional Average)	13.80% 0.85	26.20% 0.32	10.26% 2.69	15.24% 1.54
	Regional Average Ratio of Concentration (times Regional Average) Index Score	13.80% 0.85 0.00 4.24	26.20% 0.32 0.00	10.26% 2.69 2.69	15.24% 1.54 1.54
4913.01	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	13.80% 0.85 0.00 4.24 Low-Income	26.20% 0.32 0.00 African American	10.26% 2.69 2.69 Asian	15.24% 1.54 1.54 Hispanic or Latino
4913.01 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	13.80% 0.85 0.00 4.24 Low-Income 12.31%	26.20% 0.32 0.00 African American 12.52%	10.26% 2.69 2.69 Asian 26.71%	15.24% 1.54 1.54 Hispanic or Latino 29.25%
4913.01	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	13.80% 0.85 0.00 4.24 Low-Income 12.31% 13.80%	26.20% 0.32 0.00 African American	10.26% 2.69 2.69 Asian 26.71% 10.26%	15.24% 1.54 1.54 Hispanic or Latino 29.25% 15.24%
4913.01 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	13.80% 0.85 0.00 4.24 Low-Income 12.31%	26.20% 0.32 0.00 African American 12.52%	10.26% 2.69 2.69 Asian 26.71%	15.24% 1.54 1.54 Hispanic or Latino 29.25%
4913.01 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	13.80% 0.85 0.00 4.24 Low-Income 12.31% 13.80% 0.89	26.20% 0.32 0.00 African American 12.52% 26.20% 0.48	10.26% 2.69 2.69 Asian 26.71% 10.26% 2.60	15.24% 1.54 1.54 Hispanic or Latino 29.25% 15.24% 1.92
4913.01 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	13.80% 0.85 0.00 4.24 Low-Income 12.31% 13.80% 0.89	26.20% 0.32 0.00 African American 12.52% 26.20%	10.26% 2.69 2.69 Asian 26.71% 10.26%	15.24% 1.54 1.54 Hispanic or Latino 29.25% 15.24%
4913.01 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	13.80% 0.85 0.00 4.24 Low-Income 12.31% 13.80% 0.89	26.20% 0.32 0.00 African American 12.52% 26.20% 0.48	10.26% 2.69 2.69 Asian 26.71% 10.26% 2.60	15.24% 1.54 1.54 Hispanic or Latino 29.25% 15.24% 1.92
4913.01 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	13.80% 0.85 0.00 4.24 Low-Income 12.31% 13.80% 0.89 0.00 4.52	26.20% 0.32 0.00 African American 12.52% 26.20% 0.48	10.26% 2.69 2.69 Asian 26.71% 10.26% 2.60	15.24% 1.54 1.54 Hispanic or Latino 29.25% 15.24% 1.92
4913.01 Tract: 4913.03	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	13.80% 0.85 0.00 4.24 Low-Income 12.31% 13.80% 0.89 0.00 4.52 Low-Income	26.20% 0.32 0.00 African American 12.52% 26.20% 0.48 0.00 African American	10.26% 2.69 2.69 Asian 26.71% 10.26% 2.60 2.60	15.24% 1.54 1.54 Hispanic or Latino 29.25% 15.24% 1.92 1.92 Hispanic or Latino
4913.01 Tract: 4913.03 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	13.80% 0.85 0.00 4.24 Low-Income 12.31% 13.80% 0.89 0.00 4.52 Low-Income 26.71%	26.20% 0.32 0.00 African American 12.52% 26.20% 0.48 0.00 African American 13.67%	10.26% 2.69 2.69 Asian 26.71% 10.26% 2.60 2.60 Asian 27.97%	15.24% 1.54 1.54 Hispanic or Latino 29.25% 15.24% 1.92 1.92 Hispanic or Latino 18.95%
4913.01 Tract: 4913.03	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	13.80% 0.85 0.00 4.24 Low-Income 12.31% 13.80% 0.89 0.00 4.52 Low-Income 26.71% 13.80%	26.20% 0.32 0.00 African American 12.52% 26.20% 0.48 0.00 African American 13.67% 26.20%	10.26% 2.69 2.69 Asian 26.71% 10.26% 2.60 2.60 Asian 27.97% 10.26%	15.24% 1.54 1.54 Hispanic or Latino 29.25% 15.24% 1.92 Hispanic or Latino 18.95% 15.24%
4913.01 Tract: 4913.03 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	13.80% 0.85 0.00 4.24 Low-Income 12.31% 13.80% 0.89 0.00 4.52 Low-Income 26.71%	26.20% 0.32 0.00 African American 12.52% 26.20% 0.48 0.00 African American 13.67%	10.26% 2.69 2.69 Asian 26.71% 10.26% 2.60 2.60 Asian 27.97%	15.24% 1.54 1.54 Hispanic or Latino 29.25% 15.24% 1.92 1.92 Hispanic or Latino 18.95%
4913.01 Tract: 4913.03 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	13.80% 0.85 0.00 4.24 Low-Income 12.31% 13.80% 0.89 0.00 4.52 Low-Income 26.71% 13.80% 1.94	26.20% 0.32 0.00 African American 12.52% 26.20% 0.48 0.00 African American 13.67% 26.20% 0.52	10.26%	15.24% 1.54 1.54 Hispanic or Latino 29.25% 15.24% 1.92 Hispanic or Latino 18.95% 15.24% 1.24
4913.01 Tract: 4913.03 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Index Score Total Index:	13.80%	26.20% 0.32 0.00 African American 12.52% 26.20% 0.48 0.00 African American 13.67% 26.20%	10.26% 2.69 2.69 Asian 26.71% 10.26% 2.60 2.60 Asian 27.97% 10.26%	15.24% 1.54 1.54 Hispanic or Latino 29.25% 15.24% 1.92 Hispanic or Latino 18.95% 15.24%
4913.01 Tract: 4913.03 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	13.80% 0.85 0.00 4.24 Low-Income 12.31% 13.80% 0.89 0.00 4.52 Low-Income 26.71% 13.80% 1.94	26.20% 0.32 0.00 African American 12.52% 26.20% 0.48 0.00 African American 13.67% 26.20% 0.52	10.26%	15.24% 1.54 1.54 Hispanic or Latino 29.25% 15.24% 1.92 Hispanic or Latino 18.95% 15.24% 1.24

Low-Income African American Asian Hispa	anic or Latino
Tract: Tract Percent 21.01% 5.83% 28.24%	24.53%
4916.02 Regional Average 13.80% 26.20% 10.26%	15.24%
Ratio of Concentration 1.52 0.22 2.75	1.61
(times Regional Average)	
Index Score 3.04 0.00 2.75	1.61
Total Index: 7.41	
Low-Income African American Asian Hisp	anic or Latino
Tract: Tract Percent 32.18% 6.76% 8.81%	58.52%
6105.05 Regional Average 13.80% 26.20% 10.26%	15.24%
Ratio of Concentration 2.33 0.26 0.86	3.84
(times Regional Average)	
Index Score 4.66 0.00 0.00	3.00
Total Index: 7.66	
Low-Income African American Asian Hisp	anic or Latino
Tract: Tract Percent 17.62% 8.48% 16.44%	26.64%
6105.06 Regional Average 13.80% 26.20% 10.26%	15.24%
Ratio of Concentration 1.28 0.32 1.60	1.75
(times Regional Average)	
Index Score 0.00 0.00 1.60	1.75
Total Index: 3.35	
Low-Income African American Asian Hisp	anic or Latino
Tract: Tract Percent 23.35% 13.69% 17.07%	27.92%
6115.01 Regional Average 13.80% 26.20% 10.26%	15.24%
Ratio of Concentration 1.69 0.52 1.66	1.83
(times Regional Average)	
Index Score 3.38 0.00 1.66	1.83
Total Index: 6.88	
Low-Income African American Asian Hisp	anic or Latino
Tract: Tract Percent 14.74% 7.36% 17.48%	36.54%
6117 Regional Average 13.80% 26.20% 10.26%	15.24%
Ratio of Concentration 1.07 0.28 1.70	2.40
(times Regional Average)	
Index Score 0.00 0.00 1.70	2.40
Total Index: 4.10	
Low-Income African American Asian Hisp	anic or Latino
Tract: Tract Percent 20.31% 7.29% 27.34%	29.22%
7007.04 Regional Average 13.80% 26.20% 10.26%	15.24%
7007.04 Regional Average 13.80% 26.20% 10.26% Ratio of Concentration 1.47 0.28 2.67	15.24% 1.92
Ratio of Concentration 1.47 0.28 2.67	
Ratio of Concentration 1.47 0.28 2.67 (times Regional Average)	1.92

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	16.31%	20.78%	19.78%	27.37%
7007.06	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.18	0.79	1.93	1.80
	(times Regional Average)				
	Index Score	0.00	0.00	1.93	1.80
	Total Index:	3.72			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	27.31%	22.52%	18.60%	43.98%
7007.13	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.98	0.86	1.81	2.89
	(times Regional Average)				
	Index Score	3.96	0.00	1.81	2.89
	Total Index:	8.66			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	7.75%	23.90%	18.59%	27.12%
7007.15	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	0.56	0.91	1.81	1.78
	(times Regional Average)				
	Index Score	0.00	0.00	1.81	1.78
	Total Index:	3.59			
		Lourlnoonso	1 fui a a la 1 la a ui a a la	A a i a .a	1.12 2 1 12
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	12.72%	17.20%	16.99%	28.77%
Tract: 7007.16	Tract Percent Regional Average				
	Regional Average Ratio of Concentration	12.72%	17.20%	16.99%	28.77%
	Regional Average Ratio of Concentration (times Regional Average)	12.72% 13.80% 0.92	17.20% 26.20% 0.66	16.99% 10.26% 1.66	28.77% 15.24% 1.89
	Regional Average Ratio of Concentration (times Regional Average) Index Score	12.72% 13.80% 0.92	17.20% 26.20%	16.99% 10.26%	28.77% 15.24%
	Regional Average Ratio of Concentration (times Regional Average)	12.72% 13.80% 0.92	17.20% 26.20% 0.66	16.99% 10.26% 1.66	28.77% 15.24% 1.89
	Regional Average Ratio of Concentration (times Regional Average) Index Score	12.72% 13.80% 0.92 0.00 3.54	17.20% 26.20% 0.66	16.99% 10.26% 1.66 1.66	28.77% 15.24% 1.89 1.89
7007.16	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	12.72% 13.80% 0.92 0.00 3.54	17.20% 26.20% 0.66 0.00	16.99% 10.26% 1.66 1.66	28.77% 15.24% 1.89 1.89
7007.16 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	12.72% 13.80% 0.92 0.00 3.54 Low-Income 30.70%	17.20% 26.20% 0.66 0.00 African American 20.91%	16.99% 10.26% 1.66 1.66 Asian 14.00%	28.77% 15.24% 1.89 1.89 Hispanic or Latino 41.19%
7007.16	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	12.72% 13.80% 0.92 0.00 3.54 Low-Income 30.70% 13.80%	17.20% 26.20% 0.66 0.00 African American 20.91% 26.20%	16.99% 10.26% 1.66 1.66 Asian 14.00% 10.26%	28.77% 15.24% 1.89 1.89 Hispanic or Latino 41.19% 15.24%
7007.16 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	12.72% 13.80% 0.92 0.00 3.54 Low-Income 30.70%	17.20% 26.20% 0.66 0.00 African American 20.91%	16.99% 10.26% 1.66 1.66 Asian 14.00%	28.77% 15.24% 1.89 1.89 Hispanic or Latino 41.19%
7007.16 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	12.72% 13.80% 0.92 0.00 3.54 Low-Income 30.70% 13.80% 2.22	17.20% 26.20% 0.66 0.00 African American 20.91% 26.20% 0.80	16.99% 10.26% 1.66 1.66 Asian 14.00% 10.26% 1.36	28.77% 15.24% 1.89 1.89 Hispanic or Latino 41.19% 15.24% 2.70
7007.16 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	12.72% 13.80% 0.92 0.00 3.54 Low-Income 30.70% 13.80% 2.22	17.20% 26.20% 0.66 0.00 African American 20.91% 26.20%	16.99% 10.26% 1.66 1.66 Asian 14.00% 10.26%	28.77% 15.24% 1.89 1.89 Hispanic or Latino 41.19% 15.24%
7007.16 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	12.72% 13.80% 0.92 0.00 3.54 Low-Income 30.70% 13.80% 2.22	17.20% 26.20% 0.66 0.00 African American 20.91% 26.20% 0.80	16.99% 10.26% 1.66 1.66 Asian 14.00% 10.26% 1.36	28.77% 15.24% 1.89 1.89 Hispanic or Latino 41.19% 15.24% 2.70
7007.16 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	12.72% 13.80% 0.92 0.00 3.54 Low-Income 30.70% 13.80% 2.22 4.45 7.15	17.20% 26.20% 0.66 0.00 African American 20.91% 26.20% 0.80 0.00	16.99% 10.26% 1.66 1.66 Asian 14.00% 10.26% 1.36 0.00	28.77% 15.24% 1.89 1.89 Hispanic or Latino 41.19% 15.24% 2.70
7007.16 Tract: 7007.19	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	12.72% 13.80% 0.92 0.00 3.54 Low-Income 30.70% 13.80% 2.22 4.45 7.15 Low-Income	17.20% 26.20% 0.66 0.00 African American 20.91% 26.20% 0.80 0.00 African American	16.99% 10.26% 1.66 1.66 Asian 14.00% 10.26% 1.36 0.00 Asian	28.77% 15.24% 1.89 1.89 Hispanic or Latino 41.19% 15.24% 2.70 2.70 Hispanic or Latino
7007.16 Tract: 7007.19 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	12.72% 13.80% 0.92 0.00 3.54 Low-Income 30.70% 13.80% 2.22 4.45 7.15 Low-Income 23.80%	17.20% 26.20% 0.66 0.00 African American 20.91% 26.20% 0.80 0.00 African American 24.36%	16.99% 10.26% 1.66 1.66 Asian 14.00% 10.26% 1.36 0.00 Asian 18.81%	28.77% 15.24% 1.89 1.89 Hispanic or Latino 41.19% 15.24% 2.70 2.70 Hispanic or Latino 20.38%
7007.16 Tract: 7007.19	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	12.72% 13.80% 0.92 0.00 3.54 Low-Income 30.70% 13.80% 2.22 4.45 7.15 Low-Income 23.80% 13.80%	17.20% 26.20% 0.66 0.00 African American 20.91% 26.20% 0.80 African American 24.36% 26.20%	16.99% 10.26% 1.66 1.66 Asian 14.00% 10.26% 1.36 0.00 Asian 18.81% 10.26%	28.77% 15.24% 1.89 1.89 Hispanic or Latino 41.19% 15.24% 2.70 2.70 Hispanic or Latino 20.38% 15.24%
7007.16 Tract: 7007.19 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	12.72% 13.80% 0.92 0.00 3.54 Low-Income 30.70% 13.80% 2.22 4.45 7.15 Low-Income 23.80%	17.20% 26.20% 0.66 0.00 African American 20.91% 26.20% 0.80 0.00 African American 24.36%	16.99% 10.26% 1.66 1.66 Asian 14.00% 10.26% 1.36 0.00 Asian 18.81%	28.77% 15.24% 1.89 1.89 Hispanic or Latino 41.19% 15.24% 2.70 2.70 Hispanic or Latino 20.38%
7007.16 Tract: 7007.19 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	12.72% 13.80% 0.92 0.00 3.54 Low-Income 30.70% 13.80% 2.22 4.45 7.15 Low-Income 23.80% 13.80% 1.72	17.20% 26.20% 0.66 0.00 African American 20.91% 26.20% 0.80 0.00 African American 24.36% 26.20% 0.93	16.99% 10.26% 1.66 1.66 Asian 14.00% 10.26% 1.36 0.00 Asian 18.81% 10.26% 1.83	28.77% 15.24% 1.89 1.89 Hispanic or Latino 41.19% 2.70 2.70 Hispanic or Latino 20.38% 15.24% 1.34
7007.16 Tract: 7007.19 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Ratio of Concentration (times Regional Average) Index Score	12.72% 13.80% 0.92 0.00 3.54 Low-Income 30.70% 13.80% 2.22 4.45 7.15 Low-Income 23.80% 13.80% 13.80% 3.45	17.20% 26.20% 0.66 0.00 African American 20.91% 26.20% 0.80 African American 24.36% 26.20%	16.99% 10.26% 1.66 1.66 Asian 14.00% 10.26% 1.36 0.00 Asian 18.81% 10.26%	28.77% 15.24% 1.89 1.89 Hispanic or Latino 41.19% 15.24% 2.70 2.70 Hispanic or Latino 20.38% 15.24%
7007.16 Tract: 7007.19 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	12.72% 13.80% 0.92 0.00 3.54 Low-Income 30.70% 13.80% 2.22 4.45 7.15 Low-Income 23.80% 13.80% 1.72	17.20% 26.20% 0.66 0.00 African American 20.91% 26.20% 0.80 0.00 African American 24.36% 26.20% 0.93	16.99% 10.26% 1.66 1.66 Asian 14.00% 10.26% 1.36 0.00 Asian 18.81% 10.26% 1.83	28.77% 15.24% 1.89 1.89 Hispanic or Latino 41.19% 15.24% 2.70 2.70 Hispanic or Latino 20.38% 15.24% 1.34

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	24.30%	19.45%	6.44%	16.99%
7007.23	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.76	0.74	0.63	1.11
	(times Regional Average)				
	Index Score	3.52	0.00	0.00	0.00
	Total Index:	3.52			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	45.07%	23.04%	25.18%	38.29%
7007.24	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	3.27	0.88	2.45	2.51
	(times Regional Average)				_
	Index Score	6.00	0.00	2.46	2.51
	Total Index:	10.97			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	22.39%	19.11%	8.96%	32.58%
7008.13	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.62	0.73	0.87	2.14
	(times Regional Average)				
	Index Score	3.24	0.00	0.00	2.14
	Total Index:	5.38			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	13.58%	21.61%	28.89%	25.31%
7008.16	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	0.98	0.82	2.82	1.66
	(times Regional Average)				
	Index Score	0.00	0.00	2.82	1.66
	Total Index:	4.48			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	28.16%	39.19%	13.07%	22.76%
7008.18	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.04	1.50	1.27	1.49
	(times Regional Average)				
	Index Score	4.08	0.00	0.00	0.00
	Total Index:	4.08			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	27.82%	37.28%	12.79%	22.61%
7008.2	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.02	1.42	1.25	1.48
	(times Regional Average)				
	Index Score	4.03	0.00	0.00	0.00
	Total Index:	4.03			

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	33.90%	5.44%	24.19%	25.72%
7008.22	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration (times Regional Average)	2.46	0.21	2.36	1.69
	Index Score	4.91	0.00	2.36	1.69
	Total Index:	8.96	0.00	2.00	1.00
	Total Illaoxi	0.00			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	16.80%	17.03%	19.21%	28.76%
7008.33	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.22	0.65	1.87	1.89
	(times Regional Average)		0.00	2.0.	2.00
	Index Score	0.00	0.00	1.87	1.89
	Total Index:	3.76			
	10001110071				
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	22.97%	9.39%	32.46%	8.51%
7009.01	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.66	0.36	3.17	0.56
	(times Regional Average)				
	Index Score	3.33	0.00	3.00	0.00
	Total Index:	6.33			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	18.04%	16.14%	19.39%	24.97%
7009.03	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.31	0.62	1.89	1.64
	(times Regional Average)				
	Index Score	0.00	0.00	1.89	1.64
	IIIdex Score				1.04
	Total Index:	3.53			1.04
		3.53			
	Total Index:	Low-Income	African American	Asian	Hispanic or Latino
Tract:	Total Index: Tract Percent	Low-Income 12.11%	11.40%	32.09%	Hispanic or Latino 31.68%
Tract: 7009.04	Tract Percent Regional Average	Low-Income 12.11% 13.80%		32.09% 10.26%	Hispanic or Latino
	Tract Percent Regional Average Ratio of Concentration	Low-Income 12.11%	11.40%	32.09%	Hispanic or Latino 31.68%
	Tract Percent Regional Average Ratio of Concentration (times Regional Average)	Low-Income 12.11% 13.80% 0.88	11.40% 26.20% 0.44	32.09% 10.26% 3.13	Hispanic or Latino 31.68% 15.24% 2.08
	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	Low-Income 12.11% 13.80% 0.88	11.40% 26.20%	32.09% 10.26%	Hispanic or Latino 31.68% 15.24%
	Tract Percent Regional Average Ratio of Concentration (times Regional Average)	Low-Income 12.11% 13.80% 0.88	11.40% 26.20% 0.44	32.09% 10.26% 3.13	Hispanic or Latino 31.68% 15.24% 2.08
	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	Low-Income 12.11% 13.80% 0.88 0.00 5.08	11.40% 26.20% 0.44 0.00	32.09% 10.26% 3.13 3.00	Hispanic or Latino 31.68% 15.24% 2.08
7009.04	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	Low-Income	11.40% 26.20% 0.44 0.00	32.09% 10.26% 3.13 3.00	Hispanic or Latino 31.68% 15.24% 2.08 2.08 Hispanic or Latino
7009.04 Tract:	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	Low-Income 12.11% 13.80% 0.88 0.00 5.08 Low-Income 12.93%	11.40% 26.20% 0.44 0.00 African American 7.95%	32.09% 10.26% 3.13 3.00 Asian 19.23%	Hispanic or Latino 31.68% 15.24% 2.08 2.08 Hispanic or Latino 23.92%
7009.04	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	Low-Income 12.11% 13.80% 0.88 0.00 5.08 Low-Income 12.93% 13.80%	11.40% 26.20% 0.44 0.00 African American 7.95% 26.20%	32.09% 10.26% 3.13 3.00 Asian 19.23% 10.26%	Hispanic or Latino 31.68% 15.24% 2.08 2.08 Hispanic or Latino 23.92% 15.24%
7009.04 Tract:	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	Low-Income 12.11% 13.80% 0.88 0.00 5.08 Low-Income 12.93%	11.40% 26.20% 0.44 0.00 African American 7.95%	32.09% 10.26% 3.13 3.00 Asian 19.23%	Hispanic or Latino 31.68% 15.24% 2.08 2.08 Hispanic or Latino 23.92%
7009.04 Tract:	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	Low-Income 12.11% 13.80% 0.88 0.00 5.08 Low-Income 12.93% 13.80% 0.94	11.40% 26.20% 0.44 0.00 African American 7.95% 26.20% 0.30	32.09% 10.26% 3.13 3.00 Asian 19.23% 10.26% 1.88	Hispanic or Latino 31.68% 15.24% 2.08 2.08 Hispanic or Latino 23.92% 15.24% 1.57
7009.04 Tract:	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	Low-Income	11.40% 26.20% 0.44 0.00 African American 7.95% 26.20%	32.09% 10.26% 3.13 3.00 Asian 19.23% 10.26%	Hispanic or Latino 31.68% 15.24% 2.08 2.08 Hispanic or Latino 23.92% 15.24%
7009.04 Tract:	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	Low-Income 12.11% 13.80% 0.88 0.00 5.08 Low-Income 12.93% 13.80% 0.94	11.40% 26.20% 0.44 0.00 African American 7.95% 26.20% 0.30	32.09% 10.26% 3.13 3.00 Asian 19.23% 10.26% 1.88	Hispanic or Latino 31.68% 15.24% 2.08 2.08 Hispanic or Latino 23.92% 15.24% 1.57

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	27.27%	11.45%	25.60%	32.76%
7012.19	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.98	0.44	2.50	2.15
	(times Regional Average)				
	Index Score	3.95	0.00	2.50	2.15
	Total Index:	8.60			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	17.27%	43.54%	17.19%	11.45%
7014.14	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.25	1.66	1.68	0.75
	(times Regional Average)				J J
	Index Score	0.00	1.66	1.68	0.00
	Total Index:	3.34			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	14.74%	41.98%	18.63%	12.68%
7014.18	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.07	1.60	1.82	0.83
	(times Regional Average)				0.00
	Index Score	0.00	1.60	1.82	0.00
	Total Index:	3.42			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	11.63%	66.46%	0.73%	29.22%
7014.21	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	0.84	2.54	0.07	1.92
	(times Regional Average)				
	Index Score	0.00	2.54	0.00	1.92
	Total Index:	4.45			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	32.74%	79.99%	4.73%	6.26%
7014.22	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.37	3.05	0.46	0.41
	(times Regional Average)				
	Index Score	4.75	3.00	0.00	0.00
	Total Index:	7.75			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	31.66%	59.62%	13.04%	10.76%
7014.23	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.29	2.28	1.27	0.71
	(times Regional Average)				
	Index Score	4.59	2.28	0.00	0.00
	Total Index:	6.86			

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	34.72%	65.50%	8.40%	15.80%
7015.08	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.52	2.50	0.82	1.04
	(times Regional Average)				
	Index Score	5.03	2.50	0.00	0.00
	Total Index:	7.53			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	27.97%	42.00%	6.77%	30.02%
7015.09	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.03	1.60	0.66	1.97
	(times Regional Average)				
	Index Score	4.05	1.60	0.00	1.97
	Total Index:	7.63			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	30.28%	46.96%	9.18%	38.04%
7016.01	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.19	1.79	0.90	2.50
	(times Regional Average)				
	Index Score	4.39	1.79	0.00	2.50
	Total Index:	8.68			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	28.33%	17.98%	12.32%	60.99%
7016.02	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.05	0.69	1.20	4.00
	(times Regional Average)				
	Index Score	4.11	0.00	0.00	3.00
	Total Index:	7.11			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	24.84%	31.77%	6.26%	28.06%
7017.02	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.80	1.21	0.61	1.84
	(times Regional Average)				
	Index Score	3.60	0.00	0.00	1.84
	Total Index:	5.44			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:		0.4.000/	20.35%	6.21%	39.97%
	Tract Percent	24.62%	20.5570		
7019	Tract Percent Regional Average	13.80%	26.20%	10.26%	15.24%
					15.24% 2.62
	Regional Average	13.80%	26.20%	10.26%	
	Regional Average Ratio of Concentration	13.80%	26.20%	10.26%	
	Regional Average Ratio of Concentration (times Regional Average)	13.80% 1.78	26.20% 0.78	10.26% 0.61	2.62

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	37.44%	19.60%	8.56%	61.13%
7020	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.71	0.75	0.83	4.01
	(times Regional Average)				
	Index Score	5.43	0.00	0.00	3.00
	Total Index:	8.43			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	29.77%	30.33%	17.43%	41.43%
7021.01	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.16	1.16	1.70	2.72
	(times Regional Average)				
	Index Score	4.31	0.00	1.70	2.72
	Total Index:	8.73			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	35.93%	24.61%	3.95%	46.90%
7023.01	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.60	0.94	0.39	3.08
	(times Regional Average)				
	Index Score	5.21	0.00	0.00	3.00
	Total Index:	8.21			
	_	Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	22.70%	27.29%	8.69%	14.66%
7026.02	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.64	1.04	0.85	0.96
	(times Regional Average)				
	Index Score	3.29	0.00	0.00	0.00
	Total Index:	3.29			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	36.03%	18.58%	6.49%	56.39%
7032.07	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.61	0.71	0.63	3.70
	(times Regional Average)				
	Index Score	5.22	0.00	0.00	3.00
	Total Index:	8.22			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	25.23%	21.30%	13.49%	24.88%
7032.09	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.83	0.81	1.32	1.63
	(times Regional Average)				
	Index Score	3.66	0.00	0.00	1.63
	Total Index:	5.29			

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	32.00%	37.17%	6.56%	42.42%
7032.13	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.32	1.42	0.64	2.78
	(times Regional Average)				
	Index Score	4.64	0.00	0.00	2.78
	Total Index:	7.42			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	30.38%	45.02%	6.03%	36.20%
7032.14	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.20	1.72	0.59	2.38
	(times Regional Average)				
	Index Score	4.40	1.72	0.00	2.38
	Total Index:	8.50			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	23.49%	23.34%	8.43%	35.52%
7032.15	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.70	0.89	0.82	2.33
	(times Regional Average)				
	Index Score	3.40	0.00	0.00	2.33
	Total Index:	5.73			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	14.28%	5.81%	16.78%	46.31%
7033.01	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.04	0.22	1.64	3.04
	(times Regional Average)				
	Index Score	0.00	0.00	1.64	3.00
	Total Index:	4.64			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	22.08%	10.44%	10.53%	57.83%
7033.02	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.60	0.40	1.03	3.79
	(times Regional Average)				
	Index Score	3.20	0.00	0.00	3.00
	Total Index:	6.20			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	22.61%	10.43%	23.31%	44.40%
7034.01	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.64	0.40	2.27	2.91
	(times Regional Average)				
	Index Score	3.28	0.00	2.27	2.91
	Total Index:	8.46			
	Total illuex.	0.40			

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	29.48%	20.44%	2.62%	47.47%
7034.03	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration (times Regional Average)	2.14	0.78	0.26	3.11
	Index Score	4.27	0.00	0.00	3.00
	Total Index:	7.27			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	26.88%	17.67%	13.04%	61.31%
7034.04	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration (times Regional Average)	1.95	0.67	1.27	4.02
	Index Score	3.90	0.00	0.00	3.00
	Total Index:	6.90			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	26.07%	31.86%	9.05%	41.59%
7035.01	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration (times Regional Average)	1.89	1.22	0.88	2.73
	Index Score	3.78	0.00	0.00	2.73
	Total Index:	6.51			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	23.33%	7.22%	9.14%	28.58%
7035.02	Regional Average	13.80%	26.20%	10.26%	15.24%
			0.28	0.89	
	Ratio of Concentration	1.69	0.20	0.00	1.87
- 333.02	(times Regional Average)				
	(times Regional Average) Index Score	3.38	0.00	0.00	1.87
	(times Regional Average)				
	(times Regional Average) Index Score	3.38 5.26	0.00	0.00	1.87
	(times Regional Average) Index Score Total Index:	3.38 5.26 Low-Income	0.00 African American	0.00 Asian	1.87 Hispanic or Latino
Tract:	(times Regional Average) Index Score Total Index: Tract Percent	3.38 5.26 Low-Income 15.96%	O.00 African American 11.46%	0.00 Asian 17.21%	1.87 Hispanic or Latino 38.40%
	(times Regional Average) Index Score Total Index: Tract Percent Regional Average	3.38 5.26 Low-Income 15.96% 13.80%	0.00 African American 11.46% 26.20%	0.00 Asian 17.21% 10.26%	1.87 Hispanic or Latino 38.40% 15.24%
Tract:	(times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	3.38 5.26 Low-Income 15.96%	O.00 African American 11.46%	0.00 Asian 17.21%	1.87 Hispanic or Latino 38.40%
Tract:	(times Regional Average) Index Score Total Index: Tract Percent Regional Average	3.38 5.26 Low-Income 15.96% 13.80%	0.00 African American 11.46% 26.20%	0.00 Asian 17.21% 10.26%	1.87 Hispanic or Latino 38.40% 15.24%
Tract:	Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	3.38 5.26 Low-Income 15.96% 13.80% 1.16	0.00 African American 11.46% 26.20% 0.44	0.00 Asian 17.21% 10.26% 1.68	1.87 Hispanic or Latino 38.40% 15.24% 2.52
Tract:	Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	3.38 5.26 Low-Income 15.96% 13.80% 1.16	0.00 African American 11.46% 26.20% 0.44	0.00 Asian 17.21% 10.26% 1.68	1.87 Hispanic or Latino 38.40% 15.24% 2.52
Tract:	Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	3.38 5.26 Low-Income 15.96% 13.80% 1.16	0.00 African American 11.46% 26.20% 0.44	0.00 Asian 17.21% 10.26% 1.68	1.87 Hispanic or Latino 38.40% 15.24% 2.52
Tract: 7037.02	Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	3.38 5.26 Low-Income 15.96% 13.80% 1.16 0.00 4.20	0.00 African American 11.46% 26.20% 0.44 0.00 African American 26.17%	0.00 Asian 17.21% 10.26% 1.68	1.87 Hispanic or Latino 38.40% 15.24% 2.52
Tract: 7037.02	Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	3.38 5.26 Low-Income 15.96% 13.80% 1.16 0.00 4.20 Low-Income 21.33% 13.80%	0.00 African American 11.46% 26.20% 0.44 0.00 African American 26.17% 26.20%	0.00 Asian 17.21% 10.26% 1.68 1.68 Asian 13.15% 10.26%	1.87 Hispanic or Latino 38.40% 15.24% 2.52 2.52 Hispanic or Latino 28.19% 15.24%
Tract: 7037.02	Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	3.38 5.26 Low-Income 15.96% 13.80% 1.16 0.00 4.20 Low-Income 21.33%	0.00 African American 11.46% 26.20% 0.44 0.00 African American 26.17%	0.00 Asian 17.21% 10.26% 1.68 1.68 Asian 13.15%	1.87 Hispanic or Latino 38.40% 15.24% 2.52 2.52 Hispanic or Latino 28.19%
Tract: 7037.02	Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	3.38 5.26 Low-Income 15.96% 13.80% 1.16 0.00 4.20 Low-Income 21.33% 13.80% 1.55	0.00 African American 11.46% 26.20% 0.44 0.00 African American 26.17% 26.20% 1.00	Asian 17.21% 10.26% 1.68 Asian 13.15% 10.26% 1.28	1.87 Hispanic or Latino 38.40% 15.24% 2.52 2.52 Hispanic or Latino 28.19% 15.24% 1.85
Tract: 7037.02	Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	3.38 5.26 Low-Income 15.96% 13.80% 1.16 0.00 4.20 Low-Income 21.33% 13.80% 1.55	0.00 African American 11.46% 26.20% 0.44 0.00 African American 26.17% 26.20%	0.00 Asian 17.21% 10.26% 1.68 1.68 Asian 13.15% 10.26%	1.87 Hispanic or Latino 38.40% 15.24% 2.52 2.52 Hispanic or Latino 28.19% 15.24%
Tract: 7037.02	Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	3.38 5.26 Low-Income 15.96% 13.80% 1.16 0.00 4.20 Low-Income 21.33% 13.80% 1.55	0.00 African American 11.46% 26.20% 0.44 0.00 African American 26.17% 26.20% 1.00	Asian 17.21% 10.26% 1.68 Asian 13.15% 10.26% 1.28	1.87 Hispanic or Latino 38.40% 15.24% 2.52 2.52 Hispanic or Latino 28.19% 15.24% 1.85

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	32.52%	34.95%	0.00%	11.08%
7503	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.36	1.33	0.00	0.73
	(times Regional Average)				
	Index Score	4.71	0.00	0.00	0.00
	Total Index:	4.71			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	23.79%	27.36%	5.53%	30.92%
7505.03	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.72	1.04	0.54	2.03
	(times Regional Average)		,,		
	Index Score	3.45	0.00	0.00	2.03
	Total Index:	5.48			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	23.47%	29.72%	11.77%	24.98%
7505.04	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.70	1.13	1.15	1.64
	(times Regional Average)				
	Index Score	3.40	0.00	0.00	1.64
	Total Index:	5.04			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	40.28%	10.32%	10.21%	42.97%
7505.05	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.92	0.39	1.00	2.82
	(times Regional Average)				
	Index Score	5.84	0.00	0.00	2.82
	Total Index:	8.66			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	23.55%	20.75%	4.89%	14.39%
7507.02	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.71	0.79	0.48	0.94
	(times Regional Average)				
	Index Score	3.41	0.00	0.00	0.00
	Total Index:	3.41			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	22.63%	14.14%	5.83%	10.70%
7510.02	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.64	0.54	0.57	0.70
	(times Regional Average)				
	Index Score	3.28	0.00	0.00	0.00
	Total Index:	3.28			

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	22.47%	18.43%	9.06%	9.50%
7510.03	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.63	0.70	0.88	0.62
	(times Regional Average)				
	Index Score	3.26	0.00	0.00	0.00
	Total Index:	3.26			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	27.79%	18.62%	10.90%	5.95%
7651	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.01	0.71	1.06	0.39
	(times Regional Average)				
	Index Score	4.03	0.00	0.00	0.00
	Total Index:	4.03			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	23.56%	4.23%	2.40%	3.64%
7668	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.71	0.16	0.23	0.24
	(times Regional Average)				
	Index Score	3.41	0.00	0.00	0.00
	Total Index:	3.41			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	43.47%	24.33%	1.98%	10.01%
7722	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	3.15	0.93	0.19	0.66
	(times Regional Average)				
	Index Score	6.00	0.00	0.00	0.00
	Total Index:	6.00			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	25.27%	2.60%	0.00%	1.82%
7754	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.83	0.10	0.00	0.12
	(times Regional Average)				
	Index Score	3.66	0.00	0.00	0.00
	Total Index:	3.66			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	22.19%	27.75%	9.10%	16.44%
8001.03	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.61	1.06	0.89	1.08
	(times Regional Average)				
	Index Score	3.22	0.00	0.00	0.00
	Total Index:	3.22			

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	22.06%	36.24%	8.44%	36.86%
8001.09	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.60	1.38	0.82	2.42
	(times Regional Average)				
	Index Score	3.20	0.00	0.00	2.42
	Total Index:	5.62			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	26.70%	57.02%	11.37%	21.44%
8002.09	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.93	2.18	1.11	1.41
	(times Regional Average)				
	Index Score	3.87	2.18	0.00	0.00
	Total Index:	6.05			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	9.24%	52.84%	17.41%	9.08%
8002.12	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	0.67	2.02	1.70	0.60
	(times Regional Average)				
	Index Score	0.00	2.02	1.70	0.00
	Total Index:	3.71			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	21.22%	84.16%	0.00%	0.00%
8006.01	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.54	3.21	0.00	0.00
	I .	1.54			0.00
	(times Regional Average)				
	(times Regional Average) Index Score	3.08	3.00	0.00	0.00
	(times Regional Average)		3.00	0.00	
	(times Regional Average) Index Score	3.08 6.08			0.00
	(times Regional Average) Index Score Total Index:	3.08 6.08 Low-Income	African American	Asian	0.00 Hispanic or Latino
Tract:	(times Regional Average) Index Score Total Index: Tract Percent	3.08 6.08 Low-Income 24.26%	African American 47.25%	Asian 11.09%	0.00 Hispanic or Latino 31.51%
Tract: 8014.05	(times Regional Average) Index Score Total Index: Tract Percent Regional Average	3.08 6.08 Low-Income 24.26% 13.80%	African American 47.25% 26.20%	Asian 11.09% 10.26%	0.00 Hispanic or Latino 31.51% 15.24%
	(times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	3.08 6.08 Low-Income 24.26%	African American 47.25%	Asian 11.09%	0.00 Hispanic or Latino 31.51%
	Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	3.08 6.08 Low-Income 24.26% 13.80% 1.76	African American 47.25% 26.20% 1.80	Asian 11.09% 10.26% 1.08	0.00 Hispanic or Latino 31.51% 15.24% 2.07
	(times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	3.08 6.08 Low-Income 24.26% 13.80% 1.76	African American 47.25% 26.20%	Asian 11.09% 10.26%	0.00 Hispanic or Latino 31.51% 15.24%
	Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	3.08 6.08 Low-Income 24.26% 13.80% 1.76	African American 47.25% 26.20% 1.80	Asian 11.09% 10.26% 1.08	0.00 Hispanic or Latino 31.51% 15.24% 2.07
	(times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	3.08 6.08 Low-Income 24.26% 13.80% 1.76 3.52 7.39	African American 47.25% 26.20% 1.80	Asian 11.09% 10.26% 1.08	0.00 Hispanic or Latino 31.51% 15.24% 2.07
8014.05	(times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	3.08 6.08 Low-Income 24.26% 13.80% 1.76 3.52 7.39 Low-Income	African American 47.25% 26.20% 1.80 African American	Asian 11.09% 10.26% 1.08 0.00	0.00 Hispanic or Latino 31.51% 15.24% 2.07 2.07 Hispanic or Latino
8014.05 Tract:	Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	3.08 6.08 Low-Income 24.26% 13.80% 1.76 3.52 7.39 Low-Income 6.93%	African American 47.25% 26.20% 1.80 1.80 African American 50.24%	Asian 11.09% 10.26% 1.08 0.00 Asian 17.79%	0.00 Hispanic or Latino 31.51% 15.24% 2.07 2.07 Hispanic or Latino 12.54%
8014.05	Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	3.08 6.08 Low-Income 24.26% 13.80% 1.76 3.52 7.39 Low-Income 6.93% 13.80%	African American 47.25% 26.20% 1.80 1.80 African American 50.24% 26.20%	Asian 11.09% 10.26% 1.08 0.00 Asian 17.79% 10.26%	0.00 Hispanic or Latino 31.51% 15.24% 2.07 2.07 Hispanic or Latino 12.54% 15.24%
8014.05 Tract:	Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	3.08 6.08 Low-Income 24.26% 13.80% 1.76 3.52 7.39 Low-Income 6.93%	African American 47.25% 26.20% 1.80 1.80 African American 50.24%	Asian 11.09% 10.26% 1.08 0.00 Asian 17.79%	0.00 Hispanic or Latino 31.51% 15.24% 2.07 2.07 Hispanic or Latino 12.54%
8014.05 Tract:	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	3.08 6.08 Low-Income 24.26% 13.80% 1.76 3.52 7.39 Low-Income 6.93% 13.80% 0.50	African American 47.25% 26.20% 1.80 African American 50.24% 26.20% 1.92	Asian 11.09% 10.26% 1.08 0.00 Asian 17.79% 10.26% 1.73	0.00 Hispanic or Latino 31.51% 15.24% 2.07 2.07 Hispanic or Latino 12.54% 15.24% 0.82
8014.05 Tract:	Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	3.08 6.08 Low-Income 24.26% 13.80% 1.76 3.52 7.39 Low-Income 6.93% 13.80% 0.50 0.00	African American 47.25% 26.20% 1.80 1.80 African American 50.24% 26.20%	Asian 11.09% 10.26% 1.08 0.00 Asian 17.79% 10.26%	0.00 Hispanic or Latino 31.51% 15.24% 2.07 2.07 Hispanic or Latino 12.54% 15.24%
8014.05 Tract:	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	3.08 6.08 Low-Income 24.26% 13.80% 1.76 3.52 7.39 Low-Income 6.93% 13.80% 0.50	African American 47.25% 26.20% 1.80 African American 50.24% 26.20% 1.92	Asian 11.09% 10.26% 1.08 0.00 Asian 17.79% 10.26% 1.73	0.00 Hispanic or Latino 31.51% 15.24% 2.07 2.07 Hispanic or Latino 12.54% 15.24% 0.82

I		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	33.77%	91.55%	0.00%	4.48%
8016	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.45	3.49	0.00	0.29
	(times Regional Average)				
	Index Score	4.89	3.00	0.00	0.00
	Total Index:	7.89			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	24.88%	92.73%	1.72%	2.29%
8017.02	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.80	3.54	0.17	0.15
	(times Regional Average)				00
	Index Score	3.61	3.00	0.00	0.00
	Total Index:	6.61			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	26.17%	89.70%	0.58%	6.10%
8017.04	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.90	3.42	0.06	0.40
	(times Regional Average)				
	Index Score	3.79	3.00	0.00	0.00
	Total Index:	6.79			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	22.61%	74.95%	2.05%	22.51%
8017.07	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.64	2.86	0.20	1.48
	(times Regional Average)				
	Index Score	3.28	2.86	0.00	0.00
					0.00
	Total Index:	6.14			0.00
		6.14			0.00
	Total Index:	Low-Income	African American	Asian	Hispanic or Latino
Tract:		Low-Income 21.02%	85.79%	Asian 0.71%	Hispanic or Latino 5.93%
Tract: 8017.08	Total Index:	Low-Income		Asian	Hispanic or Latino
	Tract Percent Regional Average Ratio of Concentration	Low-Income 21.02%	85.79%	Asian 0.71%	Hispanic or Latino 5.93%
	Tract Percent Regional Average Ratio of Concentration (times Regional Average)	Low-Income 21.02% 13.80% 1.52	85.79% 26.20% 3.27	Asian 0.71% 10.26% 0.07	Hispanic or Latino 5.93% 15.24%
	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	Low-Income 21.02% 13.80% 1.52	85.79% 26.20%	Asian 0.71% 10.26%	Hispanic or Latino 5.93% 15.24%
	Tract Percent Regional Average Ratio of Concentration (times Regional Average)	Low-Income 21.02% 13.80% 1.52	85.79% 26.20% 3.27	Asian 0.71% 10.26% 0.07	Hispanic or Latino 5.93% 15.24% 0.39
	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	Low-Income 21.02% 13.80% 1.52	85.79% 26.20% 3.27	Asian 0.71% 10.26% 0.07	Hispanic or Latino 5.93% 15.24% 0.39
8017.08	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	Low-Income 21.02% 13.80% 1.52 3.05 6.05	85.79% 26.20% 3.27 3.00	Asian 0.71% 10.26% 0.07 0.00	Hispanic or Latino 5.93% 15.24% 0.39 0.00 Hispanic or Latino
8017.08 Tract:	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	Low-Income 21.02% 13.80% 1.52 3.05 6.05 Low-Income 26.68%	85.79% 26.20% 3.27 3.00 African American 85.75%	Asian 0.71% 10.26% 0.07 0.00 Asian 0.15%	Hispanic or Latino 5.93% 15.24% 0.39 0.00 Hispanic or Latino 8.38%
8017.08	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	Low-Income 21.02% 13.80% 1.52 3.05 6.05 Low-Income 26.68% 13.80%	85.79% 26.20% 3.27 3.00 African American 85.75% 26.20%	Asian 0.71% 10.26% 0.07 0.00 Asian 0.15% 10.26%	Hispanic or Latino 5.93% 15.24% 0.39 0.00 Hispanic or Latino 8.38% 15.24%
8017.08 Tract:	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	Low-Income 21.02% 13.80% 1.52 3.05 6.05 Low-Income 26.68%	85.79% 26.20% 3.27 3.00 African American 85.75%	Asian 0.71% 10.26% 0.07 0.00 Asian 0.15%	Hispanic or Latino 5.93% 15.24% 0.39 0.00 Hispanic or Latino 8.38%
8017.08 Tract:	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	Low-Income 21.02% 13.80% 1.52 3.05 6.05 Low-Income 26.68% 13.80% 1.93	85.79% 26.20% 3.27 3.00 African American 85.75% 26.20% 3.27	Asian 0.71% 10.26% 0.07 0.00 Asian 0.15% 10.26% 0.01	Hispanic or Latino 5.93% 15.24% 0.39 0.00 Hispanic or Latino 8.38% 15.24% 0.55
8017.08 Tract:	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	Low-Income 21.02% 13.80% 1.52 3.05 6.05 Low-Income 26.68% 13.80% 1.93	85.79% 26.20% 3.27 3.00 African American 85.75% 26.20%	Asian 0.71% 10.26% 0.07 0.00 Asian 0.15% 10.26%	Hispanic or Latino 5.93% 15.24% 0.39 0.00 Hispanic or Latino 8.38% 15.24%
8017.08 Tract:	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	Low-Income 21.02% 13.80% 1.52 3.05 6.05 Low-Income 26.68% 13.80% 1.93	85.79% 26.20% 3.27 3.00 African American 85.75% 26.20% 3.27	Asian 0.71% 10.26% 0.07 0.00 Asian 0.15% 10.26% 0.01	Hispanic or Latino 5.93% 15.24% 0.39 0.00 Hispanic or Latino 8.38% 15.24% 0.55

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	28.78%	87.07%	1.19%	2.06%
8018.05	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.09	3.32	0.12	0.13
	(times Regional Average)				
	Index Score	4.17	3.00	0.00	0.00
	Total Index:	7.17			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	29.15%	68.68%	1.01%	11.52%
8019.06	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.11	2.62	0.10	0.76
	(times Regional Average)				
	Index Score	4.22	2.62	0.00	0.00
	Total Index:	6.85			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	33.39%	96.15%	0.00%	0.00%
8019.08	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.42	3.67	0.00	0.00
	(times Regional Average)				
	Index Score	4.84	3.00	0.00	0.00
	Total Index:	7.84			
		Lowlpoopo	14	Asian	I Diamaga in Landing a
		Low-Income	African American		Hispanic or Latino
Tract:	Tract Percent	27.10%	95.66%	0.00%	1.61%
Tract: 8024.04	Regional Average	27.10% 13.80%	95.66% 26.20%	0.00% 10.26%	1.61% 15.24%
	Regional Average Ratio of Concentration	27.10%	95.66%	0.00%	1.61%
	Regional Average Ratio of Concentration (times Regional Average)	27.10% 13.80% 1.96	95.66% 26.20% 3.65	0.00% 10.26% 0.00	1.61% 15.24% 0.11
	Regional Average Ratio of Concentration (times Regional Average) Index Score	27.10% 13.80% 1.96	95.66% 26.20%	0.00% 10.26%	1.61% 15.24%
	Regional Average Ratio of Concentration (times Regional Average)	27.10% 13.80% 1.96	95.66% 26.20% 3.65	0.00% 10.26% 0.00	1.61% 15.24% 0.11
	Regional Average Ratio of Concentration (times Regional Average) Index Score	27.10% 13.80% 1.96 3.93 6.93	95.66% 26.20% 3.65 3.00	0.00% 10.26% 0.00	1.61% 15.24% 0.11 0.00
8024.04	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	27.10% 13.80% 1.96 3.93 6.93	95.66% 26.20% 3.65 3.00	0.00% 10.26% 0.00 0.00	1.61% 15.24% 0.11 0.00
8024.04 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	27.10% 13.80% 1.96 3.93 6.93 Low-Income 24.21%	95.66% 26.20% 3.65 3.00 African American 87.01%	0.00% 10.26% 0.00 0.00 Asian 2.00%	1.61% 15.24% 0.11 0.00 Hispanic or Latino 5.87%
8024.04	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	27.10% 13.80% 1.96 3.93 6.93 Low-Income 24.21% 13.80%	95.66% 26.20% 3.65 3.00 African American 87.01% 26.20%	0.00% 10.26% 0.00 0.00 Asian 2.00% 10.26%	1.61% 15.24% 0.11 0.00 Hispanic or Latino 5.87% 15.24%
8024.04 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	27.10% 13.80% 1.96 3.93 6.93 Low-Income 24.21%	95.66% 26.20% 3.65 3.00 African American 87.01%	0.00% 10.26% 0.00 0.00 Asian 2.00%	1.61% 15.24% 0.11 0.00 Hispanic or Latino 5.87%
8024.04 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	27.10% 13.80% 1.96 3.93 6.93 Low-Income 24.21% 13.80% 1.75	95.66% 26.20% 3.65 3.00 African American 87.01% 26.20% 3.32	0.00% 10.26% 0.00 0.00 Asian 2.00% 10.26% 0.20	1.61% 15.24% 0.11 0.00 Hispanic or Latino 5.87% 15.24% 0.38
8024.04 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	27.10% 13.80% 1.96 3.93 6.93 Low-Income 24.21% 13.80% 1.75	95.66% 26.20% 3.65 3.00 African American 87.01% 26.20%	0.00% 10.26% 0.00 0.00 Asian 2.00% 10.26%	1.61% 15.24% 0.11 0.00 Hispanic or Latino 5.87% 15.24%
8024.04 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	27.10% 13.80% 1.96 3.93 6.93 Low-Income 24.21% 13.80% 1.75	95.66% 26.20% 3.65 3.00 African American 87.01% 26.20% 3.32	0.00% 10.26% 0.00 0.00 Asian 2.00% 10.26% 0.20	1.61% 15.24% 0.11 0.00 Hispanic or Latino 5.87% 15.24% 0.38
8024.04 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	27.10% 13.80% 1.96 3.93 6.93 Low-Income 24.21% 13.80% 1.75 3.51 6.51	95.66% 26.20% 3.65 3.00 African American 87.01% 26.20% 3.32 3.00	0.00% 10.26% 0.00 0.00 Asian 2.00% 10.26% 0.20	1.61% 15.24% 0.11 0.00 Hispanic or Latino 5.87% 15.24% 0.38 0.00
Tract: 8024.06	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	27.10% 13.80% 1.96 3.93 6.93 Low-Income 24.21% 13.80% 1.75 3.51 6.51 Low-Income	95.66% 26.20% 3.65 3.00 African American 87.01% 26.20% 3.32 3.00 African American	0.00% 10.26% 0.00 0.00 Asian 2.00% 10.26% 0.20 0.00 Asian	1.61% 15.24% 0.11 0.00 Hispanic or Latino 5.87% 15.24% 0.38 0.00 Hispanic or Latino
Tract: 8024.06	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	27.10% 13.80% 1.96 3.93 6.93 Low-Income 24.21% 13.80% 1.75 3.51 6.51 Low-Income 22.23%	95.66% 26.20% 3.65 3.00 African American 87.01% 26.20% 3.32 3.00 African American 92.01%	0.00% 10.26% 0.00 0.00 Asian 2.00% 10.26% 0.20 0.00 Asian 0.21%	1.61% 15.24% 0.11 0.00 Hispanic or Latino 5.87% 15.24% 0.38 0.00 Hispanic or Latino 3.71%
Tract: 8024.06	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	27.10% 13.80% 1.96 3.93 6.93 Low-Income 24.21% 13.80% 1.75 3.51 6.51 Low-Income 22.23% 13.80%	95.66% 26.20% 3.65 3.00 African American 87.01% 26.20% 3.32 African American 92.01% 26.20%	0.00% 10.26% 0.00 0.00 Asian 2.00% 10.26% 0.20 0.00 Asian 0.21% 10.26%	1.61% 15.24% 0.11 0.00 Hispanic or Latino 5.87% 15.24% 0.38 0.00 Hispanic or Latino 3.71% 15.24%
Tract: 8024.06 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	27.10% 13.80% 1.96 3.93 6.93 Low-Income 24.21% 13.80% 1.75 3.51 6.51 Low-Income 22.23%	95.66% 26.20% 3.65 3.00 African American 87.01% 26.20% 3.32 3.00 African American 92.01%	0.00% 10.26% 0.00 0.00 Asian 2.00% 10.26% 0.20 0.00 Asian 0.21%	1.61% 15.24% 0.11 0.00 Hispanic or Latino 5.87% 15.24% 0.38 0.00 Hispanic or Latino 3.71%
Tract: 8024.06 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	27.10% 13.80% 1.96 3.93 6.93 Low-Income 24.21% 13.80% 1.75 3.51 6.51 Low-Income 22.23% 13.80% 1.61	95.66% 26.20% 3.65 3.00 African American 87.01% 26.20% 3.32 3.00 African American 92.01% 26.20% 3.51	0.00% 10.26% 0.00 0.00 Asian 2.00% 10.26% 0.20 0.00 Asian 0.21% 10.26% 0.02	1.61% 15.24% 0.11 0.00 Hispanic or Latino 5.87% 15.24% 0.38 0.00 Hispanic or Latino 3.71% 15.24% 0.24
Tract: 8024.06 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Ratio of Concentration (times Regional Average) Index Score	27.10% 13.80% 1.96 3.93 6.93 Low-Income 24.21% 13.80% 1.75 3.51 6.51 Low-Income 22.23% 13.80% 1.61	95.66% 26.20% 3.65 3.00 African American 87.01% 26.20% 3.32 African American 92.01% 26.20%	0.00% 10.26% 0.00 0.00 Asian 2.00% 10.26% 0.20 0.00 Asian 0.21% 10.26%	1.61% 15.24% 0.11 0.00 Hispanic or Latino 5.87% 15.24% 0.38 0.00 Hispanic or Latino 3.71% 15.24%
Tract: 8024.06 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	27.10% 13.80% 1.96 3.93 6.93 Low-Income 24.21% 13.80% 1.75 3.51 6.51 Low-Income 22.23% 13.80% 1.61	95.66% 26.20% 3.65 3.00 African American 87.01% 26.20% 3.32 3.00 African American 92.01% 26.20% 3.51	0.00% 10.26% 0.00 0.00 Asian 2.00% 10.26% 0.20 0.00 Asian 0.21% 10.26% 0.02	1.61% 15.24% 0.11 0.00 Hispanic or Latino 5.87% 15.24% 0.38 0.00 Hispanic or Latino 3.71% 15.24% 0.24

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	26.72%	77.74%	1.74%	8.53%
8024.08	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration (times Regional Average)	1.94	2.97	0.17	0.56
	Index Score	3.87	2.97	0.00	0.00
	Total Index:	6.84	2.51	0.00	0.00
	Total Index.	0.04			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	31.60%	81.35%	0.00%	11.86%
8027	Regional Average	13.80%	26.20%	10.26%	15.24%
002.	Ratio of Concentration	2.29	3.10	0.00	0.78
	(times Regional Average)	2.29	5.10	0.00	0.76
	Index Score	4.58	3.00	0.00	0.00
	Total Index:	7.58	3.00	0.00	0.00
	Total Illacx:	7.00			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	24.73%	92.81%	0.67%	3.20%
8028.04	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.79	3.54	0.07	0.21
	(times Regional Average)				
	Index Score	3.58	3.00	0.00	0.00
	Total Index:	6.58			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	30.16%	93.24%	0.00%	5.78%
8028.05	Regional Average	13.80%	26.20%	10.26%	15.24%
			26.20% 3.56	10.26% 0.00	
	Regional Average	13.80%			15.24%
	Regional Average Ratio of Concentration	13.80%			15.24%
	Regional Average Ratio of Concentration (times Regional Average)	13.80% 2.19	3.56	0.00	15.24% 0.38
	Regional Average Ratio of Concentration (times Regional Average) Index Score	13.80% 2.19 4.37	3.56	0.00	15.24% 0.38
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	13.80% 2.19 4.37 7.37 Low-Income	3.56 3.00 African American	0.00 0.00 Asian	15.24% 0.38 0.00 Hispanic or Latino
8028.05 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	13.80% 2.19 4.37 7.37 Low-Income 31.70%	3.56 3.00 African American 87.87%	0.00 0.00 Asian 0.00%	15.24% 0.38 0.00 Hispanic or Latino 9.89%
8028.05	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	13.80% 2.19 4.37 7.37 Low-Income	3.56 3.00 African American	0.00 0.00 Asian	15.24% 0.38 0.00 Hispanic or Latino
8028.05 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	13.80% 2.19 4.37 7.37 Low-Income 31.70%	3.56 3.00 African American 87.87%	0.00 0.00 Asian 0.00%	15.24% 0.38 0.00 Hispanic or Latino 9.89%
8028.05 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	13.80% 2.19 4.37 7.37 Low-Income 31.70% 13.80% 2.30	3.56 3.00 African American 87.87% 26.20% 3.35	0.00 0.00 Asian 0.00% 10.26% 0.00	15.24% 0.38 0.00 Hispanic or Latino 9.89% 15.24% 0.65
8028.05 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	13.80% 2.19 4.37 7.37 Low-Income 31.70% 13.80% 2.30	3.56 3.00 African American 87.87% 26.20%	0.00 0.00 Asian 0.00% 10.26%	15.24% 0.38 0.00 Hispanic or Latino 9.89% 15.24%
8028.05 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	13.80% 2.19 4.37 7.37 Low-Income 31.70% 13.80% 2.30	3.56 3.00 African American 87.87% 26.20% 3.35	0.00 0.00 Asian 0.00% 10.26% 0.00	15.24% 0.38 0.00 Hispanic or Latino 9.89% 15.24% 0.65
8028.05 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	13.80% 2.19 4.37 7.37 Low-Income 31.70% 13.80% 2.30	3.56 3.00 African American 87.87% 26.20% 3.35 3.00	0.00 0.00 Asian 0.00% 10.26% 0.00 0.00	15.24% 0.38 0.00 Hispanic or Latino 9.89% 15.24% 0.65
8028.05 Tract: 8029.01	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	13.80% 2.19 4.37 7.37 Low-Income 31.70% 13.80% 2.30 4.59 7.59 Low-Income	3.56 3.00 African American 87.87% 26.20% 3.35 3.00 African American	0.00 Asian 0.00% 10.26% 0.00 0.00 Asian	15.24% 0.38 0.00 Hispanic or Latino 9.89% 15.24% 0.65 0.00 Hispanic or Latino
8028.05 Tract: 8029.01 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	13.80% 2.19 4.37 7.37 Low-Income 31.70% 13.80% 2.30 4.59 7.59 Low-Income 31.27%	3.56 3.00 African American 87.87% 26.20% 3.35 3.00 African American 91.70%	0.00 Asian 0.00% 10.26% 0.00 0.00 Asian 0.00%	15.24% 0.38 0.00 Hispanic or Latino 9.89% 15.24% 0.65 0.00 Hispanic or Latino 8.30%
8028.05 Tract: 8029.01	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	13.80% 2.19 4.37 7.37 Low-Income 31.70% 13.80% 2.30 4.59 7.59 Low-Income 31.27% 13.80%	3.56 3.00 African American 87.87% 26.20% 3.35 3.00 African American 91.70% 26.20%	0.00 Asian 0.00% 10.26% 0.00 Asian 0.00% 10.26%	15.24% 0.38 0.00 Hispanic or Latino 9.89% 15.24% 0.65 0.00 Hispanic or Latino 8.30% 15.24%
8028.05 Tract: 8029.01 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	13.80% 2.19 4.37 7.37 Low-Income 31.70% 13.80% 2.30 4.59 7.59 Low-Income 31.27%	3.56 3.00 African American 87.87% 26.20% 3.35 3.00 African American 91.70%	0.00 Asian 0.00% 10.26% 0.00 0.00 Asian 0.00%	15.24% 0.38 0.00 Hispanic or Latino 9.89% 15.24% 0.65 0.00 Hispanic or Latino 8.30%
8028.05 Tract: 8029.01 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	13.80% 2.19 4.37 7.37 Low-Income 31.70% 13.80% 2.30 4.59 7.59 Low-Income 31.27% 13.80% 2.27	3.56 3.00 African American 87.87% 26.20% 3.35 3.00 African American 91.70% 26.20% 3.50	0.00 Asian 0.00% 10.26% 0.00 Asian 0.00% 10.26% 0.00 Asian 0.00% 10.26% 0.00	15.24% 0.38 0.00 Hispanic or Latino 9.89% 15.24% 0.65 0.00 Hispanic or Latino 8.30% 15.24% 0.54
Tract: 8029.01	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	13.80% 2.19 4.37 7.37 Low-Income 31.70% 13.80% 2.30 4.59 7.59 Low-Income 31.27% 13.80% 2.27 4.53	3.56 3.00 African American 87.87% 26.20% 3.35 3.00 African American 91.70% 26.20%	0.00 Asian 0.00% 10.26% 0.00 Asian 0.00% 10.26%	15.24% 0.38 0.00 Hispanic or Latino 9.89% 15.24% 0.65 0.00 Hispanic or Latino 8.30% 15.24%
8028.05 Tract: 8029.01 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	13.80% 2.19 4.37 7.37 Low-Income 31.70% 13.80% 2.30 4.59 7.59 Low-Income 31.27% 13.80% 2.27	3.56 3.00 African American 87.87% 26.20% 3.35 3.00 African American 91.70% 26.20% 3.50	0.00 Asian 0.00% 10.26% 0.00 Asian 0.00% 10.26% 0.00 Asian 0.00% 10.26% 0.00	15.24% 0.38 0.00 Hispanic or Latino 9.89% 15.24% 0.65 0.00 Hispanic or Latino 8.30% 15.24% 0.54

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	25.99%	77.46%	2.94%	18.43%
8033	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.88	2.96	0.29	1.21
	(times Regional Average)				
	Index Score	3.77	2.96	0.00	0.00
	Total Index:	6.72			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	29.13%	75.69%	0.35%	22.62%
8034.01	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.11	2.89	0.03	1.48
	(times Regional Average)				
	Index Score	4.22	2.89	0.00	0.00
	Total Index:	7.11			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	27.06%	96.70%	0.20%	1.17%
8034.02	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.96	3.69	0.02	0.08
	(times Regional Average)				
	Index Score	3.92	3.00	0.00	0.00
	Total Index:	6.92			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	34.33%	90.01%	3.03%	3.60%
Tract: 8035.08	Regional Average				3.60% 15.24%
	Regional Average Ratio of Concentration	34.33%	90.01%	3.03%	3.60%
	Regional Average Ratio of Concentration (times Regional Average)	34.33% 13.80% 2.49	90.01% 26.20% 3.44	3.03% 10.26% 0.30	3.60% 15.24% 0.24
	Regional Average Ratio of Concentration (times Regional Average) Index Score	34.33% 13.80% 2.49 4.98	90.01% 26.20%	3.03% 10.26%	3.60% 15.24%
	Regional Average Ratio of Concentration (times Regional Average)	34.33% 13.80% 2.49	90.01% 26.20% 3.44	3.03% 10.26% 0.30	3.60% 15.24% 0.24
	Regional Average Ratio of Concentration (times Regional Average) Index Score	34.33% 13.80% 2.49 4.98 7.98	90.01% 26.20% 3.44 3.00	3.03% 10.26% 0.30	3.60% 15.24% 0.24 0.00
8035.08	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	34.33% 13.80% 2.49 4.98 7.98 Low-Income	90.01% 26.20% 3.44 3.00	3.03% 10.26% 0.30 0.00	3.60% 15.24% 0.24 0.00 Hispanic or Latino
8035.08 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	34.33% 13.80% 2.49 4.98 7.98 Low-Income 35.89%	90.01% 26.20% 3.44 3.00 African American 80.56%	3.03% 10.26% 0.30 0.00 Asian 0.00%	3.60% 15.24% 0.24 0.00 Hispanic or Latino 18.01%
8035.08	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	34.33% 13.80% 2.49 4.98 7.98 Low-Income 35.89% 13.80%	90.01% 26.20% 3.44 3.00 African American 80.56% 26.20%	3.03% 10.26% 0.30 0.00 Asian 0.00% 10.26%	3.60% 15.24% 0.24 0.00 Hispanic or Latino 18.01% 15.24%
8035.08 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	34.33% 13.80% 2.49 4.98 7.98 Low-Income 35.89%	90.01% 26.20% 3.44 3.00 African American 80.56%	3.03% 10.26% 0.30 0.00 Asian 0.00%	3.60% 15.24% 0.24 0.00 Hispanic or Latino 18.01%
8035.08 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	34.33% 13.80% 2.49 4.98 7.98 Low-Income 35.89% 13.80% 2.60	90.01% 26.20% 3.44 3.00 African American 80.56% 26.20% 3.07	3.03% 10.26% 0.30 0.00 Asian 0.00% 10.26% 0.00	3.60% 15.24% 0.24 0.00 Hispanic or Latino 18.01% 15.24% 1.18
8035.08 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	34.33% 13.80% 2.49 4.98 7.98 Low-Income 35.89% 13.80% 2.60	90.01% 26.20% 3.44 3.00 African American 80.56% 26.20%	3.03% 10.26% 0.30 0.00 Asian 0.00% 10.26%	3.60% 15.24% 0.24 0.00 Hispanic or Latino 18.01% 15.24%
8035.08 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	34.33% 13.80% 2.49 4.98 7.98 Low-Income 35.89% 13.80% 2.60	90.01% 26.20% 3.44 3.00 African American 80.56% 26.20% 3.07	3.03% 10.26% 0.30 0.00 Asian 0.00% 10.26% 0.00	3.60% 15.24% 0.24 0.00 Hispanic or Latino 18.01% 15.24% 1.18
8035.08 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	34.33% 13.80% 2.49 4.98 7.98 Low-Income 35.89% 13.80% 2.60 5.20 8.20	90.01% 26.20% 3.44 3.00 African American 80.56% 26.20% 3.07	3.03% 10.26% 0.30 0.00 Asian 0.00% 10.26% 0.00	3.60% 15.24% 0.24 0.00 Hispanic or Latino 18.01% 15.24% 1.18
8035.08 Tract: 8035.09	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	34.33% 13.80% 2.49 4.98 7.98 Low-Income 35.89% 13.80% 2.60 5.20 8.20 Low-Income	90.01% 26.20% 3.44 3.00 African American 80.56% 26.20% 3.07 3.00 African American	3.03% 10.26% 0.30 0.00 Asian 0.00% 10.26% 0.00	3.60% 15.24% 0.24 0.00 Hispanic or Latino 18.01% 15.24% 1.18 0.00 Hispanic or Latino
Tract: 8035.09 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	34.33% 13.80% 2.49 4.98 7.98 Low-Income 35.89% 13.80% 2.60 5.20 8.20 Low-Income 21.25%	90.01% 26.20% 3.44 3.00 African American 80.56% 26.20% 3.07 3.00 African American 88.53%	3.03% 10.26% 0.30 0.00 Asian 0.00% 10.26% 0.00 0.00 Asian 3.43%	3.60% 15.24% 0.24 0.00 Hispanic or Latino 18.01% 15.24% 1.18 0.00 Hispanic or Latino 0.40%
8035.08 Tract: 8035.09	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	34.33% 13.80% 2.49 4.98 7.98 Low-Income 35.89% 13.80% 2.60 5.20 8.20 Low-Income 21.25% 13.80%	90.01% 26.20% 3.44 3.00 African American 80.56% 26.20% 3.07 African American 88.53% 26.20%	3.03% 10.26% 0.30 0.00 Asian 0.00% 10.26% 0.00 Asian 3.43% 10.26%	3.60% 15.24% 0.24 0.00 Hispanic or Latino 18.01% 15.24% 1.18 0.00 Hispanic or Latino 0.40% 15.24%
Tract: 8035.09 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	34.33% 13.80% 2.49 4.98 7.98 Low-Income 35.89% 13.80% 2.60 5.20 8.20 Low-Income 21.25%	90.01% 26.20% 3.44 3.00 African American 80.56% 26.20% 3.07 3.00 African American 88.53%	3.03% 10.26% 0.30 0.00 Asian 0.00% 10.26% 0.00 0.00 Asian 3.43%	3.60% 15.24% 0.24 0.00 Hispanic or Latino 18.01% 15.24% 1.18 0.00 Hispanic or Latino 0.40%
Tract: 8035.09 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	34.33% 13.80% 2.49 4.98 7.98 Low-Income 35.89% 13.80% 2.60 5.20 8.20 Low-Income 21.25% 13.80% 1.54	90.01% 26.20% 3.44 3.00 African American 80.56% 26.20% 3.07 3.00 African American 88.53% 26.20% 3.38	3.03% 10.26% 0.30 0.00 Asian 0.00% 10.26% 0.00 Asian 3.43% 10.26% 0.33	3.60% 15.24% 0.24 0.00 Hispanic or Latino 18.01% 15.24% 1.18 0.00 Hispanic or Latino 0.40% 15.24% 0.03
Tract: 8035.09 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Ratio of Concentration (times Regional Average) Index Score	34.33% 13.80% 2.49 4.98 7.98 Low-Income 35.89% 13.80% 2.60 5.20 8.20 Low-Income 21.25% 13.80% 1.54	90.01% 26.20% 3.44 3.00 African American 80.56% 26.20% 3.07 African American 88.53% 26.20%	3.03% 10.26% 0.30 0.00 Asian 0.00% 10.26% 0.00 Asian 3.43% 10.26%	3.60% 15.24% 0.24 0.00 Hispanic or Latino 18.01% 15.24% 1.18 0.00 Hispanic or Latino 0.40% 15.24%
Tract: 8035.09 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	34.33% 13.80% 2.49 4.98 7.98 Low-Income 35.89% 13.80% 2.60 5.20 8.20 Low-Income 21.25% 13.80% 1.54	90.01% 26.20% 3.44 3.00 African American 80.56% 26.20% 3.07 3.00 African American 88.53% 26.20% 3.38	3.03% 10.26% 0.30 0.00 Asian 0.00% 10.26% 0.00 Asian 3.43% 10.26% 0.33	3.60% 15.24% 0.24 0.00 Hispanic or Latino 18.01% 15.24% 1.18 0.00 Hispanic or Latino 0.40% 15.24% 0.03

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	21.93%	86.17%	5.60%	3.63%
8035.25	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.59	3.29	0.55	0.24
	(times Regional Average)				
	Index Score	3.18	3.00	0.00	0.00
	Total Index:	6.18			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	25.27%	83.08%	0.90%	14.23%
8036.02	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.83	3.17	0.09	0.93
	(times Regional Average)				
	Index Score	3.66	3.00	0.00	0.00
	Total Index:	6.66			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	18.06%	53.30%	3.08%	28.24%
8036.05	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.31	2.03	0.30	1.85
	(times Regional Average)				
	Index Score	0.00	2.03	0.00	1.85
	Total Index:	3.89			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	Low-Income 17.49%	African American 53.26%	Asian 4.78%	Hispanic or Latino 26.03%
Tract: 8036.06	Tract Percent Regional Average				
		17.49%	53.26%	4.78%	26.03%
	Regional Average Ratio of Concentration (times Regional Average)	17.49% 13.80% 1.27	53.26% 26.20% 2.03	4.78% 10.26% 0.47	26.03% 15.24% 1.71
	Regional Average Ratio of Concentration (times Regional Average) Index Score	17.49% 13.80% 1.27	53.26% 26.20%	4.78% 10.26%	26.03% 15.24%
	Regional Average Ratio of Concentration (times Regional Average)	17.49% 13.80% 1.27	53.26% 26.20% 2.03	4.78% 10.26% 0.47	26.03% 15.24% 1.71
	Regional Average Ratio of Concentration (times Regional Average) Index Score	17.49% 13.80% 1.27 0.00 3.74	53.26% 26.20% 2.03	4.78% 10.26% 0.47	26.03% 15.24% 1.71 1.71
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	17.49% 13.80% 1.27 0.00 3.74	53.26% 26.20% 2.03 2.03 African American	4.78% 10.26% 0.47 0.00	26.03% 15.24% 1.71 1.71 Hispanic or Latino
8036.06 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	17.49% 13.80% 1.27 0.00 3.74 Low-Income 17.39%	53.26% 26.20% 2.03 2.03 African American 53.51%	4.78% 10.26% 0.47 0.00 Asian 3.25%	26.03% 15.24% 1.71 1.71 Hispanic or Latino 35.85%
8036.06	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	17.49% 13.80% 1.27 0.00 3.74 Low-Income 17.39% 13.80%	53.26% 26.20% 2.03 2.03 African American 53.51% 26.20%	4.78% 10.26% 0.47 0.00 Asian 3.25% 10.26%	26.03% 15.24% 1.71 1.71 Hispanic or Latino 35.85% 15.24%
8036.06 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	17.49% 13.80% 1.27 0.00 3.74 Low-Income 17.39%	53.26% 26.20% 2.03 2.03 African American 53.51%	4.78% 10.26% 0.47 0.00 Asian 3.25%	26.03% 15.24% 1.71 1.71 Hispanic or Latino 35.85%
8036.06 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	17.49% 13.80% 1.27 0.00 3.74 Low-Income 17.39% 13.80% 1.26	53.26% 26.20% 2.03 2.03 African American 53.51% 26.20% 2.04	4.78% 10.26% 0.47 0.00 Asian 3.25% 10.26% 0.32	26.03% 15.24% 1.71 1.71 Hispanic or Latino 35.85% 15.24% 2.35
8036.06 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	17.49% 13.80% 1.27 0.00 3.74 Low-Income 17.39% 13.80% 1.26	53.26% 26.20% 2.03 2.03 African American 53.51% 26.20%	4.78% 10.26% 0.47 0.00 Asian 3.25% 10.26%	26.03% 15.24% 1.71 1.71 Hispanic or Latino 35.85% 15.24%
8036.06 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	17.49% 13.80% 1.27 0.00 3.74 Low-Income 17.39% 13.80% 1.26	53.26% 26.20% 2.03 2.03 African American 53.51% 26.20% 2.04	4.78% 10.26% 0.47 0.00 Asian 3.25% 10.26% 0.32	26.03% 15.24% 1.71 1.71 Hispanic or Latino 35.85% 15.24% 2.35
8036.06 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	17.49% 13.80% 1.27 0.00 3.74 Low-Income 17.39% 13.80% 1.26 0.00 4.39	53.26% 26.20% 2.03 2.03 African American 53.51% 26.20% 2.04 2.04	4.78% 10.26% 0.47 0.00 Asian 3.25% 10.26% 0.32	26.03% 15.24% 1.71 1.71 Hispanic or Latino 35.85% 15.24% 2.35
Tract: 8036.08	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	17.49% 13.80% 1.27 0.00 3.74 Low-Income 17.39% 13.80% 1.26 0.00 4.39 Low-Income	53.26% 26.20% 2.03 2.03 African American 53.51% 26.20% 2.04 African American	4.78% 10.26% 0.47 0.00 Asian 3.25% 10.26% 0.32 0.00	26.03% 15.24% 1.71 1.71 Hispanic or Latino 35.85% 15.24% 2.35 2.35 Hispanic or Latino
Tract: 8036.08	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	17.49% 13.80% 1.27 0.00 3.74 Low-Income 17.39% 13.80% 1.26 0.00 4.39 Low-Income 22.07%	53.26% 26.20% 2.03 African American 53.51% 26.20% 2.04 African American 57.21%	4.78% 10.26% 0.47 0.00 Asian 3.25% 10.26% 0.32 0.00 Asian 1.45%	26.03% 15.24% 1.71 1.71 Hispanic or Latino 35.85% 15.24% 2.35 2.35 Hispanic or Latino 29.99%
Tract: 8036.08	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	17.49% 13.80% 1.27 0.00 3.74 Low-Income 17.39% 13.80% 1.26 0.00 4.39 Low-Income 22.07% 13.80%	53.26% 26.20% 2.03 African American 53.51% 26.20% 2.04 African American 57.21% 26.20%	4.78% 10.26% 0.47 0.00 Asian 3.25% 10.26% 0.32 0.00 Asian 1.45% 10.26%	26.03% 15.24% 1.71 1.71 Hispanic or Latino 35.85% 15.24% 2.35 4.35 Hispanic or Latino 29.99% 15.24%
Tract: 8036.08	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	17.49% 13.80% 1.27 0.00 3.74 Low-Income 17.39% 13.80% 1.26 0.00 4.39 Low-Income 22.07%	53.26% 26.20% 2.03 African American 53.51% 26.20% 2.04 African American 57.21%	4.78% 10.26% 0.47 0.00 Asian 3.25% 10.26% 0.32 0.00 Asian 1.45%	26.03% 15.24% 1.71 1.71 Hispanic or Latino 35.85% 15.24% 2.35 2.35 Hispanic or Latino 29.99%
Tract: 8036.08	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	17.49% 13.80% 1.27 0.00 3.74 Low-Income 17.39% 13.80% 1.26 0.00 4.39 Low-Income 22.07% 13.80% 1.60	53.26% 26.20% 2.03 2.03 African American 53.51% 26.20% 2.04 African American 57.21% 26.20% 2.18	4.78% 10.26% 0.47 0.00 Asian 3.25% 10.26% 0.32 0.00 Asian 1.45% 10.26% 0.14	26.03% 15.24% 1.71 1.71 Hispanic or Latino 35.85% 15.24% 2.35 Hispanic or Latino 29.99% 15.24% 1.97
Tract: 8036.08	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Ratio of Concentration (times Regional Average) Index Score	17.49% 13.80% 1.27 0.00 3.74 Low-Income 17.39% 13.80% 1.26 0.00 4.39 Low-Income 22.07% 13.80% 1.60 3.20	53.26% 26.20% 2.03 African American 53.51% 26.20% 2.04 African American 57.21% 26.20%	4.78% 10.26% 0.47 0.00 Asian 3.25% 10.26% 0.32 0.00 Asian 1.45% 10.26%	26.03% 15.24% 1.71 1.71 Hispanic or Latino 35.85% 15.24% 2.35 Hispanic or Latino 29.99% 15.24%
Tract: 8036.08	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	17.49% 13.80% 1.27 0.00 3.74 Low-Income 17.39% 13.80% 1.26 0.00 4.39 Low-Income 22.07% 13.80% 1.60	53.26% 26.20% 2.03 2.03 African American 53.51% 26.20% 2.04 African American 57.21% 26.20% 2.18	4.78% 10.26% 0.47 0.00 Asian 3.25% 10.26% 0.32 0.00 Asian 1.45% 10.26% 0.14	26.03% 15.24% 1.71 1.71 Hispanic or Latino 35.85% 15.24% 2.35 Hispanic or Latino 29.99% 15.24% 1.97

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	22.22%	67.88%	1.16%	22.70%
8036.12	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.61	2.59	0.11	1.49
	(times Regional Average)				
	Index Score	3.22	2.59	0.00	0.00
	Total Index:	5.81			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	25.92%	36.32%	1.00%	48.15%
8037	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.88	1.39	0.10	3.16
	(times Regional Average)				
	Index Score	3.76	0.00	0.00	3.00
	Total Index:	6.76			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	22.86%	49.78%	1.85%	40.95%
8038.01	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.66	1.90	0.18	2.69
	(times Regional Average)				
	Index Score	3.31	1.90	0.00	2.69
	Total Index:	7.90			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	21.88%	58.89%	3.72%	26.89%
8038.03	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.59	2.25	0.36	1.76
	(times Regional Average)				
	Index Score	3.17	2.25	0.00	1.76
	Total Index:	7.18			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	34.11%	76.78%	1.60%	19.47%
8040.01	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.47	2.93	0.16	1.28
	(times Regional Average)				
	Index Score	4.94	2.93	0.00	0.00
	Total Index:	7.87			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	25.80%	36.24%	1.64%	56.38%
8040.02	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.87	1.38	0.16	3.70
	(times Regional Average)				
	Index Score	3.74	0.00	0.00	3.00
	Total Index:	6.74			

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	27.85%	74.00%	2.90%	19.15%
8043	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.02	2.82	0.28	1.26
	(times Regional Average)				
	Index Score	4.04	2.82	0.00	0.00
	Total Index:	6.86			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	26.12%	35.23%	6.91%	46.38%
8044	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.89	1.34	0.67	3.04
	(times Regional Average)		_		
	Index Score	3.79	0.00	0.00	3.00
	Total Index:	6.79			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	26.89%	35.37%	1.37%	50.88%
8046	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.95	1.35	0.13	3.34
	(times Regional Average)				
	Index Score	3.90	0.00	0.00	3.00
	Total Index:	6.90			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	33.73%	68.58%	0.00%	20.88%
8048.01	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.44	2.62	0.00	1.37
	(times Regional Average)				
	Index Score	4.89	2.62	0.00	0.00
	Total Index:	7.51			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	35.52%	42.58%	0.38%	53.55%
8048.02	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.57	1.63	0.04	3.51
	(times Regional Average)				
	Index Score	5.15	1.63	0.00	3.00
	Total Index:	9.77			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	28.10%	69.13%	2.37%	21.47%
8049	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.04	2.64	0.23	1.41
	Ratio of Concentration	2.0 .			
	(times Regional Average)	2.01			
	I	4.07	2.64	0.00	0.00
	(times Regional Average)		2.64	0.00	0.00

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	14.91%	53.77%	0.02%	42.12%
8050	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.08	2.05	0.00	2.76
	(times Regional Average)				
	Index Score	0.00	2.05	0.00	2.76
	Total Index:	4.82			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	34.87%	30.96%	1.04%	62.78%
8051.01	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.53	1.18	0.10	4.12
	(times Regional Average)				
	Index Score	5.05	0.00	0.00	3.00
	Total Index:	8.05			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	32.32%	41.31%	0.19%	55.39%
8052.01	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.34	1.58	0.02	3.63
	(times Regional Average)				
	Index Score	4.68	1.58	0.00	3.00
	Total Index:	9.26			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	24.67%	74.97%	0.00%	21.41%
8052.02	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.79	2.86	0.00	1.40
	(times Regional Average)				
	Index Score	3.58	2.86	0.00	0.00
	Total Index:	6.44			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	26.86%	20.13%	2.32%	70.97%
8055	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.95	0.77	0.23	4.66
	(times Regional Average)				
	Index Score	3.89	0.00	0.00	3.00
	Total Index:	6.89			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	46.14%	8.56%	0.96%	88.62%
8056.01	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	3.34	0.33	0.09	5.81
	Ratio of Concentration	0.0 .			
	(times Regional Average)	0.0 .			
		6.00	0.00	0.00	3.00
	(times Regional Average)		0.00	0.00	3.00

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	30.96%	6.28%	0.00%	88.97%
8056.02	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.24	0.24	0.00	5.84
	(times Regional Average)				
	Index Score	4.49	0.00	0.00	3.00
	Total Index:	7.49			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	32.95%	20.06%	2.54%	71.01%
8057	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.39	0.77	0.25	4.66
	(times Regional Average)				
	Index Score	4.78	0.00	0.00	3.00
	Total Index:	7.78			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	42.02%	25.16%	1.37%	69.68%
8058.02	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	3.04	0.96	0.13	4.57
	(times Regional Average)				
	Index Score	6.00	0.00	0.00	3.00
	Total Index:	9.00			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	26.31%	24.81%	6.20%	45.03%
8059.04	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.91	0.95	0.60	2.95
	(times Regional Average)				
	Index Score	3.81	0.00	0.00	2.95
	Total Index:	6.77			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	30.84%	29.86%	8.52%	51.94%
8059.06	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.23	1.14	0.83	3.41
	(times Regional Average)				
	Index Score	4.47	0.00	0.00	3.00
	Total Index:	7.47			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	24.86%	51.29%	4.05%	36.67%
8059.07	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.80	1.96	0.40	2.41
	(times Regional Average)				
	Index Score	3.60	1.96	0.00	2.41
			t and the second se		i de la companya de
	Total Index:	7.97			
	Total Index:	7.97			

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	29.41%	64.69%	10.17%	18.49%
8059.08	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.13	2.47	0.99	1.21
	(times Regional Average)				
	Index Score	4.26	2.47	0.00	0.00
	Total Index:	6.73			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	30.01%	51.11%	8.42%	21.95%
8059.09	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.17	1.95	0.82	1.44
	(times Regional Average)				
	Index Score	4.35	1.95	0.00	0.00
	Total Index:	6.30			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	33.64%	38.22%	4.05%	43.26%
8060	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.44	1.46	0.39	2.84
	(times Regional Average)				
	Index Score	4.88	0.00	0.00	2.84
	Total Index:	7.71			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	35.24%	22.59%	2.06%	60.37%
8065.01	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.55	0.86	0.20	3.96
	(times Regional Average)				
	Index Score	5.11	0.00	0.00	3.00
	Total Index:	8.11			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	34.98%	17.59%	2.30%	69.95%
8066.01	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.53	0.67	0.22	4.59
	(times Regional Average)				
	Index Score	5.07	0.00	0.00	3.00
	Total Index:	8.07			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	28.37%	47.07%	5.30%	30.43%
8066.02	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.06	1.80	0.52	2.00
	(times Regional Average)				
	Index Score	4.11	1.80	0.00	2.00
	Total Index:	7.90			

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	18.40%	46.95%	15.50%	15.73%
8067.06	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.33	1.79	1.51	1.03
	(times Regional Average)				
	Index Score	0.00	1.79	1.51	0.00
	Total Index:	3.30			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	20.77%	33.92%	12.38%	6.71%
8067.08	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.50	1.29	1.21	0.44
	(times Regional Average)				
	Index Score	3.01	0.00	0.00	0.00
	Total Index:	3.01			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	45.78%	45.03%	10.99%	32.88%
8067.13	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	3.32	1.72	1.07	2.16
	(times Regional Average)				
	Index Score	6.00	1.72	0.00	2.16
	Total Index:	9.88			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	22.04%	51.05%	1.20%	38.72%
8067.14	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.60	1.95	0.12	2.54
	(times Regional Average)				
	Index Score	3.19	1.95	0.00	2.54
	Total Index:	7.68			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	40.57%	23.24%	11.31%	13.13%
8070	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.94	0.89	1.10	0.86
	(times Regional Average)				
	Index Score	5.88	0.00	0.00	0.00
	Total Index:	5.88			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	75.97%	14.05%	13.35%	4.98%
		40.000/	26.20%	10.26%	15.24%
8072	Regional Average	13.80%		10.2070	
8072	Regional Average Ratio of Concentration	13.80%	0.54	1.30	0.33
8072					
8072	Ratio of Concentration				
8072	Ratio of Concentration (times Regional Average)	5.51	0.54	1.30	0.33

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	22.88%	29.59%	26.81%	11.71%
8073.01	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.66	1.13	2.61	0.77
	(times Regional Average)				
	Index Score	3.32	0.00	2.61	0.00
	Total Index:	5.93			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	12.52%	32.72%	19.39%	25.48%
8074.07	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	0.91	1.25	1.89	1.67
	(times Regional Average)				
	Index Score	0.00	0.00	1.89	1.67
	Total Index:	3.56			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	29.72%	39.18%	9.55%	35.42%
8074.09	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.15	1.50	0.93	2.32
	(times Regional Average)				
	Index Score	4.31	0.00	0.00	2.32
	Total Index:	6.63			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	22.04%	53.89%	9.73%	24.19%
8074.1	Regional Average	13.80%	26.20%	10.26%	15.24%
_	Ratio of Concentration	1.60	2.06	0.95	1.59
_	Ratio of Concentration (times Regional Average)	1.60			1.59
	Ratio of Concentration (times Regional Average) Index Score	1.60 3.19	2.06 2.06	0.95	
	Ratio of Concentration (times Regional Average)	1.60			1.59
	Ratio of Concentration (times Regional Average) Index Score	1.60 3.19 6.84	2.06	0.00	1.59 1.59
	Ratio of Concentration (times Regional Average) Index Score Total Index:	1.60 3.19 6.84 Low-Income	2.06 African American	0.00 Asian	1.59 1.59 Hispanic or Latino
Tract:	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	1.60 3.19 6.84 Low-Income 28.22%	2.06 African American 11.85%	0.00 Asian 3.89%	1.59 1.59 Hispanic or Latino 9.48%
	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	1.60 3.19 6.84 Low-Income 28.22% 13.80%	2.06 African American 11.85% 26.20%	0.00 Asian 3.89% 10.26%	1.59 1.59 Hispanic or Latino 9.48% 15.24%
Tract:	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	1.60 3.19 6.84 Low-Income 28.22%	2.06 African American 11.85%	0.00 Asian 3.89%	1.59 1.59 Hispanic or Latino 9.48%
Tract:	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	1.60 3.19 6.84 Low-Income 28.22% 13.80% 2.04	2.06 African American 11.85% 26.20% 0.45	0.00 Asian 3.89% 10.26% 0.38	1.59 1.59 Hispanic or Latino 9.48% 15.24% 0.62
Tract:	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	1.60 3.19 6.84 Low-Income 28.22% 13.80% 2.04	2.06 African American 11.85% 26.20%	0.00 Asian 3.89% 10.26%	1.59 1.59 Hispanic or Latino 9.48% 15.24%
Tract:	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	1.60 3.19 6.84 Low-Income 28.22% 13.80% 2.04	2.06 African American 11.85% 26.20% 0.45	0.00 Asian 3.89% 10.26% 0.38	1.59 1.59 Hispanic or Latino 9.48% 15.24% 0.62
Tract:	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	1.60 3.19 6.84 Low-Income 28.22% 13.80% 2.04 4.09	2.06 African American 11.85% 26.20% 0.45 0.00	0.00 Asian 3.89% 10.26% 0.38	1.59 1.59 Hispanic or Latino 9.48% 15.24% 0.62 0.00
Tract: 8502.01	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	1.60 3.19 6.84 Low-Income 28.22% 13.80% 2.04 4.09 Low-Income	African American 11.85% 26.20% 0.45 0.00 African American	0.00 Asian 3.89% 10.26% 0.38 0.00 Asian	1.59 1.59 Hispanic or Latino 9.48% 15.24% 0.62 0.00 Hispanic or Latino
Tract: 8502.01	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	1.60 3.19 6.84 Low-Income 28.22% 13.80% 2.04 4.09 Low-Income 33.91%	2.06 African American 11.85% 26.20% 0.45 0.00 African American 59.48%	0.00 Asian 3.89% 10.26% 0.38 0.00 Asian 2.61%	1.59 1.59 Hispanic or Latino 9.48% 15.24% 0.62 0.00 Hispanic or Latino 4.77%
Tract: 8502.01	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	1.60 3.19 6.84 Low-Income 28.22% 13.80% 2.04 4.09 Low-Income 33.91% 13.80%	2.06 African American 11.85% 26.20% 0.45 0.00 African American 59.48% 26.20%	0.00 Asian 3.89% 10.26% 0.38 0.00 Asian 2.61% 10.26%	1.59 1.59 Hispanic or Latino 9.48% 15.24% 0.62 0.00 Hispanic or Latino 4.77% 15.24%
Tract: 8502.01	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	1.60 3.19 6.84 Low-Income 28.22% 13.80% 2.04 4.09 Low-Income 33.91%	2.06 African American 11.85% 26.20% 0.45 0.00 African American 59.48%	0.00 Asian 3.89% 10.26% 0.38 0.00 Asian 2.61%	1.59 1.59 Hispanic or Latino 9.48% 15.24% 0.62 0.00 Hispanic or Latino 4.77%
Tract: 8502.01	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Ratio of Concentration (times Regional Average)	1.60 3.19 6.84 Low-Income 28.22% 13.80% 2.04 4.09 Low-Income 33.91% 13.80% 2.46	2.06 African American 11.85% 26.20% 0.45 0.00 African American 59.48% 26.20% 2.27	0.00 Asian 3.89% 10.26% 0.38 0.00 Asian 2.61% 10.26% 0.25	1.59 1.59 Hispanic or Latino 9.48% 15.24% 0.62 0.00 Hispanic or Latino 4.77% 15.24% 0.31
Tract: 8502.01	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	1.60 3.19 6.84 Low-Income 28.22% 13.80% 2.04 4.09 Low-Income 33.91% 13.80% 2.46 4.92	2.06 African American 11.85% 26.20% 0.45 0.00 African American 59.48% 26.20%	0.00 Asian 3.89% 10.26% 0.38 0.00 Asian 2.61% 10.26%	1.59 1.59 Hispanic or Latino 9.48% 15.24% 0.62 0.00 Hispanic or Latino 4.77% 15.24%
Tract: 8502.01	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Ratio of Concentration (times Regional Average)	1.60 3.19 6.84 Low-Income 28.22% 13.80% 2.04 4.09 Low-Income 33.91% 13.80% 2.46	2.06 African American 11.85% 26.20% 0.45 0.00 African American 59.48% 26.20% 2.27	0.00 Asian 3.89% 10.26% 0.38 0.00 Asian 2.61% 10.26% 0.25	1.59 1.59 Hispanic or Latino 9.48% 15.24% 0.62 0.00 Hispanic or Latino 4.77% 15.24% 0.31

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	31.30%	59.49%	0.23%	1.60%
8509.06	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.27	2.27	0.02	0.11
	(times Regional Average)				
	Index Score	4.54	2.27	0.00	0.00
	Total Index:	6.81			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	20.85%	22.89%	1.01%	2.83%
8510.01	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.51	0.87	0.10	0.19
	(times Regional Average)				
	Index Score	3.02	0.00	0.00	0.00
	Total Index:	3.02			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	32.13%	16.86%	6.38%	47.69%
9002.01	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.33	0.64	0.62	3.13
	(times Regional Average)				
	Index Score	4.66	0.00	0.00	3.00
	Total Index:	7.66			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	35.87%	44.15%	1.13%	31.85%
Tract: 9002.03	Regional Average				
	Regional Average Ratio of Concentration	35.87%	44.15%	1.13%	31.85%
	Regional Average Ratio of Concentration (times Regional Average)	35.87% 13.80% 2.60	44.15% 26.20% 1.68	1.13% 10.26% 0.11	31.85% 15.24% 2.09
	Regional Average Ratio of Concentration (times Regional Average) Index Score	35.87% 13.80% 2.60 5.20	44.15% 26.20%	1.13% 10.26%	31.85% 15.24%
	Regional Average Ratio of Concentration (times Regional Average)	35.87% 13.80% 2.60	44.15% 26.20% 1.68	1.13% 10.26% 0.11	31.85% 15.24% 2.09
	Regional Average Ratio of Concentration (times Regional Average) Index Score	35.87% 13.80% 2.60 5.20 8.97	44.15% 26.20% 1.68	1.13% 10.26% 0.11	31.85% 15.24% 2.09 2.09
9002.03	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	35.87% 13.80% 2.60 5.20 8.97 Low-Income	44.15% 26.20% 1.68 1.68	1.13% 10.26% 0.11 0.00	31.85% 15.24% 2.09 2.09 Hispanic or Latino
9002.03 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	35.87% 13.80% 2.60 5.20 8.97 Low-Income 25.99%	44.15% 26.20% 1.68 1.68 African American 26.78%	1.13% 10.26% 0.11 0.00 Asian 10.52%	31.85% 15.24% 2.09 2.09 Hispanic or Latino 25.44%
9002.03	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	35.87% 13.80% 2.60 5.20 8.97 Low-Income 25.99% 13.80%	44.15% 26.20% 1.68 1.68 African American 26.78% 26.20%	1.13% 10.26% 0.11 0.00 Asian 10.52% 10.26%	31.85% 15.24% 2.09 2.09 Hispanic or Latino 25.44% 15.24%
9002.03 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	35.87% 13.80% 2.60 5.20 8.97 Low-Income 25.99%	44.15% 26.20% 1.68 1.68 African American 26.78%	1.13% 10.26% 0.11 0.00 Asian 10.52%	31.85% 15.24% 2.09 2.09 Hispanic or Latino 25.44%
9002.03 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	35.87% 13.80% 2.60 5.20 8.97 Low-Income 25.99% 13.80% 1.88	44.15% 26.20% 1.68 1.68 African American 26.78% 26.20% 1.02	1.13% 10.26% 0.11 0.00 Asian 10.52% 10.26% 1.03	31.85% 15.24% 2.09 2.09 Hispanic or Latino 25.44% 15.24% 1.67
9002.03 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	35.87% 13.80% 2.60 5.20 8.97 Low-Income 25.99% 13.80% 1.88	44.15% 26.20% 1.68 1.68 African American 26.78% 26.20%	1.13% 10.26% 0.11 0.00 Asian 10.52% 10.26%	31.85% 15.24% 2.09 2.09 Hispanic or Latino 25.44% 15.24%
9002.03 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	35.87% 13.80% 2.60 5.20 8.97 Low-Income 25.99% 13.80% 1.88	44.15% 26.20% 1.68 1.68 African American 26.78% 26.20% 1.02	1.13% 10.26% 0.11 0.00 Asian 10.52% 10.26% 1.03	31.85% 15.24% 2.09 2.09 Hispanic or Latino 25.44% 15.24% 1.67
9002.03 Tract:	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	35.87% 13.80% 2.60 5.20 8.97 Low-Income 25.99% 13.80% 1.88 3.77 5.44	44.15% 26.20% 1.68 1.68 African American 26.78% 26.20% 1.02 0.00	1.13% 10.26% 0.11 0.00 Asian 10.52% 10.26% 1.03	31.85% 15.24% 2.09 2.09 Hispanic or Latino 25.44% 15.24% 1.67
9002.03 Tract: 9004.03	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	35.87% 13.80% 2.60 5.20 8.97 Low-Income 25.99% 13.80% 1.88 3.77 5.44 Low-Income	44.15% 26.20% 1.68 1.68 African American 26.78% 26.20% 1.02 0.00 African American	1.13% 10.26% 0.11 0.00 Asian 10.52% 10.26% 1.03	31.85% 15.24% 2.09 2.09 Hispanic or Latino 25.44% 15.24% 1.67 1.67 Hispanic or Latino
9002.03 Tract: 9004.03	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	35.87% 13.80% 2.60 5.20 8.97 Low-Income 25.99% 13.80% 1.88 3.77 5.44 Low-Income 21.94%	44.15% 26.20% 1.68 1.68 African American 26.78% 26.20% 1.02 0.00 African American 41.90%	1.13% 10.26% 0.11 0.00 Asian 10.52% 10.26% 1.03 0.00 Asian 3.98%	31.85% 15.24% 2.09 2.09 Hispanic or Latino 25.44% 15.24% 1.67 1.67 Hispanic or Latino 25.77%
9002.03 Tract: 9004.03	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	35.87% 13.80% 2.60 5.20 8.97 Low-Income 25.99% 13.80% 1.88 3.77 5.44 Low-Income 21.94% 13.80%	44.15% 26.20% 1.68 1.68 African American 26.78% 26.20% 1.02 0.00 African American 41.90% 26.20%	1.13% 10.26% 0.11 0.00 Asian 10.52% 10.26% 1.03 0.00 Asian 3.98% 10.26%	31.85% 15.24% 2.09 2.09 Hispanic or Latino 25.44% 15.24% 1.67 Hispanic or Latino 25.77% 15.24%
9002.03 Tract: 9004.03	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	35.87% 13.80% 2.60 5.20 8.97 Low-Income 25.99% 13.80% 1.88 3.77 5.44 Low-Income 21.94%	44.15% 26.20% 1.68 1.68 African American 26.78% 26.20% 1.02 0.00 African American 41.90%	1.13% 10.26% 0.11 0.00 Asian 10.52% 10.26% 1.03 0.00 Asian 3.98%	31.85% 15.24% 2.09 2.09 Hispanic or Latino 25.44% 15.24% 1.67 1.67 Hispanic or Latino 25.77%
9002.03 Tract: 9004.03	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	35.87% 13.80% 2.60 5.20 8.97 Low-Income 25.99% 13.80% 1.88 3.77 5.44 Low-Income 21.94% 13.80% 1.59	44.15% 26.20% 1.68 1.68 African American 26.78% 26.20% 1.02 0.00 African American 41.90% 26.20% 1.60	1.13% 10.26% 0.11 0.00 Asian 10.52% 10.26% 1.03 0.00 Asian 3.98% 10.26% 0.39	31.85% 15.24% 2.09 2.09 Hispanic or Latino 25.44% 15.24% 1.67 Hispanic or Latino 25.77% 15.24% 15.24% 1.69
9002.03 Tract: 9004.03	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Ratio of Concentration (times Regional Average) Index Score	35.87% 13.80% 2.60 5.20 8.97 Low-Income 25.99% 13.80% 1.88 3.77 5.44 Low-Income 21.94% 13.80% 1.59	44.15% 26.20% 1.68 1.68 African American 26.78% 26.20% 1.02 0.00 African American 41.90% 26.20%	1.13% 10.26% 0.11 0.00 Asian 10.52% 10.26% 1.03 0.00 Asian 3.98% 10.26%	31.85% 15.24% 2.09 2.09 Hispanic or Latino 25.44% 15.24% 1.67 Hispanic or Latino 25.77% 15.24%
9002.03 Tract: 9004.03	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	35.87% 13.80% 2.60 5.20 8.97 Low-Income 25.99% 13.80% 1.88 3.77 5.44 Low-Income 21.94% 13.80% 1.59	44.15% 26.20% 1.68 1.68 African American 26.78% 26.20% 1.02 0.00 African American 41.90% 26.20% 1.60	1.13% 10.26% 0.11 0.00 Asian 10.52% 10.26% 1.03 0.00 Asian 3.98% 10.26% 0.39	31.85% 15.24% 2.09 2.09 Hispanic or Latino 25.44% 15.24% 1.67 Hispanic or Latino 25.77% 15.24% 1.69

		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	28.93%	15.81%	3.13%	57.73%
9006	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.10	0.60	0.31	3.79
	(times Regional Average)				
	Index Score	4.19	0.00	0.00	3.00
	Total Index:	7.19			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	27.28%	48.05%	3.26%	19.25%
9009.01	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.98	1.83	0.32	1.26
	(times Regional Average)				
	Index Score	3.95	1.83	0.00	0.00
	Total Index:	5.79			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	22.34%	41.65%	2.11%	5.79%
9012.37	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.62	1.59	0.21	0.38
	(times Regional Average)				
	Index Score	3.24	1.59	0.00	0.00
	Total Index:	4.83			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	22.19%	17.30%	4.08%	42.76%
9014.08	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.61	0.66	0.40	2.81
	(times Regional Average)				
	Index Score	3.22	0.00	0.00	2.81
	Total Index:	6.02			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	26.24%	10.75%	11.74%	45.93%
9017.01	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.90	0.41	1.14	3.01
	(times Regional Average)				
	Index Score	3.80	0.00	0.00	3.00
	Total Index:	6.80			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	32.93%	3.38%	1.26%	51.99%
		40.000/	26.20%	10.26%	15.24%
9017.02	Regional Average	13.80%	26.20%	10.2070	
9017.02	Regional Average Ratio of Concentration	13.80%	0.13	0.12	3.41
9017.02					
9017.02	Ratio of Concentration				
9017.02	Ratio of Concentration (times Regional Average)	2.39	0.13	0.12	3.41

		1 1	1 fui a a la 1 la a a ui :-	A a i a .a	Hispania au Letine
		Low-Income	African American	Asian	Hispanic or Latino
	Tract Percent	21.47%	16.61%	8.86%	21.79%
	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.56	0.63	0.86	1.43
	(times Regional Average)				
	Index Score	3.11	0.00	0.00	0.00
	Total Index:	3.11			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	23.46%	9.70%	5.94%	35.04%
9103.02	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	1.70	0.37	0.58	2.30
	(times Regional Average)				
	Index Score	3.40	0.00	0.00	2.30
	Total Index:	5.70			
		Low-Income	African American	Asian	Hispanic or Latino
Tract:	Tract Percent	28.06%	16.41%	2.91%	56.62%
9104.01	Regional Average	13.80%	26.20%	10.26%	15.24%
	Ratio of Concentration	2.03	0.63	0.28	3.71
	(times Regional Average)				
	Index Score	4.07	0.00	0.00	3.00
	Total Index:	7.07			1